FAGOR

Spare Parts Catal
COMPLETE RANGE

I)s PROFESSIONAL SPARES

www.professionalspares.com



Cooking

Ovens

Dishwashing

Laundry

Refrigeration

All mentioned trademarks and pictures are used for
identification purposes only and are property of their respective owners.




AU,
eeje).<lVie

GAS ELECTRICAL
PARTS PARTS

WATER MECHANICAL
PARTS PARTS

ELECTRONIC

PARTS GASKETS

CONSUMABLES ACCESSORIES



Crimp terminals assortment case - TOP QUALITY - 1660 pieces

G) Cembre

RoHS

COMPLIANT

MADE 2011/65/EU
IN ITALY

code description

585630 Crimp terminals assortment case
22 sections - 1660 pieces

Content description

pic. description colour quantity
end sleeve 1mm? L[=8mm 100 PCs
end sleeve 1,5mm? L=10 mm ] 100 PCs
end sleeve 2,5mm? L=12 mm [ ] 100 PCs

end sleeve 4mm? =12 mm . 50 PCs

end sleeve 6 mm? L=12mm . 50 PCs

end sleeve 10 mm? L=12 mm L1 50 PCs

Pre-insulated faston 1,5 - 2,5 mm?  4,8x0,8 mm 80 PCs
Pre-insulated faston 1,5 -2,5 mm? 6,3x0,8 mm s 80 PCs

M/F piggy back faston 1,5 - 2,5 mm? 6,3x0,8 mm I 50 PCs

[D] butt connector 1,5 - 2,5 mm?2 I 50 PCs
butt connector 4 - 6 mm? 50 PCs
blue insulated eyelet &4 mm 1,5 - 2,5 mm? | 100 PCs
blue insulated eyelet @5 mm 1,5 - 2,5 mm? ] 50 PCs
yellow insulated eyelet @ 5 mm 1,5 - 2,5 mm? 50 PCs
Blue insulated fork d=4 mm 1,5 - 2,5 mm? [ ] 100 PCs
Blue insulated fork d=6 mm 4 - 6 mm? I 50 PCs
insulated M faston 2,8x0,8 mm 1,5 - 2,5 mm? I 100 PCs \
short M faston 6,3x0,8 mm 1 - 2,5 mm? 100 PCs T \\\
[I] short M faston cover 6,3x0,8 mm 50 PCs
F nickel-plated steel faston  6,3x0,8 mm 0,5 - 1 mm? 100 PCs
F nickel-plated steel faston 6,3x0,8 mm 1 - 2,5 mm? 100 PCs
nickel-plated steel piggyback 1 -2,5 mm? 100 PCs




Cooking

435438

—_

Fagor

337979

12024807

e

Fagor

430979

12033125

Fagor

435515

12040915

&

Fagor

435249

12024347

Fagor

405726

12010418

L

Fagor

12123410

Igniters

430980

Piezoelectric igniter INECO with water
protection

mounting hole @ 18 mm; connection & 2,4 mm;
Tmax 120°C; with rubber cover

12043857 12044573 Fagor 12040661

Piezoelectric igniter VERNITRON

mounting hole @ 22 mm; connection & 2,4 mm;
Tmax 120°C

12043897 FX40100130 S113034000

Ignition protector cover @ 21x24 mm

R042104000

Igniter unit 2-ways

0,6VA 220/240V 50/60Hz; operating
frequency 2-3Hz 230V

12123413 X163014000

Igniter unit 6-ways

0,6VA 220/240V 50/60Hz; operating
frequency 1,5-3,5Hz 230V

U963001000

Igniter 1,1W 220-240V 50/60Hz
T130°C

I)s PROFESSIONAL SPARES

Piezoelectric ring @ 18,20x28x4,40 mm

R042105000



Cooking

347049

Fagor

337983

12125807

Fagor

586471

Fagor

338110

X012101

12009060

Ty

Fagor

373432

Fagor

12008994

12018541

Plugs

Spark plug - insul. @ 6x31 mm

cable L=750 mm, with insulation L=800 mm;
connection FJ 2,4 mm

Spark plug - insul. @ 6x44 mm electrode
L=13,0x2 mm
connection M4x1 mm - L=65 mm

Spark plug - insul. @ 6,7x44,50 mm
elettrodo L=10x2 mm
faston connection @ 2,4 mm

X022131000

Spark plug - insul. @ 7x44 mm -
electrode L=16x2 mm
faston connection & 2,4 mm

12131758 X012101000

Connection M12

R345058000

I)s PROFESSIONAL SPARES




Cooking

312078

Fagor 12023555

312086

Fagor 12017372

374467

Fagor 12039113

338173
%

IIII-IIII-'-'-‘

Fagor 12024305

373999

Fagor 12024296

Ignition Cables

Ignition cable L=1000 mm
faston F2,8-F6,3 mm

612105000 U333003000

Ignition cable L=900 mm
faston F2,8-@ 2,4 mm

U262109000 U323007000

Ignition cable L=520 mm
faston @ 2,4-@3 2,4 mm

R613030000

Ignition cable L=1000 mm
faston @ 2,4-@ 2,4 mm

U323030000

Ignition cable L=900 mm
faston F3,3-9 2,4 mm

I)SPRUFESSI[INAL SPARES




Cooking
310244
Fagor 12009161
372850
Fagor 12008829
338129

e

Fagor

347473

1109121210

Fagor

373248

12125823

Fagor

374471

12014025

Fagor

11U4421340

Pilot Burners

Pilot burner 1-way Target

U962109000

Pilot head 1 flame
holes @ 3,6 mm

U912107000

Pilot burner 1-way

type multigas with nozzle @ 0,20 mm; with 2
position bracket; connection for @ 6 mm pipe

12005260

Pilot burner 2-way

type multigas with nozzle @ 0,20 mm; with 3
position bracket; connection for @ 6 mm pipe

Pilot burner 2-fire

air regulator for pilot burner @ 9 mm, with
nozzle @ 0,25 mm

U062101000

Pilot burner 2-way

type multigas with nozzle @ 0,25 mm; with 2
position bracket; connection for @ 6 mm pipe

12004905 U442134000

372919

Fagor

372671

3

0100062

By

Fagor 12001371
372904
Fagor 12009076
338311
Fagor 12009075
583483
Fagor 12008730
450145
Fagor 12008510

I)s PROFESSIONAL SPARES

Pilot burner 3-way

type multigas with nozzle @ 0,25; with 3
position bracket

12009166 12032648 U322118000

Pilot burner 3-way

type multigas with nozzle & 0,25; with 3
position bracket aand flange 90°

R202100000

Pilot burner body with nozzle @ 0,25 mm
without pipe fitting connection

X012126000

Pilot burner body with nozzle @ 0,40 mm
without pipe fitting connection

U442136000

Pilot burner body

U912112000

Air regulator for pilot burner @ 9 mm

X012122000



Cooking I)SPRUFESSIUNAL SPARES

Pilot Burners

325578 415624

Double cone for hose @ 6 mm Pilot head L=52 mm H=42 mm

H=6,2 mm
Fagor 12008476 702500000 S$312108000 X205028000 Fagor 12009152 X012117000
700403 433175

Double cone @ 6 mm Pilot burner protection @ 100x180x26

oy mm
e > ;

Fagor 12131761 Fagor 12004518 U025712000

Burner bracket 2 position

Fagor 12008618 12008619 U442130000 U442131000
347419
Burner bracket 3 positions
N
Fagor 12008620 X012113000 X012114000
311766
Screw 3/16x18 mm UNI5739
Fagor 12008458 12010238 Q012031000 X012116000
585392

I Pilot burner 2-way

g

Fagor 12224952



Cooking I)SPRUFESSIUNAL SPARES

Nozzles
Gas nozzle M10x1 CH12 338354
9 372832 @ 1,10 mm 12008800 Pilot burner nozzle @ 0,40 mm GN L=28
374465 @ 1,25 mm 12039112 mm
372841 1,35 mm 12008809
373326 @ 1,60 mm 12017204
Gas nozzle M10x1 CH13
F
9 372834 @ 1,05 mm 12008802 agor 12008938 U442137000

372839 @ 1,15 mm 12008807
372837 @ 1,40 mm 12008805 338107
372828 @ 1,45 mm 12008796 Pilot burner nozzle @ 0,30 mm GPL
372985 @ 1,50 mm 12009579
372829 @ 1,55 mm 12008797
372825 @ 1,65 mm 12008793
373979 @ 1,70 mm 12024249
372842 & 1,95 mm 12008810
372844 2,00 mm 12008812 Fagor 12131760
372846 @ 2,00 mm 12008814
372826

@ 2,10 mm 12008794 338121

373596 Pilot burner nozzle @ 0,41 mm GN

Gas nozzle M14x1 CH17 @ 2,20 mm

Fagor 12131759
Fagor 12021165 S012400000
373604
"'_&\ Gas nozzle M14x1 CH17 @ 3,65 mm
Fagor 12021203 S114401000
337986

Pilot burner nozzle @ 0,25 mm GPL L=28

-

Fagor 12021187 U442138000



Cooking

582212

e e i

“mp-‘

Fagor 12008344

347468

—
m==l=h

Fagor 12125806

517549

e B
e S
Fagor 12008058

338090

|

Fagor 12008211

338088

]

Fagor 12009768

372925

Fagor 12009182

Thermocouples
338011
Thermocouple M8x1 L=1000 mm
mounting sleeve smooth S332 - serie 200 e ——— i
q‘.‘
U262130000 Fagor 12009208
338308
Thermocouple M8x1 L=600 mm
mounting sleeve M6x1 e ——— et
“mp-‘
Fagor 12034982
312976

Thermocouple QUICK M8x1 L=600 mm
mounting sleeve smooth S332 - serie 290

U222100000 U962102000

Thermocouple QUICK M8x1 L=1500 mm
mounting sleeve smooth S332 - serie 290

U322130000 U962101000

Thermocouple M9x1 L=600 mm
mounting sleeve smooth S332 - serie 200

U222130000

Thermocouple 1=850 mm

I)s PROFESSIONAL SPARES

Thermocouple M9x1 L=1500 mm
mounting sleeve smooth S332 - serie 200

U742131000

Thermocouple QUICK M9x1 L=850 mm

mounting sleeve smooth S332 - serie 290 -
aluminum tip

FX40400110

Gas valve 820 NOVA @ 1/2"FF - 230V 50Hz

512563

Thermocouple QUICK M9x1 L=850 mm
L I mounting sleeve smooth S332 - serie 290
e 2
Fagor U562130000 X152120000 X162120000
337952F

Fagor 12008273

373053

Fagor 12009969

Interrupted thermocouple M9x1 L=1000
mm
without cable; standard tip

$042106000

Slotted fitting for thermocouple M9x1
CH9

U264301000



Cooking

338085

£ »

12125829

Fagor

429720

%%

Fagor

526807

Fagor

450218

Fagor

432889

Fagor 12003894

12132962

$312101000

Thermocouples

Interrupted thermocouple fitting M9x1 -
F9x1

Interrupeted thermocouple M9x1L=220
mm cable L=300 mm

Gas Taps

Valved gas tap PEL 22SO with safety
device

with pilot flame and horizontal flange;
connections M20x1,5 mm; thermocouple
connection M9x1 mm; D-shaft @ 10x8 mm
L=25 mm

T032101000

Valved gas tap PEL 23SV with safety
device

with pilot flame and vertical flange; inlet
M28x1,5 mm - outlet M24x1,5 mm;
thermocouple connection M10x1 mm; D-shaft
& 10x8 mm L=25 mm

Valved gas tap PEL 23SV with safety
device

with pilot flame and vertical flange; inlet
M28x1,5 mm - outlet M24x1,5 mm;
thermocouple connection M10x1 mm; D-shaft
@ 10x8 mm L=25 mm; min screw & 2,20 mm

$312115000

315522

M1 S
o bt

M AERLS

Fagor 12009463

315526

13455 |

| N

Pt

|
_\ Ve

N
Fagor 12009464
315528

amm
|

7 s
v |:;'.‘-r-
£

M4 S
M bt e

M AERLS

Fagor 12012263

I)s PROFESSIONAL SPARES

Valved gas tap CAL-3200/011.55

inlet gas M18x1,5; thermocouple fitting M8x1;
D-shaft @ 10x8 mm; min screw & 0,55 mm

U249401000

Valved gas tap CAL-3200

inlet gas M18x1,5; thermocouple fitting M8x1;
D-shaft @ 10x8 mm; min screw 0,90 mm

U249402000

Valved gas tap CAL-3200

inlet gas M18x1,5; thermocouple fitting M8x1;
D-shaft @ 10x8 mm; min screw & 1,20 mm

U222101000



Cooking

I)s PROFESSIONAL SPARES

Gas Taps

372970

Valved gas tap CAL-3200

inlet gas M18x1,5; thermocouple fitting M8x1;
D-shaft @ 10x8 mm; min screw & 1,30 mm

MBS

Fagor 12009462 U702101000

372968

Valved gas tap CAL-3200

outlet gas 3/8" hose @ 10 mm; thermocouple
fitting M8x1; D-shaft & 8x6,5 mm; min screw
21,00 mm

Fagor 12009457 U912102000
372958
t Valved gas tap CPMM 18700/821

inlet @ 7x9 mm - outlet 3/8x19 BSP;
thermocouple fitting M8x1; D-shaft @ 8x6,5
mm L=12/41 mm; minimum screw &0,50;
@0,75; @0,9; @1,15 mm

Fagor 12009411 12038506 U912101000 U912115000

433406

Valved gas tap CPMM 18700/821
thermocouple connection M8x1; D-shaft @

Fagor 11R9021020 12003724 12038522 R902102000

459590
Valved gas tap CPMM 18700/821

thermocouple connection M8x1; D-shaft &

Fagor 11U9121090 12003726 12038507 U912109000

319630

Ll Valved gas tap CPMM 18700

inlet @ 7 mm - outlet M16x1,5; thermocouple
fitting M8x1; D-shaft & 8x6,5 mm, by pass @
1,45 mm

Fagor 11U9121170 12003728 12038505 U912117000

8x6,5 mm L=12/41 mm; min screw & 0,90 mm

8x6,5 mm L=12/41 mm; min screw @ 1,15 mm

583578

Valved gas tap CPMM 18700/821

inlet @ 7x9 mm - outlet 3/8x19 BSP;
thermocouple fitting M8x1; D-shaft & 8x6,5
mm L=12/41 mm; minimum screw & 1,10 mm

Fagor 11H1221030 12038526

372937

(1

Valved gas tap CAL-20703

outlet gas M13; thermocouple fitting M8x1;
D-shaft @ 8x6,5 mm

Fagor 12009271 J012101000

372974

W Valved gas tap with safety device

MTZ-7200
capillar L=1050 mm; bulbo & 4x82 mm; D-shaft
@ 8x6,6 mm

Fagor 12009479 U742130000

373348

Valved gas tap with safety device

capillar L=1000 mm; bulb @& 6x135 mm; D-shaft
@ 8x6,5 mm L=12/33 mm; thermocouple fitting
M8x1

Fagor 12017423 R202104000 R402108000 R432102000

347467

Gas tap Sabaf [KIT]
*h inlet gas @ 16 mm; outlet gas 1/4" -
¥ f&b : thermocouple connection M8x1
0@ =

Fagor 12125808

Double cone

438389 @12 mm 12008501
410325 @ 16 mm 12008775
441493 @ 20 mm 12008828



Cooking I)SPRUFESSIUNAL SPARES

Gas Taps
373465 - Minimum screw
Double cone @ 4/2,9 mm g 430814 @ 0,7 mm 12008758
433634 @ 0,75 mm 12008834
432100 @ 0,9 mm 12008837
433626 @ 1,15 mm 12008835
425855 @ 1,20 mm 12008840
433113 @ 1,30 mm 12008839
Fagor 12018994 U265026000 433635 @ 1,45 mm 12008836
410221
Nut M24x1,5 mm for gas pipe @ 16 mm
PEL 23
Fagor 12008865 S312105000
410324
Nut M28x1,5 mm for gas pipe @ 20 mm
PEL 23
Fagor 12008921 S312103000

373346

Pipe fitting 1/8" for gas pipe @ 4 mm
L=11 mm; CH10

Fagor 12017406 U322109000

410286
Pipe fitting M10x1 for gas pipe @ 6 mm

0" PEL 21-25

Fagor 12008740 S$312107000
372677
s Flange tie tap 1/ 2
"'\ >
i}

Fagor 12002030 U912104000



Cooking

I)s PROFESSIONAL SPARES

Gas Valves and Accessories

338128
el Gas valve EUROSIT 80+320°C

connections @ 3/8"FF; thermocouple
connection M9x1 mm; work temperature
0+120°C; capillary L= 1070 mm - bulb @ 4x72
mm

Fagor 12125847
338222

Flange for EUROSIT gas valve

Gas valve EUROSIT 100+340°C

pipe fitting @ 3/8"FF; thermocouple connection
M9x1 mm; capillary L=1050 mm - bulb & 4x72
mm - with brass knob - RoHS certifications

Fagor 12023415 R152102000

552232
Gas valve EUROSIT 100+340°C

connections @ 3/8"FF; thermocouple
connection M9x1 mm; capillary L=1050 mm -
bulb @ 4x72 mm; work temperature 0+120°C;
without flow adjuster

Fagor 12009504 T98210000  T982100000

337968
: Gas valve EUROSIT 110+190°C

connections @ 3/8"FF; thermocouple
connection M9x1 mm; work temperature
0+120°C; capillary L=1050 mm - bulb & 4x202
mm in AIS| 316

Fagor 12009510 J142105000

347471

Gas valve EUROSIT 630 110+190°C [KIT]

connections & 3/8"FF; thermocouple
= connection M9x1 mm; work temperature
7 0+120°C; capillary L=1050 mm - bulb @ 4x202
// 4‘»” mm in AISI 316
12125824

Fagor

630001

Fagor

338313

Fagor

373367

Fagor

312976

Fagor
338308

e —— A

—_——

338044

338041

|

12009530

11U2643150

12017711

Gas valve MINISIT 100+340°C

connections inlet @ 1/2"F - outlet @ 3/8"F ;
thermocouple connections M9x1; nikel
capillary L=1050 mm; bulb 4x72 mm

U134316000 U134324000

Gas valve MINISIT 100+340°C [KIT]

connections inlet @ 1/2"F - outlet @ 3/8"F;
thermocouple connection M9x1; nikel capillary
L=1050 mm; bulb & 4x70 mm

12007319 U264315000

Thermostatic element 110+190°C

capillary L=960 mm; bulb @ 10,5x26 mm thread
1/4"

X012198000

Gas valve 820 NOVA @ 1/2"FF - 230V 50Hz

thermocouple connection M9x1 mm; Pmax
entrata gas 60 mBar; P-uscita 5+50 mBar

12097292

Thermocouple QUICK M9x1 L=850 mm

Electric ignition contact with cables L=880
mm

Coil EV2 220-240V 50Hz



Cookin s
9 PROFESSIONAL SPARES
Gas Valves and Accessories
338105 428097
Gas valve 820 NOVA @ 1/2"FF - 230V 50Hz Extension for gas valve L=67 mm
thermocouple connection M9x1 mm; max gas D-shaft @ 8x6,3 mm
inlet pressure 60 mBar; max outlet pressure
3+30 mBar; with step opening ignition device
Fagor 12024768 X163000000 Fagor 12041835
338041
372902
Coil EV2 220-240V 50Hz knob extension L=87 mm
‘ suitable for NOVASIT
338166
Gas valve 820 NOVA @ 1/2"FF - 220V 60Hz Fagor 12009064 X262100000
thermocouple connection M9x1 mm; max gas
inlet pressure 60 mBar; max outlet pressure
3+30 mBar; slow ignition device 3+5 mBar 427127

Fagor 12024777 X163025000

338044

Electric ignition contact with cables
L=880 mm
suitable for 820 NOVA and ELETTROSIT S2

Fagor R275027000

372996

Extension for gas valve L=41 mm
D-shaft & 8x6,3 mm

Fagor 12009774 12020879

585384

Extension for gas valve L=74 mm
D-shaft @ 8x6,3 mm

Fagor 12049349

R062101000 R062102000

Support for gas valve
dim. 200x145x130 mm

Fagor 12093409

338222
Flange for EUROSIT gas valve

Fagor 12125825

338041
Coil EV2 220-240V 50Hz
820 NOVA

Fagor 12018959 X163099000



Cooking
Gas Pipes
432111 432505
Pilot gas pipeline ftg-710 v-750q g i’
@ 5x6 mm; dim. 175x108 mm —
/-A.‘.‘\ - ‘:‘\\\.\
N
Fagor 12002638 R905016000 Fagor 12003445
373493 433222
Pilot gas pipeline @ 4 mm [__.#..\
Fagor 12019498 U565034000 Fagor 12008709
459435 459423
Pilot gas pipeline
dint. 4,5/est. 6 mm; dim. 530x225x105 mm
Fagor 12003316 S565012000 Fagor 12006656
372693 433223
Pilot gas pipeline
F’I— A }
| =)
{
Fagor 12003185 U264304000 Fagor 12003136
432584 372689
, Pilot gas pipeline
@ 4,5x6 mm el
{
: S— \ 4
) o
Fagor 12003396 S045035000 Fagor 12002939
372688 582725
Pilot gas pipeline
j @ 4,50x6 mm I/
: !‘
i
Fagor 12002785 U505042000 Fagor 12008297

I)SPRUFESSI[INAL SPARES

Pilot gas pipeline

J 4,5x6 mm; dim. 505x305 140 mm;
MG9-10BM (2008)

$025025000

Tube comp oven burn

U105002000

Pilot gas pipeline Gest. 14 mm

$025023000

Pilot burner pipe
@ 4,5x6 mm; dim. 440x240x120 mm

U105008000

6000 pilot tube

u505040000

Gas pipe

H125009000



Cooking

432114

Fagor 12008215
431014
Fagor 12009747
484257

Fagor 12008326

459434

Fagor 12038963

459422

®

Fagor 12003160

484933

Fagor 12038896

I)s PROFESSIONAL SPARES

Gas Pipes
374459
Gas pipe Ignition pipe
Jext.10 mm dim. 17,4x21,4x145/160 mm
R905028000 Fagor 12003180 12038892 X155035000 X155035000S
372748

Pilot gas pipeline @ 10 mm
dim. 200x118 mm

Pipe fitting 1/8" for gas pipe @ 6 mm
H=12 mm; CH10

R065031000 Fagor 12008018 U195009000

427683
Gas pipe 3/8" Pilot burner pipe

dim. 84x55x30 mm /\ @ 4,5x6 mm; dim. 138x138 mm

H015030000 Fagor 12044860

Gas pipe

$§565002000

Gas pilot pipe
@ 20xLtot. 195 mm

§225042000 S265012000

Pilot ignition tube @ 13,5x16x270 mm

H505708000



Cooking
372711
Burner L=400 mm
Ltot.=650 mm
Fagor 12005968 H505700000
324417
Burner

dim: 500x150x48mm

12006405

Fagor R905702000

372975

Burner 2 branches 530x200 mm
BG-705; BG-710

12009491

Fagor T035700000 T035702000

372979

Burner 2 branches 220x540 mm
BG9-05; BG9-10

Fagor 12009503

372721

Burner 6 branches 530x650 mm

Fagor 12007248 X155710000

430264
Burner 10 branches 1075x530 mm

Fagor 12007339 X285710000

T055700000 T055701000 T055703000

Gas Burners

585385

Fagor

585386

Fagor

585387

I)s PROFESSIONAL SPARES

Burner @ 100 mm 5,25 kW

12150612

Burner @ 120 mm 8 kW

12150615

Burner head @ 135 mm 10,2 kW

Fagor

372785

Fagor

372706

12150619

Burner @ 110 mm 8000 kcal/h

12008502 u025710000

Burner protection @ 118x180x18,5 mm -

%\L . 7000 kcal/H

Flame spreader @ 120 mm 9,3kW



Cooking I)SPRUFESSIUNAL SPARES

Gas Burners

372938
Burner @ 100 mm 4,6 kW

Fagor 12009292 U445730000

372761

= Flame spreader @ 100 mm

372956
Venturi for burner @ 11 mm L= 90 mm
372755
° Air regulator
372783

Burner @ 100 mm 4000 kcal/H

Fagor 12008492 U025709000

372761

T2 Flame spreader @ 100 mm

433175

s Pilot burner protection @ 100x180x26 mm

o

433709
Burner @ 100 mm 5000 kcal/h

Fagor 12008445 U915701000

372761

Sz Flame spreader @ 100 mm

Burner @ 110 mm 8000 kcal/h

Fagor 12009326 U025702000

317331

Flame spreader @ 120 mm 9,3kW

582175
Burner @ 120 mm 7000 kcal/h

Fagor 12008471 U915702000

433174
Burner @ 120 mm 10000 kcal/h

Fagor 12009325 u025711000



Cooking

I)s PROFESSIONAL SPARES

Gas Burners

372787
Burner @ 130 mm 12 kW

Fagor 12008525 12013457 U025703000 U235700000

372948

’ Flame spreader @ 130 mm 10,5 kW
372749
\ Venturi for burner @ 29,5 mm L= 160 mm
372756
° Air regulator 10.000 Kcal

317333

Burner @ 120 mm 7kW

Fagor 12007684 12040161 U265701000 U5657010008

317331

Flame spreader @ 120 mm 9,3kW

372779

E Venturi for burner @ 20 mm L= 90 mm

372962

Burner for fryer

dim. 340x60x58 mm; FG9-05, FG9-05 S,
FG9-10

Fagor 12009433 X015700000
372752
% Air regulator @int. 18x41 mm
372832
? Gas nozzle M10x1 CH12 @ 1,10 mm
373979
$ Gas nozzle M10x1 CH13 @ 1,70 mm
372706

Burner protection @ 118x180x18,5 mm -
7000 kcal/H

Fagor 12004960 U915703000



Cooking I)SPRUFESSIUNAL SPARES

Gas Burners

372761 317331

Flame spreader @ 100 mm Flame spreader @ 120 mm 9,3kW

Fagor 12008124 12039162 U445731000 U445731500 Fagor 12009109 U135702000 U135702500 U445732000
372938 317333

Burner @ 100 mm 4,6 kW Burner @ 120 mm 7kW

372956 372779
Venturi for burner @ 11 mm L= 90 mm = Venturi for burner @ 20 mm L= 90 mm
372755 372755
° Air regulator ° Air regulator
426579 372921

Flame spreader @ 100 mm 5,25kW Flame spreader @ 120 mm

Fagor 12154471 Fagor 12009172 12091667 U195701500

585385

. Burner head @ 100 mm 5,25 kW

426580
Flame spreader @ 120 mm 8kW

Fagor 12154473

585386

. Burner head @ 120 mm 8 kW



Cooking I)SPRUFESSIUNAL SPARES

Gas Burners

372948

Flame spreader @ 130 mm 10,5 kW

347388

Burner cap @ 90 mm

Fagor 12007682 12009367 12047137 50947681 Fagor 12125811
U235701500
372787
i@ Burner @ 130 mm 12 kW
372749 347099
\ Venturi for burner @ 29,5 mm L= 160 mm Burner lid @ 120 mm
372756
° Air regulator 10.000 Kcal Fagor 12125814
347377
e Burner cap @ 120 mm
426578 N

Burner cap @ 138 mm 10,2kW

Fagor 12125813

Fagor 12154475

585387
. Burner head @ 135 mm 10,2 kW
372956
Venturi for burner @ 11 mm L=90 mm
347064
Burner lid @ 90 mm

Fagor 12009400 U125720000

Fagor 12125812



Cooking I)SPRUFESSIUNAL SPARES

Gas Burners

372779 582670

Venturi for burner @ 20 mm L= 90 mm Burner @ 50x442 mm

Fagor 12008429 U565700000 Fagor 12044878 §225701000

430181
372749

Venturi for burner @ 29,5 mm L= 160 mm Air regulator @ 15x20/40x18 mm

Bush @ 17x25x7
Fagor 12008019 12008611  U235702000 U235707000 ush @ 17x25x7 mm

433232

Burner @ 40x500/550 mm

Fagor 12007927 Q301323000

373724

Bush @ 7x11x7,
Fagor 12009357  U105701000 ush & 7x11x7,8 mm

430181

Air regulator @ 15x20/40x18 mm

Fagor 12023506 7608410000
428643 433230
Bar burner @ 50x405/455 mm Bar burner support
GN 2/1 dim. 90x29x62,5 mm
Fagor 12048301 Fagor 12002672 U105635000

373079

Screw M4x7 mm - Ltot. 12,3 mm
CH6

Fagor 12010033 Q153002000



Cooking

459421

Fagor

372897

Fagor

433293

Fagor

372893

-

12008635

12009031

12008105

Fagor

347096

12009017

Fagor

372714

12125816

Fagor

12006449

I)s PROFESSIONAL SPARES

Gas Burners

Nozzle support 1/2"
Ltot.48 mm; CH27

X505724000

Nozzle support gas @ 12 mm - 3/8" - L=62
mm

U265027000

Nozzle support gas @ 10 mm

U265033000

Nozzle holder
dim. 42x52 mm

U915014000

Burner cup @ 78 mm

Basin for burner 347x395x65 mm
G900 (2008)

U025473000

433690
Basin for burner 623x320x55 mm

G700
>

Fagor 12006761 U915407000
372678
Basin for burner 405x350 mm
4000
Fagor 12002032 U025404000
372755
Air regulator
@ 40 mm - H= 55 mm
Fagor 12008071 U265702000
372756
Air regulator 10.000 Kcal
@ 46 mm - H= 55 mm
Fagor 12008073 12019997 U025706000 U235704000
430181

Air regulator @ 15x20/40x18 mm

Fagor 12008370 X505013000
372752

Air regulator @int. 18x41 mm
Fagor 12008047 U325707000



Cooking
374261
Fagor 12025094
374028
Fagor 12024356
424845
Fagor 12023927
438170
Fagor 12024804
373048
Fagor 12009956
372821
Fagor 12008785

I)s PROFESSIONAL SPARES

Switches, Push Buttons, Selectors

372822
Momentary push switch double-pole
black 22x30 mm
16(4)A 250V; faston 6,35x0,8 mm
7513022000 Fagor

Orange double-pole backlit switch 22x30
mm; 0-1
16(4)A 250V Tmax 120°C - faston 6,3x0,8 mm

Z203033000

Momentary switch @ 22 mm 1NC/1NO 3A
250V

T723009000

Push button 16A 250V - ROLD

X022109000

Button @ 23 mm

X022106000

Protecting cover for button 60x35 mm

X022137000

12008786

Protecting cover for button 22x30 mm

X022136000



Cooking

316981

N

Fagor 12023599

316575

N

Fagor 12023806 _

435511

Lo,

Fagor 12025211

584452

Fagor 12023806
340396
Fagor 12125853
317191

&

i

Fagor 12125854

Lamps and Lamp Holders

Green pilot lamp @ 10 mm 240V -
self-locking

lens @ 13,5 mm, L=60 mm - faston 6,3x0,8 mm
Tmax 120°C

X143017000

Orange pilot lamp @ 10 mm 240V -
self-locking

lens @ 13,5 mm, L=60 mm - faston 6,3x0,8 mm
Tmax 120°C

12024669_  X143018000_

Green pilot lamp @ 13 mm - 240V - L=60
mm
with nut and silicon O-ring

12036324 12047390 R693055000

Orange pilot lamp @ 13 mm 230V -
self-locking

lens @ 15 mm; L=33 mm; faston 6,3x0,8 mm;
Tmax 120°C

12024254 12024669 R693056000

Fluorescent pilot lamp @ 9 mm 240V
L=55 mm, faston 6,3x0,8 mm

Self locking lens @ 10 mm - white
lens @ 14,5 mm

I)s PROFESSIONAL SPARES




Cooking
Contactors and Relays

601891

Contactor 230V AC 50/60Hz
3kW 230V; 400V 5.5kW 3 cont. NO + 1 aux

Fagor 12111795

373883

Mini contactor B7-30-10-F
220-240V 40-450Hz; dim. 47x48x42,5 mm

Fagor 12024011 Z213007000

375736

Contactor 3RT2024-1AL20

5,5kW 3P; 230V 50-60Hz 400V cont. 3 NO
dim. 45x91x88 mm

Fagor 12024075 X183011000

352543

Relay 2 contacts 230V 50/60Hz 16A 250V
faston 6.3x0.8 mm

Fagor 12031875 EU929115

374358

Timer 1P 1CO

dim. 65x17,5x90 mm; time 1s-10s, 1min.
-10min., 1h-10h, 1d-10d

Fagor 12029000 12029617 12149171 1DI112326
DO1DI12322

I)s PROFESSIONAL SPARES




Cooking

435262

Fagor

430896

Fagor

347033

Fagor

372898

12037963

12040851

12125793

Fagor

336554

Fagor

12009033

U183046000

Microswitches

Snap action microswitch 16A 250V
T125°C
thread M10x1, H=14 mm

DO1DK13002 GMP831318 X343015000

Snap action microswitch 16A 250V
T125°C
thread M10 H=12 mm

J152102000

Snap action microswitch 2P 16A 400V
dim. 39x13 mm

Door magnet @ 32xh7 mm
M4

X960501000

Terminal Boards

374042

Terminal board 3-poles sq.mm. 6

capacity 450V 40A; Tmin-max -5/+150°C;
faston 6,3x0.8 mm

Fagor

12024382

I)SPRUFESSI[INAL SPARES

Terminal board 3 poles 10 mmq 600V
40A; Tmin-max -6/+150°C; faston 6,3x0,8 mm



Cooking
Terminal Boards

439982

Terminal board 6-poles sq.mm 6 with
bridges installed

capacity 450V 40A; Tmin-max -5/+150°C;
faston 6,3x0,8 mm

Fagor 12025183 R253044000

374276

Terminal 35 mm?
dim. 56,5x16x62,5 mm

Fagor 12025143 R673010000
373699
Terminal 10 mm?
57A 1000V
Fagor 12023373 P453025000

Pressure Switches

373946

Water pressure switch 400+300 mbar
G1/4", Pmax 1 bar

Fagor 12024188 $093000000

Timers

374364
Selector 10/16A 400/250V 125°

Fagor 12030066 12049916 DO1DL13315 DO1DL13350

I)s PROFESSIONAL SPARES




Cooking I)SPRUFESSIUNAL SPARES

Fans

531364

Compact fan 120x120x38 mm - 20W 230V

50/60Hz

no cable; faston connection 2,8x0,5 mm; 2550

rpm; ball bearing
Fagor 12023862 12031028 12033472 6021050008

Z103066000

373917

Compact fan 170x150x50 mm - 230V
50/60Hz 0,28/0,24A
cable L=290 mm

Fagor 12024106 T453005000

Electric Hot Plates

432328 347430

Electric hot plate @ 145 mm - 1500W 230V
with protector
with 8 mm spill ring

Infrared hot plate @ 200 mm - 1800W
230V
dim. 200x200x30 mm - cable L=1060 mm

Fagor 12024602 ug03002000 Fagor 12125841

347450 432270

Electric hot plate @ 180 mm - 2000W 230V
with protector
with 8 mm spill ring

Electric hot plate 300x300 mm - 3000W
230V with protector
with 11 mm spill ring

Fagor 12125797 Fagor U673011000

432330 427475

Electric hot plate @ 220 mm - 2600W 230V
with 8 mm spill ring

Electric hot plate 300x300 mm - 3000W
400V with protector
with 11 mm spill ring

Fagor 12024076 ug03000000 Fagor 12024803 uU673012000



Cooking

432335

Fagor

432320

12024806

Fagor

374186

12024802

Fagor

347037

Fagor

374123

Fagor

12024774

12125789

12024620

I)s PROFESSIONAL SPARES

Electric Hot Plates

Electric hot plate 300x300 mm - 4000W
230V with protector
with 11 mm spill ring

uU673010000

Electric hot plate 300x300 mm - 4000W
400V with protector
with 11 mm spill ring

uU673013000

Motors

Gearmotor 30W 24V 48rpm
cable L=300 mm; shaft @ 9,5x28 mm

X343020000

Heating Elements

Heating element 1300W 220V
dim. 300x190 mm; Faston 6,3 mm - SME / BM

Heating element 1500W 230V
dim. 415x90 mm; connections M4

X273000000

428930
Heating element 2500W 230V

\J dim. 585x85x50 mm; connection M4

Fagor 12110784
318823
Heating element 480W 220V
, dim. 160x160 mm
, OO0
Ooo
Fagor 12044926 6021250084



Cooking

323728
Fagor 12034811
374121

~J
Fagor 12024617
374118
Fagor 12024610
317171
Fagor 12125848
316817

Fagor 12024747

373719

Fagor 12023494

Heating Elements

Heating element 260W 230V
dim. @ 6x335, Ltot.=380 mm; connection M4

K009B43303

Heating element 2000W 230V
dim. 525x95x45 mm; connection M4

X143010000

Heating element 1000W 230V

dim. 512x120 mm; flange 77x21 mm,; faston
6,3 mm

U183401000 U803004000

Tank heating element 1600W 230V CPE
dim. 360x70xh165 mm

Boiler heating element 9000W 230V

dim. 275x78 mm; flange 105x60 mm,; faston
6,3 mm

T323038000

Boiler heating element 9000W 230V

dim. 385x80 mm; flange 105x55 mm,; faston
6,3 mm

R143000000

415187

Fagor 12125792

374159

Fagor 12024707

374157

Fagor 12024704

374183

Fagor 12024757
347440
Fagor 12125795
374127
Fagor 12024626

I)s PROFESSIONAL SPARES

Heating element 2000W 230V

dim. 255x40x195 mm; connections M13 - for
fryer

Left heating element 4000W 230V

dim. 310x60x290 mm; connections M4 - for
fryer

X323002000 X323010000

Heating element 4000W 230V
right/central

dim. 310x60x290 mm; connections M4 - for
fryer

X323001000 X323009000

Heating element 6000W 230V

dim. 370x70x300/345 mm; connection M4 - for
fryer

X183021 X183068000

Heating element 1300W 230V
dim. 465x85 mm; connections M4 - Fry-top

Heating element 2000W 230V
dim. 580x80 mm; connections M4 - Fry-top

R573010000



Cooking I)sPRl]FESSI[lNAL SPARES

Heating Elements

428932 316821

Heating element 2500W 230V o =L Heating element gasket 105x60x3 mm

dim. 595x85x50 mm; flangia 60x30 mm; for 316816/316817
\ g connection M4; G900-2014

Fagor 12114456 Fagor 12023680 T323007000
346883 374055
o Infrared heating element 650W 230V Cable for heating element 4mmq L=1400
f’:._. Sy dim. 240x60 mm:; for chip scuttle NS EE - mm
o eyelet @ 4,3 mm
- e e e e Y
<&
Fagor 12125796 Fagor 12024416 X183070000
374230 430350
Tank heating element 2000W 230V Support for heating element fe9-00
) dim. 285x97x23 mm,; flange 81,4x28 mm; B Ltot=370 mm
o connection M4 S
Fagor 12024951 R223005000 Fagor 12005743 X182633000
374133 430763
Tank heating element 2800W 230V Support for heating element
dim. 365x102 mm; flange 70x18 mm : dim. 418x110x95 mm
Fagor 12024645 27203601000 Fagor 12004900 X182634000
374163
Tank heating element 4000W 230V
dim. 348x65 mm,; flange 70x18 mm; faston
6,3x0,8 mm
Fagor 12024715 H063002000
372733

Boiler heating element gasket 105x55x5
mm

Fagor 12007832 R145012000



I)s PROFESSIONAL SPARES

Commutator 0-6 positions
16A 250V; D-shaft & 6x4,6 mm

u673007000

Commutator 0-6 positions
16A 250V; D-shaft @ 6x4,6 mm; Tmax 150°C

Cooking
Commutators, Energy Regulators
432293 374053
A Commutator 0-1 positions
Al "‘b 16A 250V; D-shaft @ 6x4,6 mm
800,
.-q"f%wﬁ
Fagor 12125782 Fagor 12024405
700402 429073
Commutator 0-1 positions IL -
16A 250V; Tmax 150°C; D shaft @ 6X4,6 mm - ﬂ"ﬂ

Fagor 12024459 12125263 X163007000 Fagor

374263 315974
Commutator 0-2 positions
16A 250V; D-shaft & 6x4,6 mm; 0-1-2 e

Fagor 12024465 12025105

T343008000 Z213003000 Fagor
317169 533018

Commutator 0-3 positions / =

16A 250V; D-shaft @ 6x4,6 mm L=23 mm - =
Fagor 12125845 Fagor 12125843
373833

Commutator 0-4 positions
16A 250V; D-shaft @ 6x4,6 mm

Fagor 12023800 R693004000
373865
Commutator 0-4 positions
16A 250V; D-shaft @ 6x4,6 mm
Fagor 12023918 U673006000

12125798

12125844

Energy regulator double circuit 13A 230V
50Hz
D-shaft @ 6x4,6 mm; Tmax 125°C

Energy regulator 13A 230V
D-shaft @ 6x4,6 mm; Tmax 125°C

$333001000



Cooking

I)SPRUFESSI[INAL SPARES

Transformers

429541

Transformer 230V 50/60Hz
input 100-240V 2.1A; output 24V 4.5A

Fagor 12152982
Cables

601833

Power supply cable L=1000 mm

&

Fagor 12024579 U803010000
373968

Cable holder
Fagor 12024230 Z203020000

Thermostats

374107 374142

Operating thermostat 1P 32+90°C
coated capillary L=700 mm; bulb & 6x130 mm

Fagor 12024573 12040858 7203014000
429725
. Operating thermostat 1P 60+200°C
— ik s . . .
o capillare rivestito L=1500 mm; bulb & 200 mm;
_— D-shaft @ 6x4,6 mm; premistoppa M9x1
Fagor 12121416 12268937

Operating thermostat 1P 60+215°C

coated capillary L=2300 mm; bulb & 6x80 mm;
D-shaft 6x4,6 mm

Fagor 12024662 X033000000

311925

Operating thermostat 1P 60+215°C

coated capillary L=850 mm; bulb @ 3x200 mm;
D-shaft @ 6x4,6 mm; 16A 250V

Fagor 12024623 X163010000



Cooking I)SPRUFESSIONAL SPARES

Thermostats

374099 347469

Operating thermostat 1P 50-310°C - 16A Safety thermostat 3P 245°C

400v : capillary L=850 mm, bulb @ 6x90 mm, 10A

bulb @ 3x165 mm, axe & 6x4,6 mm ;

400V
L e -_—

Fagor 12024549 X153000000 Fagor 12125826
432129 429021

Operating thermostat 3P 100+185°C

coated capillary L=2600 mm; bulb & 4x236
mm; D-shaft @ 6x4,6 mm

Safety thermostat 1P 245°C

capillary L=1400 mm; bulb @ 6x54 mm; with
manual reset; 20A 250V

Fagor 12125791 Fagor 12024600 12029866 12044749
427998 429023
" Safety thermostat 1P 60°C Safety thermostat 1P 365°C
/ % ) coated capillary L=850 mm; bulb @ 6,20x80 pi capillary L=900 mm; bulb @ 3x160 mm
o mm; 16A 400V i
e
Fagor 12130561 12161299 Fagor 12133077 T303009000
373844 374152
Safety thermostat 1P 125°C Safety thermostat 1P 400°C
' coated capillary L=870 mm; bulb & 6,5x68 mm 4 coated capillary L=1100 mm; bulb & 4x230mm
Fagor 12023830 27213014000 Fagor 12024691 R612103000
583893 429731
. Safety thermostat 1P 230°C Safety thermostat 1P 400°C
capillary L=910 mm, bulb @ 11x19 mm coated capillary L=1150 mm; bulbo & 3x140
mm
Fagor 12030561 K001B31270 Fagor 12139109
311927 374354

Safety thermostat 1P 245°C o Safety thermostat 3P 190°C

@'ﬂ“‘ y capillare ricoperto L=850 mm; bulb & 3x200 coated capillary L=3000 mm; bulb & 4x125 mm
2 @ - mm; with manual reset; 16A 250V
\-‘_\_.

Fagor 12024607 12048400 X163001000 X163040000 Fagor 12029156 FX40100041



Cooking I)sPRl]FESSI[lNAL SPARES

Thermostats
347034 372675
Safety thermostat 3P 293°C Thermostat support
A coated capillary L=1800 mm; bulb & 4x120 mm - ’ dim. 19,5x38x30 mm
\,,Aﬁfﬁﬁfpf (s
Fagor 12125780 Fagor 12001816 X313001000
700402
373558
Connection for bulb FE M14x1 FI M9x1 . Commutator 0-1 positions
Fagor 12020538 X166113000
374172
Thermostat bulb holder @ 7,4xH6,6 mm
Fagor 12024729 R662662000
422528
Thermostat fastening clamp 42x15,40
2 mm
P N
: E_J/
Fagor 12025294 7982018000
372674
Clamp for thermostat
= -y

Fagor 12001766 12035151 X033011000



Cooking

372950

Fagor

347733

Fagor

450320

Fagor

435409

12009374

12009120

12125784

Fagor

373831

10703

Fagor

12023794

Mixers and Accessories

Water delivery spout 1/2" M
L=100 mm; H=125 mm

$052100000

Black knob for cold water tap, blue
symbol
for shaft 7x7 mm

§102109000

Water delivery spout @ 22 mm - L=200
mm

Solenoid Valves and Reducers

200118

Solenoid valve 180° - 1 way - 220/240V
50/60Hz - @ 10,5 mm

with fastons; inlet @ 3/4" with filter; Tmax
90°C

12025161 2701135000 Fagor 12024083

427335

Solenoid valve 180° - 2 way - 200-240V
50/60Hz - @ 10,5 mm

with fastons; inlet @ 3/4" with filter and
reducer 14 It/min; Tmax 90°C

12147323 P255001000 Fagor 12024045

I)s PROFESSIONAL SPARES

Outlet pressure reducer 2,5 It/min
[brown-Inv]

12097038 P443042000

Outlet pressure reducer 8 It/min [red]

12096626 27601156000



Cooking
Solenoid Valves and Reducers

583813

Solenoid valve 180° - 3 way - 220/240V
50/60Hz - @ 10,5 mm

with fastons; inlet @ 3/4" with filter; Tmax
90°C

Fagor 12023921 _ 12115418_  P443018000_ P443073000_
Z611123000_

Drain Taps

310019

Drain tap 2" TECNO - O-ring seal - plastic
cover
rotating female connector

Fagor 12008914 $102125000

375573

Drain tap 2"F - TECNO - O-ring seal
rotating female connector

Fagor S112150000

347073
Drain tap 3/4" - Shaft H=12 mm

Fagor 12125788
450320
\ Water delivery spout @ 22 mm - L=200 mm
%

.

347445

Handle @ 16x25,5 mm
M6; for drain tap

Fagor 12125802

I)s PROFESSIONAL SPARES




Cooking I)SPRUFESSIUNAL SPARES

Ball valves, Pipe fittings

519249 373727

Nipple 1/2"+1/2" - L=27 mm - brass Y-connection @ 12-12-12 mm L=75 mm
Fagor 12008907 S205023000 Fagor 12023511
433269 372939

Nipple 3/8" - 1/2" - L=29 mm - brass Water load tap @ 1/2"M

Brass body L=54 mm Htot=92,5 mm, squared
handle housing 7x7 mm

Fagor 12008887 U202103000 Fagor 12009294 $102111000

372742 372909

Nipple 3/8"-3/8" - L=29 mm - brass Chrome cover @ext 62 mm

Fagor 12007935 R155068000 Fagor 12009132 $012102000

582314 372959

Pipe fitting 90° 1/2"M Water level tap G 1/2"M

Fagor 12009102 Fagor 12009417 S$102124000
372875 347361

Level viewer adapter 90° 3/8" - brass Water tap 1/2" FF [KIT]

hole @ 13,5 mm Ltot=90 mm

Boss

Fagor 12008966 S042101000 Fagor 12125834
410244 610859

Y-connection @ 10-10-10 mm - brass e Gas ball valve1"FF - PN20 - L=83 mm -

DIN-DVGW
- aluminium leverage
g R
BEN-

Fagor 7103077000 Z201106000 Fagor 12009231 X036107000



Cooking
Hoses

582315
Drain pipe 1/2"
dim. 625x180x80 mm

Fagor 12009278 H405004000

612360
Hose EPDM @ 10x17 mm (sold by meter)
Pmax 10 bar; working temp. -35°C+110°C;
non-toxic

Fagor 11000083 367690000 3676900000 S102121000

7631121000

346280
Hose EPDM @ 10x17 mm - blue -(sold by
meter)
Pmax 10 bar; working temp. -35°C+110°C;
FDA approved

Fagor 11000083_  3676900000_ S102121000_ Z271101000_

581895

E:: Silicone hose @ 31x38 mm

Fagor 11000006 3714100000

524324

_ Rubber feeder hose 3/4" L=1500 mm

@ straight connection + 90° plastic connection;
g ring nut in nickel-plated brass @ 3/4"F; pipe @

_- '_‘;F 13x19 mm; Pmax 10 bar; Tmax 90°C;

WRC/WRAS/VDE approved

Fagor 12024115 2602121000
370723

Drain pipe PPE @ 19 mm 180°+ @ 22 mm
“ 90° L=2000 mm

muffs 180° & int/ext 19/24 mm, muffs 90°
mm_ Qint/ext 22/27 mm, Gext hose 24 mm

Fagor 12023666 7220903000

I)s PROFESSIONAL SPARES




Cooking I)SPRUFESSIUNAL SPARES

Drain components

373028
. Drain plate 1/2" - H=37 mm
- @int 16 mm
Fagor 12009898 H216109000
582312
Inlet hose
Fagor 12008529 H405012000

372751
Overflow pipe @ 16x172 mm

Fagor 12008044 H216111000
372747
: Hexagonal nut 1/2" - H=13,5 mm
Fagor 12008004 H216110000
Filters
441269 372676
Water filter 3/4" - L=68 mm Drain filter @ 33 mm

Bronzekdrper und

Fagor 12024093 Fagor 12001990 H506111000



Cooking

372777

Fagor

12008327

372929

Fagor

12009225

450125

Fagor

12041846

459645

Fagor 12041845

433703
‘.’?\

Fagor 12002674

Level Gauges

Water gauge in glass L=138 mm
@ 8,6x13 mm - with blue and red vertical line

S042102000
Hinges
372772
Oven hinge - left / right
mounting distance H=173 mm - lever lenght .t
L=119 mm - spring thickness @ 3,5 mm s \
: s
U020528000 Fagor 12008244

Wheel support

dim.118x17 mm - mounting distance 94 mm;
hole M6

U010512000

Wheel support

Oven hinge guide
dim. 134x52x36,5 mm; G700

U915604000

I)s PROFESSIONAL SPARES

Hinge guide cover
dim. 120x19x5 mm; G700

U915619000



Cooking

Manometers, Safety Valves

347820

Manometer @ 50 mm 0+1 bar
connection G1/4"; indication red at 0.5 bar

Fagor 12009399 9220815000

348090

&0

Manometer holder @ 1/2"M (left) x 3/8"FF

Bearings
372774
Ball bearing @ 20x40x14 mm
Fagor 12008262 X156125000
372930
Bearing support
/“a‘ ' dim. 60x85x30 mm
Fagor 12009226 X156114000
Handwheels
430681 583354
_ Shaft support
o dim. 50x74x18 mm
L5 ey ‘:—"
Fagor 12002488 X152619000 Fagor
372811 430272

Shaft @ 14x10 mm
dim. 40x40x35 mm

Fagor 12008720 X156113000

12019420

Fagor

12008845

I)s PROFESSIONAL SPARES

Shaft for handwell @ 18xLtot. 165 mm

X156116000

Shaft for handwell @ 18xLtot. 280 mm

X156161000



Cooking I)SPRUFESSIONAL SPARES

Handwheels

372986

Handwheel @ 200 mm

central hole @ 20 mm; with folding handle with
bushing and stud in INOX AISI 303; grub

screw M8

Fagor 12009585 X156139000
Lockings

583466

Magnetic closing 20x58x9 mm
Fagor 12035257 DO1FB03075

Knobs

426253 372738

Knob @ 39 mm Knob @ 70 mm

D-hole & 6x4,5 mm D-shaft @ 8x6 mm
Fagor 12114276 Fagor 12007906 H122101000
485834 461682

Knob @ 60 mm Black knob @ 70 mm

- @ 6x4,6 mm D-hole @ 8x6,5 mm

Fagor 12168060 Fagor 12125861
461663 585388

Black knob @ 69,5 mm 0-6 Knob @ 60 mm
D-shaft @ 8x6 mm

Fagor 12125856 Fagor 12122157 12168046



Cooking I)SPRUFESSIUNAL SPARES

Knobs

315529 372864

Knob @ 70 mm Knob @ 72 mm

D-shaft @ 10x8 mm . . D-hole @ 8x6 mm
Fagor 12008927 12021175 U542101000 U542131000 Fagor 12008918 U912105000
430840 372852

Knob @ 72 mm Knob @ 72 mm

D-shaft @ 8x6 mm . . J 6x4,6 mm
Fagor 12008968 J102102000 Fagor 12008842 H212103000
372858 372885

Knob @ 72 mm Knob @ 75 mm

D-shaft @ 6x4,6 mm D-hole 6x4,6 mm
Fagor 12008875 X603002000 Fagor 12009006 X022102000
372876 372890

Knob @ 72 mm Knob @ 75 mm

. . @ 10x8 mm D-shaft @ 6x4,6 mm

Fagor 12008971 S$532101000 Fagor 12009013 S$162102000
372753 372884

Black knob @ 72 mm 1-6

Fagor 12008048 U952101000

372867

Knob @ 72 mm
D-@ 8x6 mm

Fagor 12008928 U842102000

Knob @ 75 mm
D-shaft @ 8x6 mm

Fagor 12009005 U022117000
430232
Knob @ 72 mm
@ 6x4,6 mm
Fagor 12008052 X462101000



Cooking

372734

Fagor 12007854

372889

Fagor 12009011

373547

Fagor 12020425

372883

Fagor 12009001
432766

l“:’u. .
Fagor 12009002
583018

Fagor 12036368

Knob gas @ 75 mm
D-shaft @ 8x6 mm

R042102000

Knob @ 75 mm
D-shaft @ 6x4,6 mm

X022133000

Knob @ 75 mm

U022105000

Knob @ 75 mm
D-shaft @ 10x8 mm

$102103000

Knob @ 75 mm
D-hole 6x4,6 mm

50948378 S$142105000

Potentiometer knob @ 23xh15 mm

K005B50071

I)s PROFESSIONAL SPARES

Knobs

428121
Serigraphed plate 86x102 mm
FTE 900 2016
Fagor 12127232
426893
Embellecedor mango sbg 900
Fagor 12127613
426884
Serigraphed plate 86x102 mm
Fagor 12127611
318409
Knob @ 69,5 mm
D-shaft @ 8x6 mm
Fagor 12125859



Cooking
373748
Fagor 12023573
373749
Fagor 12023574
373750
Fagor 12023575
348372

A

Fagor

439637

A

12009434

Fagor

12009531

Boilers
High water level sensor @ 4x106 mm
R345060000
Low level electrode @ 4x120 mm
R345063000
Earth electrode @ 4x131 mm
R345064000
Safety groups
348090
Vacuum valve 3/4"M
chromium-plated brass - H=80 mm
S022103000 Fagor
347820

Vacuum valve with sping 3/4" M - 0,5 bar
PN16; for security group 3/4"- ISPESL

432483

$022101000

Fagor

I)s PROFESSIONAL SPARES

Manometer holder @ 1/2"M (left) x 3/8"FF

with connection for vacuum valve

$§332100000

Manometer @ 50 mm 0+1 bar

Pressure chamber safety valve 3/4"
connection : 2x3/4" gas, 1x 3/8" gas

$022100000



Cooking
Springs

372896

Compression springs @ 44x125 mm

wire @ 5,5 mm
Fagor 12009030 S116121000
374045

Torsion spring left
Fagor 12024390 Z271203000
374046

Torsion spring right
Fagor 12024391 7271204000

Transmission components

372972
\ Worm screw @ 26xLtot.=621 mm
Fagor 12009467 12010784 12017767 12046631

X146138000 X156154000

372759

e

Coupling @ 18x30x45 mm

l‘ T holes @ 8 mm

Fagor 12008106 X156115000

I)s PROFESSIONAL SPARES




Cooking

372888

——

Fagor 12009010

582575

Fagor 12038138

430418

Fagor 12002743
430692

X - > ; ..__'_..f - .
Fagor 12014123
372727
Fagor 12007683
432168

Fagor 12008271

I)s PROFESSIONAL SPARES

Structural components

Fagor shield

U022836000

Side plate
dim. 108x94x2 mm

Fumes brake

X152654000

Support vat ***

X150146000

Grill 420x100 mm

R205425000

Pipe coating @ 17/22x23,5x60 mm

R982606000

430663

Smoke out chimney

Fagor 12004335 X152683000

433321

Lower front panel
dim. 690x200 mm

Fagor 12005674 U502835000



Cooking

433616

Fagor

341759

1100003414

O

Fagor

374102

-
g

Fagor

422090

Fagor

433031

)

Fagor

12020819

12024557

12023881

12037118

Door gasket 695x480 mm

Doors

12038310 12038817 U910501000

Handgrip M12 @ 28x86 mm

T055440000

Handle Ivs.

7400542000

Door handle L=560 mm

2720504000

Blue handle support
dim. 52x34x48 mm; hole @ 25 mm

6003010094

Handles

I)s PROFESSIONAL SPARES




Cooking I)SPRUFESSIONAL SPARES

Printed Circuit Boards

582689

Pcb
dim. 100x100 mm

Fagor 12026989
Probes

373957

Level regulator 230/400V 50/60Hz

i ﬂ,.;s dim. 75x37x67 mm
Fagor 12024209 R343072000
Inverter and motor controls

430620

Rectifier KBPC3510

dim. 28,2x28,2 mm; faston 6,3 mm
Fagor 12024503 X343022000

Gaskets for heated units

430824 582451

Oven door gasket 320x480 mm

(\

Fagor 12009134 J025610000

427849
J

Fagor 12110701

unta horno op gn2-1 + clip

Oven door gasket L=1650 mm

Fagor 12009402 12009413 U875632000 U95561500
372769

Oven door gasket 530x300 mm
Fagor 12008213 U025623000



Cooking I)SPRUFESSIONAL SPARES

Gaskets for heated units

372933
Window seals gasket L=1200 mm

Fagor 12009239 U965613000
O-rings
422223
0O-ring 2,62x20,29 mm EPDM
Fagor 12010282 Q307041000
536174
: 0O-ring 2,62x12,37 mm in silicone
Fagor 12010108 Q307069000
373334
o O-ring 3,00x14,00 mm VITON
Fagor 12017304 X012127000
Flat gaskets
484324 373089

: Flat gasket @ 16,4x24x3 mm FIBER Flat gasket @ 17x24x1,5 mm FIBER

Fagor 12009964 Q306066000 Fagor 12010057 Q306058000



Cooking
373162
Fagor 12010203
373062

Fagor

373051

12009990

Fagor

373505

Fagor

427830

12009961

12019584

Fagor

373154

Fagor

12130056

12010191

I)s PROFESSIONAL SPARES

Flat gaskets
484335
Flat gasket @ 21x30x1,6 mm - Fibra Gasket @ 7,5x11,5x3 mm
Q306038000 Fagor 12010025 Q307034000
373045
Flat gasket @ 24,8x29x1,5 mm FIBER Flat gasket @ 21x32x3 mm - EPDM
Q306064000 Fagor 12009947 Q307032000

Flat gasket @ 26,7x34x1,6 mm FIBRA

Q306063000

Flat gasket @ 27x31x1 mm

Q306049000

Flat gasket @ 10,3x14x3 mm

Flat gasket @ 14x24,4x3 mm

Q307031000



Cooking

583052

Fagor

427847

12033937

Fagor

435488

12103553

Fagor

372960

Fagor

428302

12008581

12009419

Fagor

12048890

Gasket L=1385 mm

K005B50015

Oven gasket with clips L=2000 mm

GN2-1

Lava rock for grill [5 kg. package]

density 2000 Kg/m3

12125877 T056502000

I)SPRUFESSI[INAL SPARES

Miscellaneous

Miscellaneous

Grids and Shelves

Pan support grid (1 burner)
dim. 346x308x53 mm

U915413000

Pan support grid (1 burner)
dim. 345x395x65 mm; G900 (2014)

12155580

372952
Pan support grid (1 burner)
dim. 343x420x50 mm; 900 (2008)
Fagor 12007691 12009385 12016229 u025411000
U565403000
346872

Pan support grid (2 burners)
dim. 520x315 mm

Fagor 12125815



Cooking PSPRDFESSIONAL SPARES

582895
Cast iron plate @ 260 mm

Fagor 12009347 U195420000

372683
Lava rock grate 485x275x40 mm

Fagor 12002411 H122605000
373932
Foot M10x40 mm
@ 30xh10 mm
Fagor 12024163 12111542 DO1BC03036 Z200107000
422017
Foot M10x36 mm
@ 31 mm - H=10 mm
Fagor 12016906 Z200105000
372905
Adjustable INOX foot @ 64 mm -
H=130+200 mm
flange 82x82x2 mm; centre distance 65x65
mm

Fagor 12009104 12033566 6007050017 X260151000




Cooking I)s PROFESSIONAL SPARES

Cooking plates

433756
e 5 Smooth plate 695x615x40 mm
& \\ radiant smooth disc @ 260 mm
LY,
Fagor 12007681 12007695 U195421000 U945404000
Cooking Baskets
372924 347390
Bottom grill 390x340 mm Fryer basket - 210x265xh105 mm
o for fryer 7
>
' 5
Fagor 12009175 X166522000 Fagor 12125838
372978 372804
Pasta cooker basket - dim. 230x180xh265 [N Fryer basket - 255x280xh125 mm

mm P : handle L=210 mm; G700
with 2 handles >

ganii

Fagor 12009502 H526500000 Fagor 12008702 X316503000 X316531000
372946 372957
Fryer basket - 140x250xh120 mm Fryer basket - 333x310x135 mm
handle L = 200 mm; G700 \i : handle L=190 mm
Fagor 12009361 X316532000 Fagor 12009408 X166526000
372949
c‘\ Fryer basket - 160x308xh130 mm

P handle L = 190 mm; G900

Fagor 12009368 X066585000 X166525000



AWLIUR,
€)=\t

GAS ELECTRICAL
PARTS PARTS

WATER MECHANICAL
PARTS PARTS

ELECTRONIC

PARTS GASKETS




Crimp terminals assortment case - TOP QUALITY - 1660 pieces

G) Cembre

RoHS

COMPLIANT

MADE 2011/65/EU
IN ITALY

code description

585630 Crimp terminals assortment case
22 sections - 1660 pieces

Content description

pic. description colour quantity
end sleeve 1mm? L[=8mm 100 PCs
end sleeve 1,5mm? L=10 mm ] 100 PCs
end sleeve 2,5mm? L=12 mm [ ] 100 PCs

end sleeve 4mm? =12 mm . 50 PCs

end sleeve 6 mm? L=12mm . 50 PCs

end sleeve 10 mm? L=12 mm L1 50 PCs

Pre-insulated faston 1,5 - 2,5 mm?  4,8x0,8 mm 80 PCs
Pre-insulated faston 1,5 -2,5 mm? 6,3x0,8 mm s 80 PCs

M/F piggy back faston 1,5 - 2,5 mm? 6,3x0,8 mm I 50 PCs

[D] butt connector 1,5 - 2,5 mm?2 I 50 PCs
butt connector 4 - 6 mm? 50 PCs
blue insulated eyelet &4 mm 1,5 - 2,5 mm? | 100 PCs
blue insulated eyelet @5 mm 1,5 - 2,5 mm? ] 50 PCs
yellow insulated eyelet @ 5 mm 1,5 - 2,5 mm? 50 PCs
Blue insulated fork d=4 mm 1,5 - 2,5 mm? [ ] 100 PCs
Blue insulated fork d=6 mm 4 - 6 mm? I 50 PCs
insulated M faston 2,8x0,8 mm 1,5 - 2,5 mm? I 100 PCs \
short M faston 6,3x0,8 mm 1 - 2,5 mm? 100 PCs T \\\
[I] short M faston cover 6,3x0,8 mm 50 PCs
F nickel-plated steel faston  6,3x0,8 mm 0,5 - 1 mm? 100 PCs
F nickel-plated steel faston 6,3x0,8 mm 1 - 2,5 mm? 100 PCs
nickel-plated steel piggyback 1 -2,5 mm? 100 PCs




Ovens
425002
1
A /
Fagor 12039684
583532
1
i /
Fagor 12039447
586471
Fagor 12009060
424372
_‘_\\H
. S
Fagor 12039586
583530
&® =«
Fagor 12039448
374166

Fagor 12024719

Plugs
373861
Spark plug - insul. @ 9,4x54 /| @ 9,4x100
mm \
cable L=255 mm; faston F2,8 mm R
.-
) SN
T955754000 Fagor 12023896
374285
Ignition electrode flange - insul. @ 9,4x54
1 2 9,4x100 mm
electrode @ 3 mm; cable L=265 mm; faston
F2,8 mm
T645745000 Fagor 12025155
374290
Spark plug - insul. @ 6,7x44,50 mm
elettrodo L=10x2 mm
faston connection @ 2,4 mm
X022131000 Fagor 12025163
424286
Spark plug - insul. @ 9,3x54,5 mm -
electrode L25x3 mm !
connection M4 .
i
Y
L
T855753000 Fagor 12039685
374170
Spark plug - insul. @ 9,4x98,5 mm -
electrode 79x9 mm _
connection M4 _'___d__,.«----‘f'.*—- -
‘-f""
T645746000 Fagor 12024726
373867

Spark plug - insul. @ 9,4x136 mm -
electrode L=38x16x3,5 mm
connection & 6,35x10,5; Ltot=185 mm =y

T115781000 Fagor 12023920

I)sPRUFESSI[lNAL SPARES

Spark plug - insul. @ 5+9,5x24 mm
electrode @ 3x54 mm

flange 24x17 mm, connection M4, Ltot. 109,5

mm

T135705000

Spark plug - insul. @ 7,2x35,40 mm
flange 66,10x12,10 mm

27955802000

Spark plug - insul. @ 7,5x35 mm
flange 23x15 mm

7955803000

Spark plug - insul. @ 9x98 mm electrode

L=16,5x79x3 mm
connection M4

T955755000

Spark plug - insul. @ 9,4x134 mm

T135706000

Control spark plug - insul. @ 9,5+5 mm

electrode L=54x9x3 mm
connection M4 - L=109 mm

T115712000



Oven

373415

Fagor

373432

Fagor

583533

S

12018410

12018541

D

Fagor 12039449
583531
Fagor 12039450
312078
|
e - )
Fagor 12023555

Plugs

Insulator for electrode @ 4x8x49 mm

R345059000

Connection M12

R345058000

Gasket
dim. 30x18x1,4 mm

T645747000

Gasket
dim. 24,5x17,5x1,3 mm

T645748000

Ignition cable L=1000 mm
faston F2,8-F6,3 mm

612105000 U333003000

Ignition Cables

338173

N

J

Fagor

12024305

I)s PROFESSIONAL SPARES

Ignition cable L=1000 mm
faston @ 2,4-@ 2,4 mm

U323030000



Ovens I)s PROFESSIONAL SPARES

Pilot Burners

372919

Pilot burner 3-way

type multigas with nozzle @ 0,25; with 3
position bracket

Fagor 0100062 12009166 12032648 U322118000

325578

Double cone for hose @ 6 mm

@ H=6,2 mm

Fagor 12008476 702500000 S312108000 X205028000
311766
Screw 3/16x18 mm UNI5739
Fagor 12008458 12010238 Q012031000 X012116000
Nozzles
Gas nozzle M10x1 CH13
ﬁ 372834 @ 1,05 mm 12008802
372839 @ 1,15 mm 12008807
372837 @ 1,40 mm 12008805
372828 @ 1,45 mm 12008796
372985 @ 1,50 mm 12009579
372829 @ 1,55 mm 12008797
372825 @ 1,65 mm 12008793
373979 @ 1,70 mm 12024249
372842 & 1,95 mm 12008810
372844 & 2,00 mm 12008812
372846 & 2,00 mm 12008814
372826 2,10 mm 12008794
338354

Pilot burner nozzle @ 0,40 mm GN L=28

-

Fagor 12008938 U442137000



Ovens I)s PROFESSIONAL SPARES

Thermocouples

512563

Thermocouple QUICK M9x1 L=850 mm
e S~ mounting sleeve smooth S332 - serie 290
. T
Fagor U562130000 X152120000 X162120000
429746

Thermocouple steam set (k) 24-061
Fagor 12041634
374131

Temperature probe Tc K (NiCr-Ni)

bulb @ 3x70 mm; cable MFA L=600 mm

— e
Fagor 12024642 T323011000
373406

Thermocouple L=1400 mm HME/P

—= bulb @ 3x70 mm

e,
Fagor 12018312 R663089000
373975

Flange for thermocouple 35x12x4 mm

Fagor 12024243 T133036000

373974

Flange for thermocouple 35x12x4 mm

Fagor 12024241 T133037000



Ovens I)s PROFESSIONAL SPARES

Gas Valves and Accessories

338207

Gas valve 810 ELETTROSIT @ 3/4"FF - 230V
50Hz

thermocouple connection M9x1 mm; max gas
inlet pressure 50 mbar; outlet pressure 3+18
mBar - side pilot and thermocouple
connections

Fagor R275003000

630001

Gas valve MINISIT 100+340°C

connections inlet @ 1/2"F - outlet & 3/8"F ;
thermocouple connections M9x1; nikel
capillary L=1050 mm; bulb 4x72 mm

Fagor 12009530 U134316000 U134324000

430003

Gas valve 848 SIGMA 230V 50Hz

inlet-outlet fittings @ 3/4"M; Pmax IN 60 mbar;
pressure range regul. 0,5+12 mbar

Fagor 12046364

310683

Gas valve 830 TANDEM @ 1/2"FF - 230V
50Hz

max gas inlet pressure 60 mBar; max outlet
pressure 3+50 mBar; working temperature
0+60°C

Fagor 12023419 7952201000

424717

Complete air/gas mixer

Fagor 12039540 T843052000



Ovens
433222
r__-\ Tube comp oven burn
Fagor 12008709 U105002000
433223
| Pilot burner pipe
g ; 3 4,5x6 mm; dim. 440x240x120 mm
Fagor 12003136 U105008000
322016
Hose @ 10x1 mm L=160 mm
AlSI 304
_————
Fagor 12022241 R665024000
374146

Burner oven
dim. 255x175x45 mm

Fagor 12024674 12031630 7955801000

374285

“~ Spark plug - insul. @ 7,2x35,40 mm

374290

\ Spark plug - insul. @ 7,5x35 mm

Gas Pipes

I)s PROFESSIONAL SPARES

Gas Burners

433232
Burner @ 40x500/550 mm

Fagor 12009357 U105701000

430181

Air regulator @ 15x20/40x18 mm

427854
Gasket 114x129x3,5 mm

Fagor 12039399 12044286 T545714000



I)s PROFESSIONAL SPARES

Gas Burners

Ovens
424085
Hot air burner
flange @ 158 mm
Fagor 12039442 T645739000
583532
i Spark plug - insul. @ 9,4x54 / @ 9,4x100 mm
RS
583530
e =N Spark plug - insul. @ 9,4x98,5 mm -

“;Q‘ electrode 79x9 mm

374015
Burner @ 50x140 mm
Ltot.=170 mm
Fagor 12024321 T145712000
373661
0 Cover for Heat exchangeh
374170
Spark plug - insul. @ 9,4x134 mm
373988

Burner @ 38x136 mm

\ Ltot.=170 mm

Fagor 12024272 T115710000

373661

0 Cover for Heat exchangeh

583015
Burner chamber @ 150xLtot. 190 mm

Fagor 12022913 T015700000

373724
Bush @ 7x11x7,8 mm

Fagor 12023506 2608410000

433230

Bar burner support
dim. 90x29x62,5 mm

Fagor 12002672 U105635000

459421

Nozzle support 1/2"
Ltot.48 mm; CH27

Fagor 12008635 X505724000

373661

Main cover

Fagor 12023178 T115782000

430181
Air regulator @ 15x20/40x18 mm

Fagor 12008370 X505013000



Ovens

373795

'."'f." ’/Ii

Fagor

373810

12023678

Fagor

435504

12023720

Fagor

311853

12027187

Fagor

582320

12026363

Fagor

12027445

Gas Burners

Flame ignition viewer @ 8,5 mm

R725015000

Flame Control Devices

424109

Flame control device S4565BD-2005

TW=- sec. - TS=5 sec. 230/240V 50/60Hz
4VA

T303013000

12039440

Fagor

Flame control device $4565C-1033
TW-=- sec. - TS=5 sec. 230V 50/60Hz 4VA

Flame control device S4565AF-1007

TW=- sec. - TS=10 sec. 220/240V 50/60Hz
4VA

RT30390107

S'park and flame control device S4565A

3092B
Ts=10s; 220-240V 50/60Hz; 4VA; 3
electrodes
12129395 DO1AB01416 DO1AB01421

I)s PROFESSIONAL SPARES

Burner controller 579DBC
TW 1s - TS 4s; 220/240V 50/60Hz; 12VA

T643002000



Ovens

373880

Fagor

374144

12023991

Fagor

373419

Fagor

373292

12024664

12018454

Fagor

374469

Fagor

12016811

12039115

Heat exchangers

Gasket @ 152x200x4 mm

R725051000

Combustion chamber gasket @
203x240x3 mm
201/202 gas

T145710000

Gasket

dim. ext. 95x80 mm - int. 66x51 mm - dim.
65x65 mm @ 50 mm

T115037000

I)s PROFESSIONAL SPARES

Switches, Push Buttons, Selectors

424845

Push button 13x19 mm 16A 230V -
unstable

R663032000 Fagor 12023927

Momentary push switch orange 22x30
mm
16A 250V; faston 6,3x0,8 mm

7213033000

Momentary switch @ 22 mm 1NC/1NO 3A
250V

T723009000



Ovens

I)s PROFESSIONAL SPARES

Lamps and Lamp Holders

610847
Halogen lamp 10W 12V G4 300°C

SR
®

Fagor 12025123 R663013000

435510

O Orange pilot lamp @ 13 mm 240V - L=60
o &

I lamp @ 9 mm, with nut and silicon O-ring

Fagor Z203005000

435511

Green pilot lamp @ 13 mm - 240V - L=60

oo
with nut and silicon O-ring

ey

Fagor 12025211 12036324 12047390 R693055000
584452
Orange pilot lamp @ 13 mm 230V -
self-locking
lens @ 15 mm; L=33 mm; faston 6,3x0,8 mm;
Tmax 120°C
Fagor 12023806 12024254 12024669 R693056000
584447
Green pilot lamp @ 13 mm 230V
= self-locking
lens @ 15 mm; L=33 mm; faston 6,3x0,8 mm;
Tmax 120°C
Fagor 7203004000
373301

Red pilot lamp @ 14 mm 230V
self-locking
lens @ 14 mm; T120°C

%o

Fagor 12016905 12036462 T113040000

352482

Lamp holder 70x55 mm - G4 20W 12V
cable L=700 mm

3
_A’a-.’?éﬂrw
Fagor 12024545 T303023000
374070
=, - Lamp holder fixing frame 95x80x6 mm
;. e Lie: 's
200014
- Lens 73x58 mm
373735
Graphite oven lamp gasket 76,5x61x1 mm
373196

X

Countersunk screw M4x15 mm



Ovens I)s PROFESSIONAL SPARES

Lamps and Lamp Holders

585401 585400
D Lamp holder 70x55 mm - G4 20W 12V i Complete lamp holder 75x60 mm - G4
with gasket ] A 20W 12V
peT g cable L=700 mm H cable L=700 mm
.. o ‘i
Fagor 12223527 Fagor 12223524
610847 610847
Halogen lamp 10W 12V G4 300°C Halogen lamp 10W 12V G4 300°C
& &
374070 374070
P e ] Lamp holder fixing frame 95x80x6 mm P A ] Lamp holder fixing frame 95x80x6 mm
200014 200014
= Lens 73x58 mm = Lens 73x58 mm
373735 373735
Graphite oven lamp gasket 76,5x61x1 mm Graphite oven lamp gasket 76,5x61x1 mm
200013
Lamp holder gasket 93x78x2,5 mm
silicone
Fagor 12023578 T303026000
374070
Lamp holder fixing frame 95x80x6 mm
* 3
M

Fagor 12024464 T303047000



Ovens

200014

Fagor 12023668

373735

Fagor 12023532

373883

Fagor 12024011

612338

Fagor P453023000

350281

Lamps and Lamp Holders

Lens 73x58 mm
Tmax 800°C

T303025000

Graphite oven lamp gasket 76,5x61x1
mm

T303027000

Contactors and Relays

375736

Mini contactor B7-30-10-F
220-240V 40-450Hz; dim. 47x48x42,5 mm

Z213007000 Fagor 12024075

426296

Contactor BF0910A230 V260

4,2kW 3P; 230V 50/60Hz 400V 3 cont. NO + 1
aux NO

Fagor 12041014

373884

Contactor BF2600A230
13kW 3P; 230V 50-60Hz 400V - 3 cont. NO

Fagor R143002000 R673007000 Fagor 12024012

I)s PROFESSIONAL SPARES

Contactor 3RT2024-1AL20

5,5kW 3P; 230V 50-60Hz 400V cont. 3 NO
dim. 45x91x88 mm

X183011000

Contactor 3RT2024-2AL20

5.5kW 3P; 230V 50/60Hz; 400V 1NO + 1NC;
dim. 97x35x102 mm

Contactor 3TF2001-3AL2
4kW 3P; 230V 50/60Hz; 400V 3 NO + 1NC

2683087000



Ovens

342250

Fagor 12037903
305837

e
Fagor 12025193
374104
—

SRR ]

Fagor

373058

12024560

Fagor

581900

12009985

Fagor

12012470

Microswitches

Snap action microswitch 16(6)A 250V T85
faston 6,3x0,8 mm

BR00023055

Snap action microswitch with roller 16A
250V

leverage L=25 mm; 1 contact NO, 1 contact
NC

R010534000

Magnetic microswitch E532 1NO 250V
0,4A
dim. 20x65x9 mm; cable L=300 mm

2100522000

Plate for microswitch
dim. 45x30x2 mm

R010535000

Microswitch fixing plate
dim. 74x72x25 mm

T330713000

I)s PROFESSIONAL SPARES




Ovens
Terminal Boards

439982

Terminal board 6-poles sq.mm 6 with
bridges installed

capacity 450V 40A; Tmin-max -5/+150°C;
faston 6,3x0,8 mm

Fagor 12025183 R253044000

374276

Terminal 35 mm?
dim. 56,5x16x62,5 mm

Fagor 12025143 R673010000
373699
Terminal 10 mm?
57A 1000V
Fagor 12023373 P453025000

Pressure Switches

373400

Air pressure switch 1 level 2,7/2,15 mbar

j-"' < Pmax. 50mbar
4 i rubber holder @ 6 mm; 1,5A 250V

Fagor 12018227 R723004000

Timers

373413

Timer 2P 120 min
D-shaft & 6x4,6 mm

Fagor 12018407 R723000000

I)s PROFESSIONAL SPARES




Ovens I)s PROFESSIONAL SPARES

Fans

531364

Compact fan 120x120x38 mm - 20W 230V

50/60Hz

no cable; faston connection 2,8x0,5 mm; 2550

rpm; ball bearing
Fagor 12023862 12031028 12033472 6021050008

Z103066000

373917

Compact fan 170x150x50 mm - 230V
50/60Hz 0,28/0,24A
cable L=290 mm

Fagor 12024106 T453005000

583529
Radial blowers NRG118 60W 230V 50Hz

Fagor 12044607
Fuses, Capacitors, RFI Filters

374273 435812

Capacitor for power factor correction Fuse @ 5x20 mm 10A 250V fast
3uF 450V 50/60Hz
with M8 metal connector, nut and washer

Fagor 12025135 2258927000 Fagor 12024152 R723015000
374069
Capacitor 104k 275Vac
% cable L=135 mm; faston 6,3 mm
q.i

Fagor 12024463 7233012000



Ovens I)s PROFESSIONAL SPARES

Motors
373870 373271
g Gearmotor 230V 50/60Hz Motor 3 phases 260/160W
%{_q " cable L=200 mm; D-shaft @ 9,5x28 mm 220-240/380-415V 1,2/0,7A 50/60Hz
% conical shaft
()

Fagor 12023928 T843011000 Fagor 12016565 R253049000

305837 374088

_€ Snap action microswitch with roller 16A Shaft sealing 9 17x28x7 mm
:g 250V
373117
373270
Motor 3 phase 20/160-60/250W 380-400V Snap-ring @ 30 mm

50/60Hz
conical shaft L=64,5 mm, thread M10; cable

{{___/_ L=500 mm
- 373947

Washer M10 INOX
Fagor 12016547 R663033000 o

459807

Atomizer @ 43x96 mm 358211

Grower washer M6 @ 6,3 mm INOX

374088
° Shaft sealing @ 17x28x7 mm
373117
Snap-ring @ 30 mm
373936

\ Bush @ 6,5x9x11 mm



Ovens

373424

Motor 3 phases 450/650W
220-240/380-415V
conical shaft @ 17x76 mm; 1400rpm; cable

& L=500 mm
Fagor 12018468 R703049000
374190

Fan blade @ 350x120 mm - 12 blades

e

373956

Motor gasket flange @ 19x60xHtot.23,4 mm

459807

Atomizer @ 43x96 mm

374088
° Shaft sealing @ 17x28x7 mm
373963
Gasket @ 35x60x1 mm
373437

o5

Motor 3 phase 660/800W 208-240V

50/60Hz

W el shaft @ 17x81 mm
o gﬁ&-

Fagor 12018605 T493004000

Motors

374029

Fagor

374190

I)s PROFESSIONAL SPARES

Motor 3 phase 750W 230V 50Hz 3,2A

conical shaft L=80 mm; 1400rpm; cable
L=1000 mm;

12024325 12024358 T303066000 T323040000

Fan blade @ 350x120 mm - 12 blades

s

374088

0

373963

381358

425159

Fagor

374190

Fagor

Shaft sealing @ 17x28x7 mm

Gasket @ 35x60x1 mm

Bushing @ 60xh19 mm

Turbine @ 280x120 mm - 12 blades
conical bore

12024786 T083005000

Straight turbine @ 350x120 mm - 12
blades
conical bore

12024306 12024789 R703050000 T493017000



Ovens

373956

Fagor

459807

12024208

Fagor

374130

Fagor

374088

12022242

.

12024638

Fagor

373963

Fagor

583008

12024510

12024221

Fagor

12022284

I)s PROFESSIONAL SPARES

Motors
581899
Motor gasket flange @ 19x60xHtot.23,4 Bushing @ 8,5x14x28 mm
mm
@ 19x60xHtot.23,4 mm
R662684000 Fagor 12023906 T330733000
581898
Atomizer @ 43x96 mm Bushing @ 8,5x16x18 mm
hole @ 10 mm
R665025000 Fagor 12023796 T330707000
Gearmotor 230V 50/60Hz

10rpm; D-shaft @ 6x5,4 mm; cable L=285 mm

T323010000

Shaft sealing @ 17x28x7 mm

R662627000

Gasket @ 35x60x1 mm

R662685000

Motor support
dim. 173x80x15 mm

T845011000



Ovens

373989

Fagor

374224

12024273

Fagor

459405

12024935

Fagor

424451

12024708

Fagor

374118

Fagor

12024782

12024610

Pumps

Drain pump 30W 220-240V 50Hz 0,2A
inlet @ 25 mm, outlet @ 22 mm

27220901000

Drain pump 40W 220V 60Hz

inlet @ 22 mm, outlet @ 25 mm - faston 6,3x0,8
mm

27223501000

Rinse pump 1 phase 63/82W 220/230V
50/60Hz
inlet @ 31 mm; outlet @ 27 mm; 2830/3200rpm

7258976000

Rinse pump 1 phase 75W 230V 1,1A 50 Hz

inlet @ 30 mm; outlet @ 26 mm; 2700 rpm;
C=5uF 400V

T360715000

Heating Elements

316816

Heating element 1000W 230V

dim. 512x120 mm; flange 77x21 mm,; faston
6,3 mm

U183401000 U803004000 Fagor

I)s PROFESSIONAL SPARES

Boiler heating element 9000W 230V

dim. 275x78 mm; flange 105x60 mm; bulb
housing L=135 mm; faston 6,3 mm



Ovens

316817

Fagor 12024747
373719
Fagor 12023494
373718
Fagor 12023486
374171

—

Fagor 12024727

424644

Fagor 12039496

424423

Fagor 12039497

Heating Elements

374025

Boiler heating element 9000W 230V

dim. 275x78 mm; flange 105x60 mm; faston
6,3 mm

T323038000 Fagor 12024349

374030

Boiler heating element 9000W 230V

dim. 385x80 mm; flange 105x55 mm; faston
6,3 mm

R143000000 Fagor 12024359

373779

Heating element 230V 9000W

dim. 385x75 mm; flange 105x55 mm; bulb
housing L=135 mm; faston 6,3x0,8 mm

R143033000 Fagor 12023637

431984

Heating element 3000W 230V

dim. 92/160x572 mm; flange 100x22 mm;
faston 6,3x0,8 mm

R673002000 Fagor 12023605
372733
Heating element 9000W 230V
@ 430x100 mm; flange 142x25 mm;
connection M4
T803050000 Fagor 12007832
424702

Heating element 9000W 230V

@& 504x105 mm; flange 142x25 mm;
connection M4

T803051000 Fagor 12023606

I)s PROFESSIONAL SPARES

Heating element 15000W 230V
@ 550xH130 mm; connection M4

T323034000

Heating element 15000W 230V
@ 640xh135 mm; connection M4

T323035000

Heating element gasket 22x70,5x3 mm
for 374153

R693017000

Gasket 49,5x29,5x3 mm

R725159000

Boiler heating element gasket 105x55x5
mm

R145012000

Gasket 50x50 mm H=4 mm

T305041000



Ovens

316821

Fagor 12023680

373784

@00 ®-

Fagor 12023655

373796

Gy

Fagor 12023679

424053

Fagor 12041165

373482

Fagor 12019182

I)SPRUFESSI[INAL SPARES

Heating Elements

Heating element gasket 105x60x3 mm
for 316816/316817

T323007000

Heating element gasket 21,6x98x2,6 mm
for 374171

R673063000

Heating element gasket

T323021000

Heating element gasket 141x25x2,5 mm

T803052000
Commutators, Energy Regulators
373865
Commutator 0-2 positions Commutator 0-4 positions
16A 250V; D-shaft & 6x4,6 mm 16A 250V; D-shaft & 6x4,6 mm
R663026000 Fagor 12023918 U673006000



Ovens

373411

Fagor

374089

Fagor

533018

Fagor

425114

12018374

=

12024516

B (LR

12125843

Fagor

424194

12024153

Fagor

12009444

Commutators, Energy Regulators

Commutator 0-5 positions
D-shaft & 6x4,6 mm

T303004000

Commutator gasket @ 11x26x3,5 mm

R663046000

Energy regulator 13A 230V
D-shaft & 6x4,6 mm; Tmax 125°C

$333001000

Transformers

Transformer 65VA
PRIM.: 230V; SEC.: 12/24V

12024173 R503005000 T853002000

Cables

Resistance wiring harness

T703010000

I)s PROFESSIONAL SPARES




Ovens

429732

Fagor

374135

12095019

f~——f?i§§é!\

Fagor

374099

12024648

Fagor

347105

12024549

Fagor

374212

12125819

R ——
Fagor 12022001
374211

Fagor

12024879

I)s PROFESSIONAL SPARES

Thermostats

Bi-metal thermostat 51°C 10A 250V

Operating thermostat 1P 30+85°C

coated capillary L=1500 mm; bulb & 6x70 mm;
gland nut M9x1; D-shaft & 6x4,6 mm

R343100000

Operating thermostat 1P 50-310°C - 16A
400V
bulb @ 3x165 mm, axe & 6x4,6 mm

X153000000

Safety thermostat 1P 130°C
capillary L=1150 mm; bulb & 6x129 mm

Safety thermostat 1P 150°C

coated capillary L=1500 mm; bulb & 6x79 mm;
gland nut M9x1; support 52,5x40,5x20 mm

12024884 12133078 R343039000

Safety thermostat 1P 180°C

coated capillary L=1150 mm; bulb & 6x78 mm;
connection & 8,86xhtot. 12

7953036000

373471

Safety thermostat 1P 330°C
capillary L=1230 mm; bulb & 3x160 mm; 16A

\S

250V
Fagor 12019062 R243016000
429023
Safety thermostat 1P 365°C
yﬁ capillary L=900 mm; bulb @ 3x160 mm
Fagor 12133077 T303009000
429325

Safety thermostat 3P 360°C
coated capillary L=900 mm; bulb & 3x186 mm

Fagor 12125800

374172
Thermostat bulb holder @ 7,4xH6,6 mm

Fagor 12024729 R662662000



Ovens
Magnetron & Induction
373317

Electromagnet 230V 50/60Hz 0,1A
dim. 48x51x60 mm; cable L=250 mm

Fagor 12017119 R663030000

Shower units and Water columns

374195

Oven washing group

woo. R
L hand shower L = 140 mm; tube L=1500 mm;
. box 200x200x65 mm

"

Fagor 12024800 12040977 T452809000
348452
\ Hand shower 130 mm
348452
Hand shower 130 mm
\ connection 1/2" F
Fagor 12039158 T452834000
372741
s Hand shower KIT
] | hose connection 1/2" FF L=2000 mm; with
——— Y | support
V
= =i | *"
Fagor 12007934 R095009000

Solenoid Valves and Reducers

435409 373831

Solenoid valve 180° - 1 way - 220/240V
50/60Hz - @ 10,5 mm

with fastons; inlet @ 3/4" with filter; Tmax
90°C

Fagor 10703 12025161 Z701135000 Fagor 12023794 12147323

I)SPRUFESSI[INAL SPARES

Solenoid valve 180° - 2 way - 200-240V
50/60Hz - @ 10,5 mm

with fastons; inlet @ 3/4" with filter and
reducer 14 It/min; Tmax 90°C

P255001000



Ovens
Solenoid Valves and Reducers

200121

Solenoid valve 180° - 3 ways - 200-240V
50/60Hz - @ 10,5 mm

with fastons; inlet @ 3/4" with filter; Tmax
90°C

Fagor 12023921 12115418 12147322 P443018000
76111223000 2611123000

200119
Outlet pressure reducer 0,25 It/min
[white-Inv]
Fagor 12024509 R665041000
200118
Outlet pressure reducer 2,5 It/min
[brown-inv]
Fagor 12024083 12097038 P443042000
427335
Outlet pressure reducer 8 It/min [red]
Fagor 12024045 12096626 7601156000
583804

Solenoid valve 180° - 1 way - 220/240V
50/60Hz - @ 10,5 mm

with fastons; inlet @ 3/4" with filter; Tmax
90°C

Fagor 10703_ 12025161_

424238
Water inlet assembly 1 outlet @ 10,5 mm

Fagor 12008214 T645006000

I)s PROFESSIONAL SPARES




Ovens I)s PROFESSIONAL SPARES

Ball valves, Pipe fittings

519249
Nipple 1/2"+1/2" - L=27 mm - brass

Fagor 12008907 $§205023000

433269

.

Nipple 3/8" - 1/2" - L=29 mm - brass

Fagor 12008887 U202103000

410244

Y-connection @ 10-10-10 mm - brass

Fagor Z103077000 Z201106000

425265

N

Fagor 12039498 T805055000

Formed hose @ 19x28x840 mm

424497

i S

Fagor 12024407 T360719000

Sleeve @ 30x37/23x30 mm L=178 mm

Hoses

426945
Sleeve 53x63xh77 mm SILICONE

Fagor 12047901

435233
Hose EPDM @ 5x12 mm L=2300 mm
Tmax 110°C

Fagor 11000066 3702400000



Ovens I)s PROFESSIONAL SPARES

Hoses

612360 524324
Hose EPDM @ 10x17 mm (sold by meter) Rubber feeder hose 3/4" L=1500 mm

Pmax 10 bar; working temp. -35°C+110°C; ﬂ -+

@ straight connection + 90° plastic connection;
non-toxic b ring nut in nickel-plated brass @ 3/4"F; pipe @
- == 13x19 mm; Pmax 10 bar; Tmax 90°C;
‘f WRC/WRAS/VDE approved
Fagor 11000083 367690000 3676900000 S102121000 Fagor 12024115 7602121000
7631121000
339959
581895
. Rubber feeder hose 3/4" L=1500 mm
Silicone hose @ 31x38 mm q‘:
Wz straight connection + 90° plastic connection;
ir nylon ring nut @ 3/4"F; pipe & 13x19 mm;
S\ Pmax 10 bar; Tmax 90°C; WRAS/VDE
- ﬂ approved
Fagor 7601114000
Fagor 11000006 3714100000
374075

484069
T, Drain pipe PPE @ 47 mm F 90°+ @ 25 mm
Silicone pipe HT @ 18x26 mm (sold by m L=1 503 rF:lm

meter) muff 90° @int/ext 47/60 mm, connection Jint.
|||” 25 mm; pipe Dext. 30 mm
F 12024473 7200910000
Fagor 11000157 3715900000 agor

585317
Silicone hose @ 24x31x2000 mm [Kit]

Fagor 11000005 12139627 3716000000

373921

Silicone hose with steel spiral @
53x57x360 mm

Fagor 12024122 T722608000

427659

Silicone hose with steel spiral @
53x57x367 mm

Fagor 12041855



Ovens
Drain components
425260
Flue condensation pipe L=540 mm
\
Fagor 12039485 T800563000
425264

Flue condensation L=672 mm

-nnnllu........' 20/11

Fagor 12023749 T722807000

373821

Flue condensation L=675 mm

\ 6-10-20/11

Fagor 12023750 T842809000

373827
Flue condensation L=704 mm
6-10/11

Fagor 12023771 T840506000

431730

Drain connection 90°
rubber holder @ 10 mm

Fagor 12024357 R665080000

I)s PROFESSIONAL SPARES




Ovens P s PROFESSIONAL SPARES

424346

Filter @ 70 mm
thread M6x30 mm

Fagor 12002681 T642657000

459808

Injection complete @ 10 mm

Fagor 12022787 T355005000
374182 428000
Drain valve gearmotor 230V 50Hz Drain valve complete 230V 50Hz
1 min; axe @ 8 mm; D-shaft @ 8x6 mm cable L=480 mm
Fagor 12024754 T330711000 Fagor 12093684
374182
374192

Solenoid body Drain valve gearmotor 230V 50Hz

374192

Drain valve body
Fagor 12024796 T330723000




Ovens

372929

Fagor 12009225
450125

Fagor 12041846
433703
-
- "i“
Fagor 12002674
373778
Fagor 12023636
374005
Fagor 12024304
373054
Fagor 12009970

Hinges

582372

Oven hinge - left / right

mounting distance H=173 mm - lever lenght
L=119 mm - spring thickness @ 3,5 mm

U020528000 Fagor 12022306

583100

Wheel support

dim.118x17 mm - mounting distance 94 mm;
hole M6

U010512000 Fagor 12047967
583099
Oven hinge guide
dim. 134x52x36,5 mm; G700
U915604000 Fagor 12039311
425815
Upper shaft @ 9,9x34 mm
thread M6
R660534000 Fagor 12043391
425171
Hinge guide

dim. 46x30x5 mm

R660549000 Fagor 12039312

372772
Rivet nut M5 L=12 mm - INOX
&
\Kw’ihifab
““-.\“‘ \.__
T S
e 4
Q222011000 Fagor 12008244

I)s PROFESSIONAL SPARES

Lower hinge
dim. 62,5x48x64 mm

T700501500

Lower hinge 6 teeth
dim. 32x54 mm

Lower hinge
dim. 54x32 mm; hole @ 15,5 mm

T540565000

Lower hinge
dim. 95x59,5x69 mm

Upper hinge
dim. 152x28,5x7,5 mm

T540566000

Hinge guide cover
dim. 120x19x5 mm; G700

U915619000



Ovens

442121

=il

Central locking mechanism (left side)

Fagor 12024673 T130509000

420724

.

Locking mechanism

351847
Locking mechanism L=150 mm
373913
' Oven door handle L=180 mm
317313
Door catch
416041

Central locking mechanism (right side)

==

Fagor 12018273 R26054300

420724

-

Locking mechanism

351847

Locking mechanism L=150 mm

317313

& Door catch

Lockings

420724

I)SPRUFESSI[INAL SPARES

Locking mechanism

- dim. 42x148x29 mm

Fagor

442121

416041

12018701 R260544000

Central locking mechanism (left side)

Central locking mechanism (right side)

351847

Locking mechanism L=150 mm

Fagor
442121

416041

373256

E“‘Hna‘,

Fagor

12024657

T080504000

Central locking mechanism (left side)

Central locking mechanism (right side)

Connection rod L=113 mm
@ 8x10 mm

12014653 R020502000



Ovens

373650

Rod L=573 mm

& 8x10 mm
Fagor 12022875 T490506000
372672

Rod L=415 mm
/ Jint. 8/ext. 10 mm
Fagor 12001539 R090514000
374004

Magnet 17x14x12 mm
Fagor 12024303 27200506000
373912

Magnet protection

dim. 20x17x17 mm
Fagor 12024094 7200507000
428072

Catch hook
Fagor 12049692
582403

Cap @ 16,5x1,5 mm

Fagor 12021983 T130510000

Lockings

I)s PROFESSIONAL SPARES

585436

Oven door handle L=175 mm - charcoal
grey

Fagor 12047580 _ 12161224
374180
Oven door handle L=180 mm
Fagor 12024750 T900506000
427931
Oven door handle L=200 mm
Fagor 12044773 12049719 12131277 12135274
373913
Oven door handle L=180 mm
attacco 8x8 mm
Fagor 12024095 T130502000
442121
Central locking mechanism (left side)
582403

Cap 9 16,5x1,5 mm



Ovens I)s PROFESSIONAL SPARES

Lockings

429244 425132

Door catch 1-stage

¥ % thread M8 - Ltot 51 mm ‘

Trim handle back

Fagor 12023849 12132285 T900507000 Fagor 12023553 T900509000
427587
373420
Door catch @ 5,4/8xLtot.=22,3 mm ' Oven door handle L=175 mm - black
426899

Lock
Fagor 12018457 T130507000 .oc cover
dim. 50x87,5 mm
428194
. Door catch

ﬁ Fagor 12091814

583271
Fagor 12113376 Handle shaft 8x8xLtot.=93 mm - @ 8 mm
317313
Door catch
dim. 40x40x42 mm
Fagor 12024799 T490519000
373577

Handle shaft 8x8xLtot.=80 mm - @ 8 mm

Fagor 12024495 R260545000 T110506000
374040 \

Fixing support
dim. 40x44x5 mm
Fagor 12021034 T130508000

373619

Fagor 12022138 R660538000

Support
Fagor 12024380  T300519000 tppo




Ovens

373622

Fagor

373629

Fagor

374044

12022165

12022265

Fagor

427707

12024389

Fagor

373976

Fagor

12102288

12024245

Lockings

Support
dim. 60x30x1 mm

T080503000

Support
dim. 130x45 mm; screw M6x35 mm

T130511000

Support
@ 20/44x7/44 mm; holes M4

T130515000

Bush @ 41,5x19 mm

Bush @ 8x15x4 mm

T130505000

P

SPRUFESS"JNAL SPARES



Ovens
Knobs
374013
Knob @ 45 mm
. . foro @ 5,4 mm
Fagor 12024316 T903007000
425811
Black knob @ 48 mm
Fagor 12046201
426312
Knob @ 60 mm
. . hole @ 6 mm
Fagor 12044074
Glasses
484920
Oven door internal glass 1315x755 mm
Fagor 1100003117 12038313
584543

Oven door internal glass 715x687x6 mm

Fagor 1100003132 12038296

I)s PROFESSIONAL SPARES




Ovens

426938

Steam pipe @ 53 mm
dim. 200x85 mm

Fagor 12047930

427504

Generateur comp 101 elect

AN "./

Fagor 12046049
316821
e o Heating element gasket 105x60x3 mm
322920

Water level sensors tank

373862

Temperature probe Tc K (NiCr-Ni)

I)s PROFESSIONAL SPARES

Boilers

427507

Generator comp 102-201 elect

Fagor 12046053
316821
[ Heating element gasket 105x60x3 mm
322920

Water level sensors tank

Temperature probe Tc K (NiCr-Ni)

373216
| Boiler 370x280x520 mm [Kit]

B HGV 10/11 - HGV 20/11
Rt
& 'Af

Fagor 1100002811 12010888 T115000000
428727
Boiler [Kit]
. o AG-201 - APG-201
Fagor 12046107
318289

Boiler [Kit]
VG-202 - VPG-202

Fagor 12007459 T545001000



Ovens I)s PROFESSIONAL SPARES

Boilers
322920
Water level sensor
Fagor 12024419 12113061 T325040000 T325077000
373748
\ High water level sensor @ 4x106 mm
Fagor 12023573 R345060000
373749
\ Low level electrode @ 4x120 mm
Fagor 12023574 R345063000
373750
\ Earth electrode @ 4x131 mm
Fagor 12023575 R345064000
Springs
373933 428939
Compression spring @ 8x20 mm Spring @ 30x34 mm

wire @ 1,2 mm wire @ 2 mm

Fagor 12024164 T130506000 Fagor 12093685



Ovens
Springs

582511

=

Fagor 12024244 T840509000

%\ Spring closing

374085

Support for spring
@ 20/42x12 mm

Fagor 12024505 T130514000
Structural components
372888 424692
Fagor shield

FAGOR 3

e g - -.;:_-‘H.
Fagor 12009010 U022836000 Fagor 12023999
373645

Complete joint fixation
\ dim. 640x690x1,5 mm

27 o2

Fagor 12022616 R670513000

582522

Protection L=280 mm

/ hole @ 6x10 mm

Fagor 12022379 7950353000

I)s PROFESSIONAL SPARES

Lower reinforcement 178x14x4 mm
hvg-10/11-21

T122631000



Ovens

582408

APE-061; APG-061

Fagor 12039638 12046015 T930556000

433616
Door gasket 695x480 mm

Fagor 1100003414 12038310 12038817
429202
—_— Oven door 635x1635 mm
L
Fagor 12097686
341759

Handgrip M12 @ 28x86 mm

Fagor 12020819 T055440000

429367

Soporte manilla 20x adv

Fagor 12049691

Doors

Complete oven door 605x40x715 mm
ACE-061; ACG-061; AE-061; AG-061;

U910501000

Handles

I)s PROFESSIONAL SPARES




Ovens

Printed Circuit Boards

373325

Gas control Pcb
230V 50/60Hz 2,8VA, dim. 120X100 mm

Fagor 12017191 T303048000
373983
Mother board 155x100 mm
12V 50/60Hz 8Rel
Fagor 12024255 12097540 T553003000
373297
Pcb

dim. 150x100 mm

Fagor 12016866 T553009000

583246

Pcb
dim. 100x155 mm

12023361

Fagor 12046658 12046659 T913003000

583245

Pcb
dim. 100x150 mm

Fagor 12046670

425792

Pcb
dim. 155x100 mm

Fagor 12130672

584596

Fagor

427487

Fagor

586693

Fagor

586692

12187659

12046673

12212898

Fagor

425796

12212895

Fagor

374010

Fagor

12130674

12024311

I)s PROFESSIONAL SPARES

Pcb [Kit]
dim. 125x250 mm

Gas control Pcb
dim. 150x100 mm

Pcb
dim. 150x100 mm

Pcb
dim. 155x100 mm

Pcb
dim. 110x160 mm; Concept

Pcb 12V 50/60Hz
dim. 160x110 mm

12097547 T533001000



Printed Circuit Boards

Ovens
425793
Pcb
‘ dim. 160x110 mm
Fagor 12046671
581891
Pcb

dim. 480x125 mm

Fagor 12024785 T823019000

373429

Pcb
dim. 195x175 mm

Fagor 12018498 T303005000 T303070000

428704

Display pcb
dim. 177x96 mm

Fagor 12023361_ 12046658 _ 12046672

428744

Pcb with software
dim. 175x540 mm; ADVANCE +

Fagor 12046579 12121349 12250515

374058

Screw M3x8 mm

b
-

Fagor 12024424 T133008000

T913003000_

374328

Fagor

~

12025260

I)s PROFESSIONAL SPARES

Spacer L=16 mm

thread M3

T133007000



Ovens

323354

\
<

¥
N

Fagor 12044609
373345
R —
Fagor 12017395
373862
Fagor 12023901
323991
Fagor 12039548
374191
—— il
""==‘-—-:______
Fagor 12024795
374009
e

Fagor 12024310

Temperature probe

bulb @ 4x425 mm; cable L=2000 mm

Core probe
bulb @ 40x125 mm, cable L=2000 mm

R673076000

Temperature probe Tc K (NiCr-Ni)
bulb @ 3x70 mm; cable MFA L=1600 mm

T323024000

Core probe 90°
bulb @ 4x100 mm; cable L=2000 mm

T843062000

Core probe

bulb @ 4x125 mm; Ltot. 185 mm; sheathed
cable L=2000 mm

T823009000

Core probe

bulb @ 4x126 mm; probe L=184 mm; cable
L=2000 mm

T623005000

I)SPRUFESSI[INAL SPARES

Probes

373449
Core probe TCJ L=1400 mm
bulb @ 3x70 mm
__-“""ln.__
e e—
Fagor 12018718 R663028000 R663090000
373957
Level regulator 230/400V 50/60Hz
i "“’:E dim. 75x37x67 mm
Fagor 12024209 R343072000
322908
Nut M8
L8 PVC
&
Fagor 12010044 Q228051000
373895
Gasket @ 23x35x7,5 mm
Fagor 12024049 N503017000



Ovens

373260

Fagor 12016193

341779

Fagor

374017

Fagor 12024329

583753

Fagor 12048798

428769

Fagor 12048794

R743005000

Thermoregulators

Thermoregulator IC912 12Vac/dc

probe TCJ (TCK-PT100); 1 relay output 8(3)A
250V; mounting hole 70,5x28,4 mm

T133004000

Thermoregulator ATR111-AD 100+400°C
12/24V 50/60Hz

input: 1 probe PT100; 8(3)A 250V; dim.
74x32x67 mm; dima 71x29 mm

Inverter and motor controls

430620

Inverter G110 1 phase 200/240V 47/63Hz
6,2A

output 3 phases 0-230V 0-650Hz 2,3A;
0,37kW 200/240V Till 26.02.2013

T323037000 Fagor 12024503

Inverter V20 1 phase 200-240V 50/60Hz
7,7A

output 0-inputV 3,2A 0-550Hz; motor 0,55kW;
; dim. 125x68x140 mm

12265077

Inverter G110 1 phase 200-240V 47-63Hz
6,2A

output 3 phase 0-230V 2,3A 0-650Hz; motor
0,37kW 200/240V; for oven 6 GN as of
26.02.2013; dim. 150x90x115 mm

12279418

I)s PROFESSIONAL SPARES

Rectifier KBPC3510
dim. 28,2x28,2 mm; faston 6,3 mm

X343022000



Ovens

374181

Fagor

373433

Fagor

428505

12024753

12018546

Fagor

424907

Fagor

423982

Fagor

12043405

12024257

12024760

Potentiometers

Potentiometer
D-shaft & 6x4,6 mm, cable L=150 mm

T513009000

Potentiometer

D-shaft @ 6x4,6 mm; cable L= 300 mm

T303022000

Potentiometer
D-shaft @ 6x4,6 mm; cable L=150 mm

Membrane keypads 670x160 mm
flat cable L=130 mm

T603007000

Membrane keypads 480x125 mm
HEM 11

T813005000

Membranes

586696

-

Fagor

429141

Fagor

I)s PROFESSIONAL SPARES

Membrane keypads 510x175 mm

Membrane keypads 540x173 mm
CONCEPT ADVANCE ELECT



Ovens I)sPRDFESSI[lNAL SPARES

Membranes

429128

Membrane keypads 540x174 mm
flat cable L=125 mm

Fagor 12129318
Gaskets for heated units
355943 583006
‘ Oven door gasket 400x600 mm Oven door gasket 465x1485 mm

Fagor 12041872 Fagor 12041134 T740563000
429096 582409

; Oven door gasket 675x770 mm : : Oven door gasket 495x465 mm
Fagor 12041578 Fagor 12039599 T910550000
582917 373351

; y Oven door gasket 675x1490 mm ; Oven door gasket
Fagor 12039298 T540550000 Fagor 12017439 R680500000
582817 373328

Oven door gasket

: : Oven door gasket 465x770 mm ;

Fagor 12039475 T800550000 Fagor 12017241 R140506000



Ovens I)sPRDFESSI[lNAL SPARES

Gaskets for heated units

373945 423987
; Oven door gasket 460x640 mm Lower gasket L=500 mm
Fagor 12024187 R660503000 Fagor 12041088 T740562000
373944 582918
Oven door gasket 650x700 mm Lower gasket L=705 mm
Fagor 12024186 R670500000 Fagor 12039307 T540561000
372745 424063
Oven door gasket 640x1295 mm Lower gasket L=749
e - @
Fagor 12007972 R090510000 Fagor 12024206 T540504000
373872 372769
Oven door gasket 670x770 mm Oven door gasket 530x300 mm
Q 10/21 L(’ \
Fagor 12023944 T300500000 Fagor 12008213 uU025623000
373991 372933
Q Oven door gasket 670x1450 mm @ Window seals gasket L=1200 mm
Fagor 12024276 T490500000 Fagor 12009239 U965613000

320285

AT %

Fagor 12007990 R090551000

Lower gasket L=705 mm



Ovens I)sPRDFESSI[lNAL SPARES

O-rings

373031

0O-ring 1,78x5,28 mm EPDM
Fagor 12009912 Q307036000
422223

0O-ring 2,62x20,29 mm EPDM
Fagor 12010282 Q307041000
422218

O-ring 3,50x26,00 EPDM
Fagor 12010131 Q307079000
373099

O-ring 3,50x45,00 mm EPDM
Fagor 12010081 Q307080000

Adhesive Gasket

582510

Adhesive EPDM gasket 20x15,2x3 mm

Fagor 12008623 T840510000



Ovens
Flat gaskets
373089
Flat gasket @ 17x24x1,5 mm FIBER
Fagor 12010057 Q306058000
373154
Flat gasket @ 14x24,4x3 mm
Fagor 12010191 Q307031000
373825
Gasket @ 94x129x4 mm
Fagor 12023765 R725055000
373896
Flat gasket @ 16,5x22x1,6 mm
Fagor 12024054 12147181 1BF05070 2955807000
Miscellaneous

427811

Gasket 537x169x2 mm EPDM
ADV +

Fagor 12041815

I)s PROFESSIONAL SPARES




Ovens

372905

Fagor 12009104

373523

Fagor 12019955

Feet

Adjustable INOX foot @ 64 mm -
H=130+200 mm

flange 82x82x2 mm; centre distance 65x65
mm

12033566 6007050017 X260151000

Adjustable metal foot @ 2" - H=210+260
mm
flange 81x81 mm

R092830000

I)SPRUFESSI[INAL SPARES




Iy

AU 4 Undercounter

Hood Iype

Rack Iype

All'mentioned trademarks and pictures are used for
identification purposes only and are property of their respective owners.



AUOURISHWASHING
JIWVDEBODOUNIER,

ELECTRICAL

PARTS

WATER MECHANICAL
PARTS PARTS

ELECTRONIC

PARTS GASKETS




Undercounter

374261

Fagor

373959

Fagor

374304

12025094

12024213

Fagor

428622

12025209

Fagor

428626

12115383

Fagor

12115384

Switches, Push Buttons, Selectors

Momentary push switch double-pole
black 22x30 mm
16(4)A 250V; faston 6,35x0,8 mm

7513022000

Momentary push switch double-pole
black 22x30 mm

16(4)A 250V; faston 6,35x0,8 mm - with pilot
lamp

Z203080000

Black double-pole switch 22x30 mm
16(6)A 250V; faston 6,3x0,8 mm

2203071000

Momentary switch START @ 22 mm 220V
5A 250V; faston 2,8x0,5 mm

Momentary switch START @ 22 mm 5V
5A 250V; faston 2,8x0,5 mm

I)SPRUFESSI[INAL SPARES




Undercounter
Lamps and Lamp Holders
428365
Green pilot lamp @ 6 mm 2V -
= self-locking
% L=37 mm; lente & 7 mm; faston 2,8 mm
Fagor 12091434
428363
White pilot lamp @ 6 mm 230V -cable
A L=50 mm

lens 7,3 mm; faston 2,8x0,5 mm

Fagor 12132355

430122

White pilot @ 6 mm 2Vdc bianca -
self-locking
L=37 mm; faston 2,8

Fagor 12087178
584452

Orange pilot lamp @ 13 mm 230V -

self-locking

lens @ 15 mm; L=33 mm; faston 6,3x0,8 mm;

Tmax 120°C
Fagor 12023806 12024254 12024669 R693056000

Contactors and Relays

601891 373883

Contactor 230V AC 50/60Hz
3kW 230V; 400V 5.5kW 3 cont. NO + 1 aux

Fagor 12111795 Fagor 12024011

I)SPRUFESSI[INAL SPARES

Mini contactor B7-30-10-F
220-240V 40-450Hz; dim. 47x48x42,5 mm

Z213007000



Undercounter

373892

Fagor

373884

Fagor

373804

12023706

Fagor

374077

Fagor

373899

12024039

12024012

12024477

Fagor

12024066

Contactors and Relays

Contactor 3RT1016-2AP02

9kW 3P; 230V 50/60Hz 400V - 3 cont. NO + 1
aux NC

Z743009000

Contactor 3TF2001-3AL2
4kW 3P; 230V 50/60Hz; 400V 3 NO + 1NC

2683087000

Relay 2 contacts NO 230V 50/60Hz 16A
250V
with DIN bar adaptor

7203062000 Z683027000

Microswitches

Magnetic microswitch A061 1V NO
250Vac 0,04A
bulb @ 6x29 mm - cable L=240 mm

6021130029 SAVW250030 Z203009000

Magnet switch support
dim. 34,5x19,5x8,5 mm

Z203010000

I)s PROFESSIONAL SPARES




I)s PROFESSIONAL SPARES

Terminal Boards

Undercounter
336554
Terminal board 3-poles sq.mm. 6
capacity 450V 40A; Tmin-max -5/+150°C;
faston 6,3x0.8 mm
Fagor U183046000
374042

Terminal board 3 poles 10 mmq 600V

Fagor 12024382

439982

Terminal board 6-poles sq.mm 6 with
bridges installed

faston 6,3x0,8 mm

Fagor 12025183 R253044000

40A; Tmin-max -6/+150°C; faston 6,3x0,8 mm

capacity 450V 40A; Tmin-max -5/+150°C;

Pressure Switches

428514

Pressure switch 1 level 2bar 5Vdc
rubber holder @ 5,4 mm

Fagor 12042019

373838

Pressure switch 1 level 95/75 mbar
contacts capacity 16A 250V; Tmax 85°C

Fagor 12023805 7223005000

337190
’ : Pressure switch 1 level 40/18 mbar
ﬁ.. ‘& contacts capacity 16A 250V; Tmax 85°C
P

Fagor 12023802 7203023000

428513

Pressure switch 1 level 55/35 mbar

Fagor 12048644



Undercounter

428512

g

%

Fagor 12096968

428519

Fagor 12096970

373837

o

W;if‘p

Fagor 12023804

312108

Fagor 12032745

373836

o
(P >,l‘,

Fagor 12023803

374236

Fagor 12024981

Pressure Switches

Pressure switch 1 level 60/35 mbar

Pressure switch 1 level 115/90 mbar
contacts capacity 10A 250V 60Hz

Pressure switch 1 level 165/95 mbar
contacts capacity 10A 250V

Z713002000

Pressure switch 1 level 180/70 mbar

contacts capacity 16A 250V; Tmax 85°C

EU926049

Pressure switch 1 level 28/13 mbar

Z103074000 Z403021000

Pressure switch 2 level 28/13 65/50 mbar

10A 250V; Tmax 85°C

7433011000

373986

Fagor 12024269

425977

=&

=y

Fagor 12091478

I)s PROFESSIONAL SPARES

Pressure switch 3 levels
40/15-120/60-150/95 mbar

27213059000

Boiler pressure chamber



Undercounter I)SPRUFESSIUNAL SPARES

Timers

374208 373909

Timer chambers 3 . Timer chambers 3
120" 230V 50Hz 240"; 230V 50Hz; axe & 6x4,6 mm

Fagor 12024873 2433002000 Fagor 12024087 Z203030000
373940
i Timer 4 chambers 230V 50Hz
shaft 6x4,5 mm, cable L=250 mm type 7804DV
time: 6"/10"
Fagor 12024178 Z213008000
373939

Timer 4 chambers
6"/180"; 230V 50/60Hz

Fagor 12024177 7243004000

373955

Timer 5 chambers

cycles 6 - 180 seconds; 2 motors 1,1W 230V
50Hz; 375rpm; mod. 7805DV

Fagor 12024204 7243001000

373954

Timer 5 chambers
6"/180"; 230V 50Hz

Fagor 12024203 27213002000

428535

Timer 5 chambers

cycles 40 - 180 seconds; 2 motors 1,1W
230V 50Hz; 375rpm; mod. 7805DV

Fagor 12092150



Fuses, Capacitors, RFI Filters

Undercounter
374273
Capacitor for power factor correction
3uF 450V 50/60Hz
with M8 metal connector, nut and washer
Fagor 12025135 7258927000
418004

Capacitor for power factor correction 5
MF 400V 50/60Hz
@ 30x51 mm; with screw M8 and lock nut

Fagor 12023600 7258969000
332311
.y Capacitor for power factor correction
§ X 10uF 400/450V 50/60Hz
@ 30x71 mm; with screw M8 and lock nut
Fagor 12024346 12024376 12032744 EU206002
V817100000
435812

Fagor 12024152

373989

Fuse @ 5x20 mm 10A 250V fast

R723015000
Pumps

374224

I)s PROFESSIONAL SPARES

Drain pump 30W 220-240V 50Hz 0,2A
inlet @ 25 mm, outlet @ 22 mm

Fagor 12024273 7220901000

Drain pump 40W 220V 60Hz

inlet @ 22 mm, outlet @ 25 mm - faston 6,3x0,8
mm

Fagor 12024935 7223501000



Undercounter
Pumps

373706
Wash pump 1 phase 280W 230V 50/60Hz
1,4A
inlet @ 38 mm; outlet @ 38 mm; cable L=140
mm

Fagor 12023429 2401001000

373987
Wash pump 1 phase 590W 230V 60Hz -
FA-21
inlet @ext 38 mm, outlet Jext 38 mm; cable
L=210 mm

Fagor 12024270 12102834 7203511000

584256

Wash pump 1 phase 590W 230V 50Hz -
FA-22

inlet Jext 38 mm, outlet Jext 38 mm; cable
L=210 mm; C=10uF/450V

Fagor 12024265 12043287 7201011000

373971
Rinse pump 1 phase 250W 220/240V 1,2A
50/60Hz
inlet @ 28 mm; outlet @ 26 mm; cable L=210
mm

Fagor 12024233 2258965000

373434

Impeller @ 88 mm - 50Hz
M8S - for pump 2/123/FA30

Fagor 12018550 7201082000

422292

Pump holder
dim. 37x75x125 mm

Fagor 12022393 7201002000

I)s PROFESSIONAL SPARES




Undercounter

Heating Elements

374149

Boiler heating element 2800W 230V

L=425 mm; flange & 98 mm; Qint. 68 mm; with
bulb housing L=190 mm; connection M4

12024683

Fagor 7201706000
374215

Boiler heating element 2800W 230V

L=280 mm; flange & 87,5 mm, Jint. 45 mm;
connection M4

12024907

Fagor 7421711000 7421712000
485560

Boiler heating element 2800W 230V UL

L=270 mm; flange @ 98 mm; @int. 67 mm; bulb
housing L=190 mm; faston 6,3 mm

Fagor 12098741
425798
Boiler heating element 5600W 230V UL
: = L=310 mm; flange & 98 mm; Qint. 67 mm; bulb
,@ housing L=190 mm; faston 6,3 mm
3 '
Fagor 12098745
374173
Boiler heating element 6000W 230V
L=420 mm; flange @ 98 mm; with bulb housing
L=195 mm; connection M4
Fagor 12024732 27241701000
428899

Boiler heating element 2400W 230V

L=273 mm; triangular flange 83,5x78,8 mm;
dint, 50 mm; with bulb housing L=190 mm;
faston 6,3 mm

Fagor 12093151

428900
N

Fagor 12093124

428919

12090551

Fagor

428916

Fagor 12090524

374238

¥

Fagor 12024986

374230
N

Fagor 12024951

429923

Fagor 12048965

I)s PROFESSIONAL SPARES

Boiler heating element 2800W 230V UL

L=275 mm; triangular flange 83,5x78,5 mm;
Jint. 47 mm; with bulb housing L=190 mm;
faston 6,3 mm

Boiler heating element 5600W 230V

L=305 mm; triangular flange 92,5x90 mm; bulb
housing L=185 mm; connection F=6,5 mm

Tank heating element 2000W 230V UL

dim 285x90 mm; flange 81,5x28,3 mm; faston
6,3

Tank heating element 1000W 230V

dim. 280x65 mm; flange 27,7x81,3 mm;
connection M4

Z733601000

Tank heating element 2000W 230V

dim. 285x97x23 mm; flange 81,4x28 mm;
connection M4

R223005000

Tank heating element 2800W 230V UL
dim. 325x55x35 mm; faston 6,3 mm



Undercounter I)SPRUFESSI[INAL SPARES

Heating Elements

374133
Tank heating element 2800W 230V
dim. 365x102 mm; flange 70x18 mm
Fagor 12024645 2203601000
373992
Heating element cover @ 63x67,5x55,3
mm
Fagor 12024282 Z101723000

374103
Boiler heating element 2400W 230V

: L=285 mm; flange & 87,5 mm; Jint. 42 mm;
& connection M4

v
Fagor 12024559 7401738000
Commutators, Energy Regulators

374063 426283

Commutator 0-3 positions . Commutator 0-6 positions

16A 250V; D-shaft @ 6x4,6 mm D-shaft @ 6x4,6 mm
Fagor 12024445 7223001000 Fagor 12092712
374263 374089

Commutator 0-2 positions Commutator gasket @ 11x26x3,5 mm
16A 250V; D-shaft & 6x4,6 mm; 0-1-2

o

Fagor 12024465 12025105 T343008000 Z213003000 Fagor 12024516 R663046000



Undercounter

373864

——

Fagor 12023913 Z203094000

485773

Wiring harness L=740 mm

Fagor 12158514
373968

Cable holder
Fagor 12024230 27203020000
429732

Bi-metal thermostat 51°C 10A 250V

Fagor 12095019

429752

Bi-metal thermostat 56°C
@15 mm

Fagor 12090526

Power cable 3x2,5mmq L=2830 mm

I)s PROFESSIONAL SPARES

Cables

Thermostats

373806
Bi-metal thermostat 66/57°C 1NA+1NC
16A 250V
faston 6,3

Fagor 12023708 2718405000

429714

Bi-metal thermostat 95°C

Fagor 12090518



Undercounter
429016
Fagor 12095018
373914
i";.:fﬂ;\;
L=
i
}— - e ———.
Fagor 12024096
374107

Fagor 12024573
427998
——e—————
Fagor 12130561
373844

Fagor 12023830

373637

Fagor 12022418

Thermostats
429707
Bi-metal thermostat 110° 250V 10A
faston 6,3 mm =
82
12096597 Fagor 12044848
422529

Operating thermostat 1P 27+85°C
coated capillary L=750 mm; bulb @& 80 mm

3

%,_

12046152 12134992 Z393005000 Fagor 12022224

Operating thermostat 1P 32+90°C
coated capillary L=700 mm; bulb & 6x130 mm

12040858 7203014000

Safety thermostat 1P 60°C

coated capillary L=850 mm; bulb & 6,20x80
mm; 16A 400V

12161299

Safety thermostat 1P 125°C
coated capillary L=870 mm; bulb & 6,5x68 mm

27213014000

Bulb housing @int. 8,2 mm - Ltot. 97 mm
M12

7263002000

I)s PROFESSIONAL SPARES

Thermostat adjustment to 601 from 85
dim. 40x20 mm; holes & 4 mm

Thermostat support
dim. 85x63x14,5/25 mm

27203047000



Undercounter I)SPRUFESSI[INAL SPARES

Shower units and Water columns

538780
Flexible pipe inox 1/2" FF L=1050 mm

q Inox 18/10 chain link; with thermoplastic cover

and fiberglass gasket

Fagor 12125912

538789
Flexible pipe inox 1/2" FF L=1200 mm

q Inox 18/10 chain link; with thermoplastic cover

and fiberglass gasket

E———
Fagor 12125911

Dispensers and Peristaltic pump
337346 427915

Rinse aid hydraulic dispenser adj. Rinse aid peristaltic pump adj. capacity
capacity 0+3,6 cc [Kit]

E type 3000; IN & 6x8 mm / OUT @ 8x10 mm; O o @ mod. NBR-0,7; adj. capacity 0,7 It/h pres. 3bar
: o\

Pmin 0,5 bar - with filter ; 230V 50/60Hz; rubber holder @ 5/ & 6,5 mm

Fagor 12045206 12133010 Fagor 12092198 12136886

352922 700411

Rinse aid hydraulic dispenser N6
Pmin 0,5 bar, IN 180° @ 4x6 mm / OUT & 6x8

Detergent peristaltic pump electronic
adj. time-pause
mod. G300; max capacity 3,0 It/h; 230V 50Hz;

mm inox
hose @ 5x8 mm
Fagor 12024105 7211109000 Fagor 12024216 12133011 7208903000
425801 365039
Rinse aid peristaltic pump adjustable PVC transparent hose @ 4x6 mm (sold
capacity by meter)

mod. NBR-0,7; adj. capacity 0,7 It/h pres. 3bar
; 230V 50/60Hz; rubber holder @ 5/ & 6,5 mm

Fagor 12132254 Fagor 11000079 3699300000



Undercounter
Dispensers and Peristaltic pump

373924

PVC transparent hose @ 4x6 mm L=2500

mm

: con filtro di fondo @ 20 mm
@
Fagor 11000148 12003213 12011915 12024139

7230903000 7448614000 Z448618000

410373
: Suction filter in inox for hose @ 4x6 mm
ot @ 20x18 mm
1
Fagor 12024353 12164632 Z701152000
337385
Inlet filter for rinse aid dispenser S3000
Fagor 12011355
438249

Pipe fitting 90° M10 mm inox
thread L=12 mm; elbow fitting @ 4x6 mm

Fagor 12024531 7208927000

Solenoid Valves and Reducers

373831

435409
Solenoid valve 180° - 1 way - 220/240V

50/60Hz - @ 10,5 mm
with fastons; inlet @ 3/4" with filter; Tmax

90°C

Fagor 12023794

Fagor 10703 12025161 Z701135000

I)s PROFESSIONAL SPARES

Solenoid valve 180° - 2 way - 200-240V

50/60Hz - @ 10,5 mm
with fastons; inlet @ 3/4" with filter and

reducer 14 It/min; Tmax 90°C

12147323 P255001000



Undercounter
427335
Fagor 12024045
429201

Fagor 12095427
485838

~ . '\--. —
Fagor 12169083
426205
Fagor 12097453
374336

2

Fagor

12025288

I)s PROFESSIONAL SPARES

Solenoid Valves and Reducers

Outlet pressure reducer 8 It/min [red]

12096626 2601156000

Solenoid valve 90° - 1 way - 220/240V

50/60Hz - @ 10,5 mm

inlet @ 3/4" with filter; Tmax 90°C; Rast5

Pressure reducer @ 14x39,5x0,8 mm

Ball valves, Pipe fittings

Rubber holder @ 10 mm

T-connection @ 12-6-12 mm
dim. 33x56 mm

2601157000

426707
T-connection @ 20-5-20 mm
dim. 45x80,5 mm

Fagor 12041519

373949

Manifold 4-way @ 12x12x12x12 mm
dim. 77x77 mm

Fagor 12024192 7401108000



Undercounter I)SPRUFESSI[INAL SPARES

Ball valves, Pipe fittings

410244

Y-connection @ 10-10-10 mm - brass
Fagor Z103077000 Z201106000
373727

Y-connection @ 12-12-12 mm L=75 mm
Fagor 12023511
441675

- Backflow preventer dishwasher

g ‘ g rubber holder @ 12 mm

Fagor 12024568 7231105000 Z231106000
Hoses

425598 373797

Formed hose @ 29x37 mm EPDM Formed hose 90° @ 38x53 mm - @ 50x66

dim. 260x605 mm mm

dim. 152x80 mm

Fagor 12041930 Fagor 12023683 7200904000
373798 426088

Formed hose 90° @ 38x54 mm - @ 50x66 Formed hose @ 37x46 mm/@ 50x58 mm

mm dim. 108x77 mm
~ dim. 190x100 mm

Fagor 12023689 Z200905000 Fagor 12041926



Undercounter
Hoses
426084 428154
Formed hose @ 38x47 mm
-
(KRR i
Fagor 12103941 Fagor 12115471
435233 373920
Hose EPDM @ 5x12 mm L=2300 mm
Tmax 110°C "‘T
Fagor 11000066 3702400000 Fagor 12024114
612360 374075
Hose EPDM @ 10x17 mm (sold by meter) ey
Pmax 10 bar; working temp. -35°C+110°C; —6
non-toxic
Fagor 11000083 367690000 3676900000 S102121000 Fagor 12024473
7631121000
429974

524324

ring nut in nickel-plated brass @ 3/4"F; pipe @

—n-\!ﬁ 13x19 mm; Pmax 10 bar; Tmax 90°C;

WRC/WRAS/VDE approved

[ Rubber feeder hose 3/4" L=1500 mm ﬁ
@ straight connection + 90° plastic connection;

Fagor 12041934
Fagor 12024115 2602121000

339959

Rubber feeder hose 3/4" L=1500 mm

[ straight connection + 90° plastic connection;
nylon ring nut @ 3/4"F; pipe & 13x19 mm;
: Pmax 10 bar; Tmax 90°C; WRAS/VDE

approved

Fagor 2601114000
370723

Drain pipe PPE @ 19 mm 180°+ @ 22 mm
q 90° L=2000 mm

muffs 180° & int/ext 19/24 mm, muffs 90°
wlm Qint/ext 22/27 mm, Gext hose 24 mm

Fagor 12023666 7220903000

I)s PROFESSIONAL SPARES

Drain pipe PPE @ 27 mm F 90°+ @ 24 mm
L=2000 mm

muffs 90° @ int/ext 27/35 mm, connection Jint.
24 mm, @ext hose 30 mm

Drain pipe PPE @ 27 mm F 90°+ @ 24 mm
libero L=2100 mm

muffs 90° @ int/ext 31/39 mm, connection Jint.
24 mm, Jext hose 30 mm

12067267 6007170373 2400908000

Drain pipe PPE @ 47 mm F 90°+ @ 25 mm
L=1500 mm

muff 90° Gint/ext 47/60 mm, connection Jint.
25 mm; pipe Dext. 30 mm

7200910000

Drain pipe PPE @ 22 mm F 180°+ @ 20 mm
90° L=800 mm
muffs @ 22/29 mm, 90° @ 20/26 mm



Undercounter
374331
Flat gasket @ 62x80x3,2 mm
Fagor 12025267 Z471107000
429976

Drain manifold 3"

o

Fagor 12041533

425534

- Drain plate @int. 54 mm H=43,80 mm
g
<

429105
o Seal g 110x89x3.5 mm
373919
: Gasket @ 164xh23 mm
Fagor 12024113 27400902000

I)s PROFESSIONAL SPARES

Water conditioning

Drain components

425534
Drain plate @int. 54 mm H=43,80 mm

Fagor 12041600
429976
ﬁ Drain manifold 3"
L= ’
429105
o Seal g 110x89x3.5 mm
425521
g, Overflow pipe @ 20x165 mm
Fagor 12120614
374321

\ Overflow pipe @ 24,5x165 mm

Fagor 12025249 7400907000



Undercounter I)SPRUFESSIUNAL SPARES

Drain components

429975
B Overflow pipe @ 35x225 mm
€
. -
Fagor 12049632

425524
Overflow pipe @ 35x228 mm

Fagor 12114854

374016
Overflow pipe @ 40,5x194 mm

Fagor 12024323 12153291 7200909000

374114

Drain manifold @ 47x57 mm / @ 23,5x32,5

mm
ﬁ dim. 330x225x85 mm

Fagor 12024603 7220902000

Filters

427278 374054

Filter @ 142xh107 mm Suction filter Gext 205xh140 mm

Fagor 12092003 Fagor 12024410 27200922000



Undercounter
Filters

374311
Filter @ 143x125 mm

Fagor 12025219 7400920000

427280
Filter @ 156xh180 mm

Fagor 12049633 12150515

373642
Filter 263x200 mm

Fagor 12022559 2210802000

373769
Sump for filter @ 157x70 mm

Fagor 12023617 7400901000

374033

—

Supporto filtro @ 220 mm

Fagor 12024367 27200906000

P

SPRUFESS"JNAL SPARES



Undercounter

374268
Wash arm L=490 mm

Fagor 12025122 2650716000
373811
@ Bushing @ 15/19x21/35x12 mm
428049

Protection @ 27x32/35,5x9,5 mm

373635
Wash arm @ 18,20x162 mm
L - 3 holes
N
Fagor 12022381 2440706000
374309

Wash arm support 79x79 mm

I)s PROFESSIONAL SPARES

Wash units

373922

Rinse arm @ 12x145 mm
e 2 nozzle

Fagor 12024137 7461901000

374309

Wash arm support 79x79 mm

373904

' Rinsing nozzle

373882

ﬂ Wash nozzle support L=24,5 mm



Undercounter I)sPRl]FESSI[lNAL SPARES

Wash units

373639 373638
Left rinsing branch @ 12x230 mm - INOX Right rinsing branch @ 12x230 mm - INOX
- with welded cap < with welded cap
Fagor 12022442 12113596 2201902000 Fagor 12022441 12113595 Z201901000
373638 373639
\ Right rinse arm @ 12x230 mm - INOX \ Left rinse arm @ 12x230 mm - INOX
428650 428650
Rinse arm L=460 mm 7 Rinse arm L=460 mm
- S
374073 374073
K3 Rinse arm support L=59,5 mm K> Rinse arm support L=59,5 mm
373761 373761
! Rinse arm shaft @ 22 mm - H=85 mm ! Rinse arm shaft @ 22 mm - H=85 mm
373981 373981
Rinsing nozzle Rinsing nozzle



Undercounter I)SPRUFESSI[INAL SPARES

Wash units

373734 373733
Right rinse arm @ 12x230 mm - Plastic Left rinse arm @ 12x230 mm - Plastic

Fagor 12023527 7208713000 Fagor 12023524 7208712000
373733 373734
\ Left rinse arm @ 12x230 mm - Plastic Right rinse arm @ 12x230 mm - Plastic
374073 374073
K2 Rinse arm support L=59,5 mm K2 Rinse arm support L=59,5 mm
373904 373904
0 Rinsing nozzle 0 Rinsing nozzle
373882 373882
ﬂ Wash nozzle support L=24,5 mm ﬂ Wash nozzle support L=24,5 mm
373031 373031

O 0O-ring 1,78x5,28 mm EPDM O 0O-ring 1,78x5,28 mm EPDM



Undercounter I)SPRUFESSI[INAL SPARES

Wash units

428650 374309
Rinse arm L=460 mm Hub for jets
. concept evo dim. 79x79 mm
| \ -
)
Fagor 12111791 Fagor 12025216 7410704000
373639
428964
\ Left rinse arm @ 12x230 mm - INOX Rinse arm shaft H=38 mm
373638
a Right rinse arm @ 12x230 mm - INOX
\ Fagor 12113893 12163684
426789
374073

Rinse arm shaft M12x1 - H=35,5 mm

Rinse arm support L=59,5 mm

373981
Fagor 12043422
Rinsing nozzle
S
2 427441
Wash arm shaft Htot.=47 mm
426624

Rinse arm L=485 mm

Fagor 12043289

430102

Fagor 12102984 Wash arm shaft @ 14 mm

l? H tot.=82 mm
374073 T
5

Hub for jets L=59,5 mm

ﬁ for shaft @ 12 mm
Fagor 12048535

373846

Fagor 12024470 Z201903000 Rinse arm shaft H=98.5 mm

Fagor 12023844 Z200704000



Undercounter

485797

Fagor

373834

12162079

—_y,

Fagor

374272

Fagor

374079

Fagor

373756

12023801

=

12025133

12024480

Fagor

374074

12023590

Fagor

12024471

I)s PROFESSIONAL SPARES

Wash units

Wash and rinse arm shaft @ 14xHtot. 110
mm

Rinsing union @ 13 mm Htot=102 mm
thread M12

7410712000

Lower wash arm support H=102 mm
M5

7410701000

Wash arm support
@ 103,5xHtot. 132 mm

Z200701000

Wash arm support
rubber holder: @ 11,5 mm, @ 30 mm

Z410703000

Rinse arm support
rubber holder: @ 11,5 mm - @ 29,5 mm

7200702000 Z200707000

373766
Wash arm support
= rubber holder: @ 12 mm - & 30 mm
Fagor 12023613 Z200703000
429332

Wash arm support
rubber holder: @ 30 mm - & 11,5 mm

Fagor 12041614

485821

Wash/rinse arm support
rubber holder: @ 30,5 mm - @ 11,5 mm

Fagor 12166087

429328

Wash arm support
F50 mm -3 30 mm-J 12 mm

Fagor 12047863

374156
Wash manifold H=120 mm

Fagor 12024703 7410702000
373801
G, Connection pipe for jets @ 29,30x39,00
g Ny
e mm L=670 mm
L 4

Fagor 12023699 7200706000



Undercounter
374284

e
Fagor 12025154
373981

K‘a

Fagor 12024252
373904

*

Fagor

373814

12024077

»

Fagor

373736

12023732

o

Fagor

373996

12023533

Fagor

12024289

I)s PROFESSIONAL SPARES

Wash units

Connection pipe for jets
dim. 590x245 mm

7440711000

Rinsing nozzle

Z211903000

Rinsing nozzle

7201905000

Washing nozzle

7400709000

Gasket for arm support @ 36x68x3,2 mm

Z400703000

Disc @ 21x32x2 mm

2650711000

373811
Bushing @ 15/19x21/35x12 mm

Fagor 12023726 12045103 12110631 2650704000
425547

Lower support H=58,5 mm
Fagor 12048042
373908

Bushing @ 12x16/22x8 mm

A

Fagor 12024086 Z410705000
428049

Protection @ 27x32/35,5x9,5 mm
Fagor 12041629
429987

Ring nut
dim. 65x56x14,5 mm

Fagor 12041531
373882

Wash nozzle support L=24,5 mm
Fagor 12024006 7201906000



Undercounter
373807
Fagor 12023710
485801

Fagor

12162316

429924

Fagor

12043288

373005

Fagor

12009829

Wash units

Wash nozzle support L=30 mm

Z400711000

Arandela amarre @ 21,5x31,7x4 mm

Knurled nut M12x1 @ 37 mm H=4 mm

Knurled head screw @ 20 mm - M5x7
mm INOX

Q152016000

I)s PROFESSIONAL SPARES




Undercounter

374026

' Air brake

Fagor

373964

A~

373930

-8

310306

340097

O

429922

1

Fagor
410444

12024350 Z203011000

Air-break screw

T-connection @int. 8,5 mm / Gext. 5,5 mm

Double wire hose clamp @ 7,8+8,3 mm

0-ring 2,62x10,77 mm EPDM

Air brake

12093146

o O-ring 3,53x24,99 mm NBR

425492

Fagor

Air break
rubber holder @ 10 mm

12091121

Air-gaps

373964

Fagor

373930

Fagor

429679

12024222

12024157

Fagor

12104339

I)s PROFESSIONAL SPARES

Air break screw

Z203013000

T-connection @int. 8,5 mm / Dext. 5,5
mm

27203012000

Cap for air breck @ 38xh12,5 mm



Undercounter

373054

Fagor 12009970
373632

“--..‘_‘_‘_4:_‘
Fagor 12022324
429723

Fagor

373871

Fagor

412573

12049669

12023934

e

Fagor

12018735

Hinges
Rivet nut M5 L=12 mm - INOX
Q222011000
Left hinge
7400514000
Thermometers

Thermometer 0+120°C
coated capillary L=1700 mm; bulb & 6x24 mm

Thermometer 0+120°C

capillary L=3500 mm; bulb & 6x30 mm; dima
62x11 mm

7203072000 Z263001

Shaft sealing

Shaft sealing @ 24x11x15,5 mm /
counter-seal @ 26x13x8 mm

shaft sealing in graphite; for pumps FIR
0254-0257-2254/S

7201081000

I)s PROFESSIONAL SPARES




Undercounter

374004

N

Fagor

373912

12024303

Fagor

373973

12024094

®

Fagor

372694

12024235

NS

Fagor

373941

12003212

®

Fagor

12024180

Lockings

Magnet 17x14x12 mm

Z200506000

Magnet protection
dim. 20x17x17 mm

Z200507000

Door catch L=26 mm M5

7200601000

Door locking catch

1272006070 20206077000 2200607000

Support
dim. 20x60 mm

Z200310000

I)s PROFESSIONAL SPARES




Undercounter

P

SPRDFESSIONAL SPARES

374001

Fagor

12024300

Control button

27203069000

426277

Fagor

12115972

Knob @ 39 mm

425959

Fagor

12097081

Boiler @ 150x500 mm

373652

Fagor

428247

Fagor

1200005017

12097279

Dishwhaser boiler 30-72

12022943 Z201701000

Tension spring @ 15,2x136xLtot=230 mm

428938

Fagor

12043429

Spring door




SPRDFESSIONAL SPARES

Undercounter I)

372712
Door 520x405 mm
AD-64 BT DD
Fagor 12003557 12006161 12047310 1222005450
2200556000
374439
Door 417x270 mm
FI-30; FI-30 B; FI-30 UK; FI-30 A.R; FI-30
A.R+DD; FI-30 B-BTUK; FI-48; FI-48 B; FI-48 C
FI-48 D; FI-60 DD; FI-64; FI-64 B; Fl-64 C; FI-6.
D; FI-64 W; FI-64 B-BT; FI-64 HY CLINIC
Fagor 1200005030 1200005072 12038305 12045505

374102
Handle Ivs.
Fagor 12024557 7400542000
422078
Door handle 342x33 mm
Fagor 12024558 Z200551000

374058 374328

Screw M3x8 mm Spacer L=16 mm

” \ thread M3

Fagor 12024424 T133008000 Fagor 12025260 T133007000




Undercounter

426345

Fagor

459644

12048024

Fagor

374201

12008750

Fagor

426342

12024809

Fagor

585599

12110837

Fagor

373888

12189021

Fagor

12024028

I)s PROFESSIONAL SPARES

Printed Circuit Boards

Pcb 230V 50/60Hz
dim. 130x115 mm; fusible 10A

Pcb 230V 50/60Hz
dim. 120x130x55 mm; Advance

7213073000

Timer 5 relay "C" 230V 50/60Hz
dim. 120x128x55 mm

7213069000

Pcb 230V 50/60Hz
dim. 120x130x55 mm; Concept

Pcb
dim. 100x100 mm

Temperature display
dim. 35x100 mm

Z713017000

430086
Display pcb 12V 32digit
dim. 44x122 mm
Fagor 12048027
421628
o Membrane keypads 52x587 mm

Fagor 12009470 7217401000

421945

:- Connection cable L=315 mm
[

Fagor 12023672 Z713021000



Undercounter

374250

Fagor 12025036

429219

Fagor 12110686
373895
Fagor 12024049
373549

Fagor 12020451

485776

&

Fagor 12159163

Temperature probe NTC 64kOhm

Probes

bulb @ 6x14 mm; -40 + +110; cable L=300 mm

Z713028000

Soft-starter 230V 50/60Hz

2VA max

Gasket @ 23x35x7,5 mm

N503017000

Membranes

426881

Membrane keypads LVC-21 458x70 mm

27442901000

Membrane keypads 350x52 mm

flat cable L=64 mm

Fagor

426824

Fagor

12115249

12096763

I)s PROFESSIONAL SPARES

Membrane keypads 350x52 mm

12159169

Membrane keypads 350x52 mm



Undercounter
Membranes
421840
< Membrane keypads 52x586 mm
e AD-48 D
Fagor 12024756 2222906000
421626
> Membrane keypads 73x455 mm
R
L
Fagor 12025131 Z452905000
O-rings
373031 416278
0O-ring 1,78x5,28 mm EPDM
Fagor 12009912 Q307036000 Fagor
422223 581967
0-ring 2,62x20,29 mm EPDM
Fagor 12010282 Q307041000 Fagor
340097 427860

0O-ring 2,62x10,77 mm EPDM

Fagor 12009873 12102808 Q307003000 Fagor

I)sPRUFESSI[lNAL SPARES

O-ring 2,62x13,95 mm NBR

Q307050000

0O-ring 2,62x36,14 - NBR

Q307051000

O-ring 3,00x19,20 mm NBR



Undercounter I)sPRl]FESSI[lNAL SPARES

O-rings
428271 373098
: O-ring 3,50x32,00 mm NBR O 0O-ring 5,34x50,17 mm NBR
Fagor 12115850 Fagor 12010079 Q307052000
373192 435067

0O-ring 3,53x9,12 mm EPDM O-ring 5,34x56,52 mm NBR

O

O

Fagor 12010256 Q307048000 Fagor 12010040 12118319 12154789 Q307044000
337250 373086
: O-ring 3,53x47,22 mm - NBR O O-ring 5,34x62,87 mm NBR
Fagor 12118822 Fagor 12010051 Q307035000
315863 323019
O 0O-ring 3,53x50,39 mm VITON O O-ring 5,34x85,09 NBR
Fagor 12049055 Fagor 12009976 Q307049000
357946 427867
O O-ring 3,53x53,57 mm - NBR o O-ring 6,00x47,00 EPDM
Fagor 12049052 Fagor 12102062
373092

o O-ring @ 5,33x43,82 mm EPDM

Fagor 12010062 Q307053000



Undercounter I)SPRUFESSI[INAL SPARES

Adhesive Gasket
422395
Adhesive EPDM gasket 10x2x625 mm
Fagor 12024174 7200313000
427137

Adhesive gasket 530x15x6 mm

Fagor 12111378
Flat gaskets

373165 485806

Flat gasket @ 6,3x12,2x1,5 mm - Fibra Flat gasket @ 58x72x2 mm EPDM
Fagor 12010206 Q306050000 Fagor 12163602
373154 429105

Flat gasket @ 14x24,4x3 mm Seal 2 110x89x3.5 mm
Fagor 12010191 Q307031000 Fagor 12041925

425499
Flat gasket @ 24,5x37,5x1,8 mm

Fagor 12091122



Undercounter

I)s PROFESSIONAL SPARES

Gaskets for dishwashers

427857
Cover gasket 145x145x5 mm
Fagor 12096947 12103501
374101
Gasket @ext.225x23,5 mm
Fagor 12024556 Z200907000
425848
J | Gasket 565x455 mm
) | profil U
lln
|!|
=3 |
Fagor 12049352 12187087
Feet
373932
Foot M10x40 mm
@ 30xh10 mm
Fagor 12024163 12111542 DO1BC03036 Z200107000
372905

Adjustable INOX foot @ 64 mm -
H=130+200 mm

flange 82x82x2 mm; centre distance 65x65
mm

Fagor 12009104 12033566

6007050017 X260151000



Undercounter
Dishwashing Baskets
374255
Basket 395x395xh145 mm - plastic, for
glasses
Fagor 12025069 7445320000
374100
Basket 352x352x105 mm - plastic, for
glasses
Fagor 12024550 Z415320000

441931
Container cutlery 110x110xh130 mm

Fagor 12023745 7655314000

374240

Basket 500x500xh110 mm - plastic 16/18
dishes

Fagor 12024990 2655302000

P

SPRUFESS"JNAL SPARES



FAGORPISHYWASHING
HOOD N ¥ -

ELECTRICAL

PARTS

WATER MECHANICAL
PARTS PARTS

ELECTRONIC

PARTS GASKETS




Hood Type

I)SPRUFESSI[INAL SPARES

Switches, Push Buttons, Selectors

428626
Momentary switch START @ 22 mm 5V

5A 250V; faston 2,8x0,5 mm

Fagor 12115384
Lamps and Lamp Holders

428365 584452

Green pilot lamp @ 6 mm 2V -

= self-locking
% L=37 mm; lente & 7 mm; faston 2,8 mm

Fagor 12091434 Fagor 12023806
428363 601864

White pilot lamp @ 6 mm 230V -cable

s L=50 mm
% lens 7,3 mm; faston 2,8x0,5 mm .‘k"

Fagor 12132355 Fagor 12217895
430122

White pilot @ 6 mm 2Vdc bianca -
self-locking
L=37 mm; faston 2,8

Fagor 12087178
340420
Orange pilot lamp @ 9 mm 240V -
. self-locking
lens @ 10 mm, L=55 mm - faston 6,3x0,8 mm
Tmax 120°C
Fagor 12024344 Z203079000

Orange pilot lamp @ 13 mm 230V -
self-locking

lens @ 15 mm; L=33 mm; faston 6,3x0,8 mm;
Tmax 120°C

12024254 12024669 R693056000

Pilot lamp @ 9 mm 6V - self-locking

lens @ 10 mm, L=53,5 mm - faston 6,3x0,8 mm
Tmax 120°C



Hood Type I)s PROFESSIONAL SPARES

Contactors and Relays

601891

Contactor 230V AC 50/60Hz
3kW 230V; 400V 5.5kW 3 cont. NO + 1 aux

Fagor 12111795

373883

Mini contactor B7-30-10-F
220-240V 40-450Hz; dim. 47x48x42,5 mm

Fagor 12024011 Z213007000
373892
; ,;.:.o_;g Contactor 3RT1016-2AP02
ij\’}‘}" 9kW 3P; 230V 50/60Hz 400V - 3 NO + 1
%, !.-" ; z - 3 cont.
ok aux NC
Fagor 12024039 Z743009000
373884
Contactor 3TF2001-3AL2
4kW 3P; 230V 50/60Hz; 400V 3 NO + 1NC
Fagor 12024012 7683087000
373804

Relay 2 contacts NO 230V 50/60Hz 16A

e 250V
W with DIN bar adaptor

Fagor 12023706 7203062000 Z683027000



Hood Type I)s PROFESSIONAL SPARES

Microswitches
374077
Magnetic microswitch A061 1V NO
250Vac 0,04A
bulb @ 6x29 mm - cable L=240 mm
Fagor 12024477 6021130029 SAVW250030 Z203009000
373899

Magnet switch support
dim. 34,5x19,5x8,5 mm

Fagor 12024066 Z203010000

Terminal Boards

374260

Terminal board 12 poles 16 mmq 700V
dim. 174x30 mm

Fagor 12025086 2743006000

374276

Terminal 35 mm?
dim. 56,5x16x62,5 mm

Fagor 12025143 R673010000

373699

Terminal 10 mm?
57A 1000V

Fagor 12023373 P453025000



Hood Type
428514
Fagor 12042019
428513

Fagor 12048644

582452

-
e Jh’

Fagor 12093675

373837

Fagor 12023804

373836

o
(P >,l‘,

Fagor 12023803

373851

Fagor 12023856

Pressure Switches

373986
Pressure switch 1 level 2bar 5Vdc aiia
rubber holder @ 5,4 mm »2 '__ l R
.&fa'
o 1}
Emmr
Fagor 12024269
425977
Pressure switch 1 level 55/35 mbar
\
-
Fagor 12091478

Pressure switch 1 level 105/20 mbar
10A 250V

12123407

Pressure switch 1 level 165/95 mbar
contacts capacity 10A 250V

Z713002000

Pressure switch 1 level 28/13 mbar

Z103074000 Z403021000

Pressure switch 1 level 247/222 mbar

Z713098000

I)s PROFESSIONAL SPARES

Pressure switch 3 levels
40/15-120/60-150/95 mbar

27213059000

Boiler pressure chamber



Hood Type
Timers
373939
Timer 4 chambers
6"/180"; 230V 50/60Hz
Fagor 12024177 2243004000
428535
Timer 5 chambers
cycles 40 - 180 seconds; 2 motors 1,1W
230V 50Hz; 375rpm; mod. 7805DV
Fagor 12092150
428534
Timer chambers 5
120 - 6 sec.; 2 motors 230V 50/60Hz; cables
L=280 mm
Fagor 12092148
374106
Timer 5 chambers
2 motors 230V 50Hz; motors slow 1 giro/2
min; motors fast 1 giro/6 sec.
Fagor 12024571 Z713055000
Fans
531364

Compact fan 120x120x38 mm - 20W 230V
50/60Hz

no cable; faston connection 2,8x0,5 mm; 2550
rpm; ball bearing

Fagor 12023862 12031028 12033472 6021050008
Z103066000

I)s PROFESSIONAL SPARES




I)s PROFESSIONAL SPARES

Hood Type
Fuses, Capacitors, RFI Filters
418004
Capacitor for power factor correction 5
uF 400V 50/60Hz
@ 30x51 mm; with screw M8 and lock nut
Fagor 12023600 7258969000
332311
e Capacitor for power factor correction
§ X 10pF 400/450V 50/60Hz
@ 30x71 mm; with screw M8 and lock nut
Fagor 12024346 12024376 12032744 EU206002
V817100000
435812

Fuse @ 5x20 mm 10A 250V fast

Fagor 12024152 R723015000
Pumps

373711 373987

Drain pump 95W 230V 50Hz

inlet @ 24 mm, outlet @ 24 mm - faston 6,3x0,8
mm

Fagor 12023456 Z711007000 Fagor 12024270

373706 584256

Wash pump 1 phase 280W 230V 50/60Hz
1,4A

inlet @ 38 mm; outlet @ 38 mm; cable L=140
mm

Fagor 12023429 Z401001000 Fagor 12024265

Wash pump 1 phase 590W 230V 60Hz -
FA-21

inlet Jext 38 mm, outlet Jext 38 mm; cable
L=210 mm

12102834 2203511000

Wash pump 1 phase 590W 230V 50Hz -
FA-22

inlet Jext 38 mm, outlet Jext 38 mm; cable
L=210 mm; C=10uF/450V

12043287 7201011000



Pumps

Hood Type
373971
Rinse pump 1 phase 250W 220/240V 1,2A
. 50/60Hz
inlet @ 28 mm; outlet @ 26 mm; cable L=210
mm
~
Fagor 12024233 7258965000
373434

Impeller @ 88 mm - 50Hz
M8S - for pump 2/123/FA30

Fagor 12018550 27201082000

422543

Upper holder
dim. 65,5x75x16,5 mm

12021941

Fagor 2710548000

601684

Rinse pump 1 phase 750W 230V 50Hz
inlet @ 60 mm; outlet @ 49 mm; C=20uF/425V

Heating Elements

Fagor 12141346 12295102
428910
Heating element 1800W 230V
@ 20/22x205; triangular flange 83,6x78,8 mm,
dint. 50 mm; cable L = 260 mm; faston 6,3x0,8
T, mm
Fagor 12047457

428901

12045886

Fagor

I)s PROFESSIONAL SPARES

Boiler heating element 4500W 230V

dim. 395x60 mm; flange 29x81 mm; faston 6,3
mm



Hood Type
374173
Fagor 12024732
373869

Fagor 12023926
373926
Fagor 12024146
428929

Fagor 12092787
428911
Fagor 12092825
374133

Fagor 12024645

Heating Elements

373829
Boiler heating element 6000W 230V
L=420 mm; flange @ 98 mm; with bulb housing
L=195 mm; connection M4
2241701000 Fagor 12023778
373613
Boiler heating element 9000W 230V UL
L=425 mm; flange & 97 mm - connection M4
2721701000 Fagor 12021914

Boiler heating element 12000W 230V

L=425 mm; flange @ 98 mm; with bulb housing
L=185 mm; connection M4

Z728306000

Boiler heating element 9000W 230V

L=395 mm; triangular flange 92,5x89,5 mm;
Jint. 60 mm; with bulb housing L=180 mm;
connection M4

Boiler heating element 12000W 230V UL

L=400 mm; triangular flange 92,5x89,6 mm;
gint. 60 mm; with bulb housing L=175 mm;
connection M4

Tank heating element 2800W 230V
dim. 365x102 mm; flange 70x18 mm

7203601000

I)s PROFESSIONAL SPARES

Tank heating element 4500W 230V

dim. 355xh28 mm; flange 81x29 mm; faston
6,3x0,8 mm

2743601000

Support for heating element

2743602000



Hood Type

374174

Fagor

373875

12024733

Fagor

373997

12023965

Fagor

426283

£

Fagor

374222

12024290

12092712

Fagor

12024932

Commutators, Energy Regulators

Commutator 0-4 positions
16A 250V; D-shaft & 6x4,6 mm

Z273005000

Commutator 0-5 positions
16A 250V; D-shaft & 6x4,6 mm

Z743019000

Commutator 0-6 positions
16A 250V; D-shaft & 6x4,6 mm

7683085000

Commutator 0-6 positions
D-shaft & 6x4,6 mm

Commutator 0-6 positions

Z713097000

I)s PROFESSIONAL SPARES




Hood Type I)s PROFESSIONAL SPARES

Thermostats
373806 427998
Bi-metal thermostat 66/57°C 1INA+1NC g Safety thermostat 1P 60°C
16A 250V Vo coated capillary L=850 mm:; bulb @ 6,20x80
faston 6,3 4 E mm; 16A 400V
e
Fagor 12023708 Z718405000 Fagor 12130561 12161299
429016 373844
Bi-metal thermostat 110° 250V 10A Safety thermostat 1P 125°C
faston 6,3 mm ' coated capillary L=870 mm; bulb & 6,5x68 mm
Fagor 12095018 12096597 Fagor 12023830 7213014000
374274 374212
Bi-metal thermostat 1P 115°C Safety thermostat 1P 150°C
bulb @ 20 mm, with manual reset _ P il coated capillary L=1500 mm; bulb & 6x79 mm;
& e gland nut M9x1; support 52,5x40,5x20 mm
oEE————
Fagor 12025141 12046165 R213004000 Fagor 12022001 12024884 12133078 R343039000
374135 373637

Operating thermostat 1P 30+85°C Bulb housing @int. 8,2 mm - Ltot. 97 mm

€ %\
— *% coated capillary L=1500 mm; bulb @& 6x70 mm; ~ ] M12
e gland nut M9x1; D-shaft & 6x4,6 mm \*

Fagor 12024648 R343100000 Fagor 12022418 2263002000
373914 429707
- Operating thermostat 1P 27+85°C Thermostat adjustment to 601 from 85
ik‘x@-j’ coated capillary L=750 mm; bulb & 80 mm e, dim. 40x20 mm; holes @ 4 mm
Sk’ .f“ - -
}_ A= A-\y
e ———
Fagor 12024096 12046152 12134992 2393005000 Fagor 12044848
374107

Operating thermostat 1P 32+90°C
coated capillary L=700 mm; bulb & 6x130 mm

Fagor 12024573 12040858 7203014000



Hood Type

538780

B "

Fagor 12125912
538789
q
b )
Fagor 12125911
337346
€
Fagor 12045206
352922

Fagor 12024105

425801

Fagor 12132254

I)s PROFESSIONAL SPARES

Shower units and Water columns

Flexible pipe inox 1/2" FF L=1050 mm

Inox 18/10 chain link; with thermoplastic cover
and fiberglass gasket

Flexible pipe inox 1/2" FF L=1200 mm

Inox 18/10 chain link; with thermoplastic cover
and fiberglass gasket

Dispensers and Peristaltic pump

Rinse aid hydraulic dispenser adj.
capacity 0+3,6 cc

type 3000; IN & 6x8 mm / OUT @ 8x10 mm;
Pmin 0,5 bar - with filter

12133010

Rinse aid hydraulic dispenser N6

Pmin 0,5 bar, IN 180° @ 4x6 mm / OUT @ 6x8
mm inox

27211109000

Rinse aid peristaltic pump adjustable
capacity

mod. NBR-0,7; adj. capacity 0,7 It/h pres. 3bar
; 230V 50/60Hz; rubber holder @ 5/ & 6,5 mm

427915
O:*
Fagor 12092198

700411

Fagor 12024216
427914
ﬂI@
ol <=l 1
Fagor 12137415

Rinse aid peristaltic pump adj. capacity
[Kit]

mod. NBR-0,7; adj. capacity 0,7 It/h pres. 3bar
; 230V 50/60Hz; rubber holder @ 5/ & 6,5 mm

12136886

Detergent peristaltic pump electronic

adj. time-pause

mod. G300; max capacity 3,0 It/h; 230V 50Hz;
hose & 5x8 mm

12133011 7208903000

Detergent peristaltic pump electronic

adj. time-pause

mod. NBR-3; adj. capacity 3 It/h; pres. 0,1bar;
230V 50/60Hz; rubber holder @ 5/ & 6,5 mm



I)s PROFESSIONAL SPARES

Hood Type
Dispensers and Peristaltic pump
365039
PVC transparent hose @ 4x6 mm (sold
by meter)
Fagor 11000079 3699300000
373924
PVC transparent hose @ 4x6 mm L=2500
mm
. con filtro di fondo @ 20 mm
Fagor 11000148 12003213 12011915 12024139
7230903000 7448614000 Z448618000
410373
: Suction filter in inox for hose @ 4x6 mm
€ @ 20x18 mm
Fagor 12024353 12164632 2701152000
337385
Inlet filter for rinse aid dispenser S3000
Fagor 12011355
438249
Pipe fitting 90° M10 mm inox

thread L=12 mm; elbow fitting @ 4x6 mm

Fagor 12024531 2208927000



Hood Type I)s PROFESSIONAL SPARES

Solenoid Valves and Reducers

435409

Solenoid valve 180° - 1 way - 220/240V
50/60Hz - @ 10,5 mm

with fastons; inlet @ 3/4" with filter; Tmax
90°C

Fagor 10703 12025161 Z701135000

429201

Solenoid valve 90° - 1 way - 220/240V
50/60Hz - @ 10,5 mm
inlet @ 3/4" with filter; Tmax 90°C; Rast5

Fagor 12095427
373740
Solenoid body EV220B 3/4"
L=90,5 mm
Fagor 12023551 7102305000
Ball valves, Pipe fittings
426205 426707
Rubber holder @ 10 mm T-connection @ 20-5-20 mm
dim. 45x80,5 mm
Fagor 12097453 Fagor 12041519
374336 410244
T-connection @ 12-6-12 mm Y-connection @ 10-10-10 mm - brass

T dim. 33x56 mm

Fagor 12025288 2601157000 Fagor Z103077000 7201106000



Hood Type
Ball valves, Pipe fittings
373727
Y-connection @ 12-12-12 mm L=75 mm
Fagor 12023511
374247
: Drive bushings prewash
-
L
&: )
Fagor 12025029 7330790000
374205
Pressure reducer 3/4"
; L=60 mm
¥
Fagor 12024846 Z102307000
441675
Backflow preventer dishwasher
g ‘ ® g rubber holder @ 12 mm
Fagor 12024568 7231105000 Z231106000
Hoses
319711 319710

Formed hose

e

Fagor 12025059 Z711903000

Fagor

12022406

I)s PROFESSIONAL SPARES

Hose @ 12 mm L=200 mm

Z711114000



Hood Type I)s PROFESSIONAL SPARES

Hoses

373800 524324

Formed hose 90° @int. 38/ext. 54 mm _i Rubber feeder hose 3/4" L=1500 mm

L=185/115 mm @ straight connection + 90° plastic connection;

b ring nut in nickel-plated brass @ 3/4"F; pipe @
- == 13x19 mm; Pmax 10 bar; Tmax 90°C;
‘f WRC/WRAS/VDE approved

Fagor 12023698 Z740901000 Fagor 12024115 2602121000
373817 370723

Formed hose 90° @ 37x47 mm EPDM Drain pipe PPE @ 19 mm 180°+ @ 22 mm
dim. 220x105 mm ﬂ 90° L=2000 mm
muffs 180° & int/ext 19/24 mm, muffs 90°

mm. Jint/ext 22/27 mm, Dext hose 24 mm

/

Fagor 12023741 Z710905000 Fagor 12023666 27220903000

373774 374075

Formed hose 90° @ 38x54 mm
dim. 200x70 mm

Drain pipe PPE @ 47 mm F 90°+ @ 25 mm
L=1500 mm

muff 90° Gint/ext 47/60 mm, connection Jint.
25 mm; pipe Dext. 30 mm

/

Fagor 12023625 2710904000 Fagor 12024473 2200910000

427414 429974

Formed hose 90° @ 37x53 mm / @
48,5x61,5 mm EPDM
dim. 220x240 mm

Drain pipe PPE @ 22 mm F 180°+ @ 20 mm
90° L=800 mm
muffs @ 22/29 mm, 90° @ 20/26 mm

)

—
5 ]

Fagor 12045921 Fagor 12041934
435233
Hose EPDM @ 5x12 mm L=2300 mm
\ Tmax 110°C
Fagor 11000066 3702400000

612360

Hose EPDM @ 10x17 mm (sold by meter)

Pmax 10 bar; working temp. -35°C+110°C;
non-toxic

Fagor 11000083 367690000 3676900000 S102121000
27631121000



Hood Type

373010
Ring nut Gext 80 mm

§ /A‘ \ H=14 mm
\ T ,bfj

Fagor 12009844 Q220001000

374329

Drain plate @ 1" 1/2 H=42 mm
overflow pipe hole @ 35/32 mm

Fagor 12025261 Z710903000
373737
o Ring nut 1" 1/2
373050

o Flat gasket @ 44x60x2 mm

I)s PROFESSIONAL SPARES

Drain components

373972

Drain plate @ 1" 3/4 H=39 mm
overflow pipe hole @ 44 mm

Fagor 12024234 Z710902000

373010

Ring nut Gext 80 mm

373785
\ Overflow pipe @ 40x395 mm
374064
\ Overflow pipe @ 40x445 mm
373042
O Flat gasket @ 56x72x2 mm - EPDM
581967
Q O-ring 2,62x36,14 - NBR
373737
Ring nut 1" 1/2
o H=15 mm; CH50
Fagor 12023537 Z710708000
585296
Overflow pipe @ 35x452 mm

Fagor 12048102



Hood Type I) s PROFESSIONAL SPARES

373785
Overflow pipe @ 40x395 mm
Fagor 12023658 Z710901000
426146
Overflow pipe @ 51,65 mm L=455 mm
Fagor 12120611
441269

Water filter 3/4" - L=68 mm
Bronzekérper und

Fagor 12024093




Hood Type

426145
Filter @ 158 mm

Fagor 12049652
585296
%\\ Overflow pipe @ 35x452 mm
428311

Flange @ 52,5x160x53,5 mm

374075

q Drain pipe PPE @ 47 mm F 90°+ @ 25 mm

L=1500 mm

518655

Q Hose clamp @ 40+60/9 mm - INOX

429433

0-ring 2,50x32,00 mm EPDM

O

428277

0O-ring 5,34x126,37 mm EPDM

O

426031
Filter @ 108/143x195 mm

L

Fagor 12049651

I)s PROFESSIONAL SPARES

Filters

428311
Flange @ 52,5x160x53,5 mm

Fagor 12048039

426032

Filter @ 143 mm

Fagor 12048609

374382
Basket filter 170x115xh70 mm INOX

Fagor 12038374 2710804000



Hood Type I)s PROFESSIONAL SPARES

Wash units

374268 373639
Wash arm L=490 mm Left rinsing branch @ 12x230 mm - INOX
' - with welded cap
Fagor 12025122 2650716000 Fagor 12022442 12113596 7201902000
373811 373638
@ Bushing @ 15/19x21/35x12 mm \ Right rinse arm @ 12x230 mm - INOX
428049 428650
Protection @ 27x32/35,5x9,5 mm N Rinse arm L=460 mm
374073
585293
Wash arm L=525 mm “ig Rinse arm support L=59,5 mm
373761
Rinse arm shaft @ 22 mm - H=85 mm
Fagor 12003421 12038375 1227107010 Z710701000
373761
Rinse arm shaft @ 22 mm - H=85 mm 373981
Rinsing nozzle
~
=
373981
_ Rinsing nozzle
=
373792
—n Washer @ 22x36x4 mm
g— &
Sasa
374266

Bushing @ 15x21/23/37xh28 mm

-
-
»



Hood Type I)sPRl]FESSI[lNAL SPARES

Wash units

373638 373734

Right rinsing branch @ 12x230 mm - INOX
with welded cap

Right rinse arm @ 12x230 mm - Plastic

Fagor 12022441 12113595 7201901000 Fagor 12023527 7208713000
373639 373733
'\\ Left rinse arm @ 12x230 mm - INOX Left rinse arm @ 12x230 mm - Plastic
428650 374073
Rinse arm L=460 mm K2 Rinse arm support L=59,5 mm
~~ 1
374073 373904
K2 Rinse arm support L=59,5 mm 0 Rinsing nozzle
373761 373882
g Rinse arm shaft @ 22 mm - H=85 mm ﬂ Wash nozzle support L=24,5 mm
373981 373031

s

Rinsing nozzle 0O-ring 1,78x5,28 mm EPDM
3 O



Hood Type I)s PROFESSIONAL SPARES

Wash units

373733 428650
Left rinse arm @ 12x230 mm - Plastic Rinse arm L=460 mm
¢ concept evo
Fagor 12023524 7208712000 Fagor 12111791
373734 373639
Right rinse arm @ 12x230 mm - Plastic \\ Left rinse arm @ 12x230 mm - INOX
374073 373638
K2 Rinse arm support L=59,5 mm \ Right rinse arm @ 12x230 mm - INOX
373904 374073
0 Rinsing nozzle K2 Rinse arm support L=59,5 mm
373882 373981
Wash nozzle support L=24,5 mm Rinsing nozzle
~
‘ I =
373031
426624

O O-ring 1,78x5,28 mm EPDM Rinse arm L=485 mm

Fagor 12102984

374073
Hub for jets L=59,5 mm

(-I for shaft @ 12 mm

Fagor 12024470 Z201903000




Hood Type
428964
Fagor 12113893
426789

Fagor 12043422
428312
Fagor 12112480
373761
Fagor 12023601
373846
Fagor 12023844
374294
=
IS
Fagor 12025170

Rinse arm shaft H=38 mm

12163684

Rinse arm shaft M12x1 - H=35,5 mm

Wash arm shaft H=58,5 mm

Rinse arm shaft @ 22 mm - H=85 mm

Z710711000

Rinse arm shaft H=98,5 mm

2200704000

Lower wash arm support H=105 mm

2740705000

Wash units

374011

a3

Fagor

429330

12024312

Fagor

374223

Fagor

374220

12047910

12024934

Fagor

485820

12024927

Fagor

430103

Fagor

12165982

R

12048173

I)s PROFESSIONAL SPARES

Wash arm support @ 80,5 mm
rubber holder: @ 40 mm - & 11,5 mm

Z710706000

Wash arm support @ 50,5xHtot. 87 mm
rubber holder @ 12 mm

Wash arm support

Z710705000

Wash arm support

Z740703000

Washing arm support connection

rubber holder @ 12 mm, rubber holder @ 43
mm

Wash arm support L=340 mm



Hood Type
485744
Wash arm support L=340 mm
S
R & 5
e
Fagor 12150658
422509
Plug H=14 mm
CH30
Fagor 12023739 7311809000
373981
Rinsing nozzle
\.
Fagor 12024252 Z211903000
373904
‘ Rinsing nozzle
Fagor 12024077 7201905000
373050
Union burners @ 44x60xh2 mm
Fagor 12009960 Q307058000
373996

Disc @ 21x32x2 mm

Fagor 12024289 2650711000

I)s PROFESSIONAL SPARES

Wash units

373811
Bushing @ 15/19x21/35x12 mm

Fagor 12023726 12045103 12110631 2650704000

373967
Gasket @ 44x82,5x2,5 mm

Fagor 12024227 Z710714000

430105
Wash-rinse arm seal pass through
dim. 119x74x10 mm

Fagor 12048366

430104

Wash-rinse arm lock pass through
rubber holder @ 12 mm - @ 38 mm

Fagor 12048367
374266
Bushing @ 15x21/23/37xh28 mm
-
=
=
Fagor 12025116 Z710712000
428049
Protection @ 27x32/35,5x9,5 mm
Fagor 12041629



Hood Type

425284

_Ji I

Fagor 12048172
373882
Fagor 12024006
425341
-~
=
Fagor 12048171
373792
—~
=4 :
S
Fagor 12023674
429924

Fagor

37300

Fagor

12043288

5

12009829

Wash units

Wash arm shaft adapter

Wash nozzle support L=24,5 mm

Z201906000

Ring nut @ 42,3xh32 mm

Washer @ 22x36x4 mm
thread M3

Z710713000

Knurled nut M12x1 @ 37 mm H=4 mm

Knurled head screw @ 20 mm - M5x7
mm INOX

Q152016000

I)s PROFESSIONAL SPARES




Hood Type

374026

' Air brake

Fagor

373964

A~

373930

-8

310306

340097

O

429922

1

Fagor
410444

12024350 Z203011000

Air-break screw

T-connection @int. 8,5 mm / Gext. 5,5 mm

Double wire hose clamp @ 7,8+8,3 mm

0-ring 2,62x10,77 mm EPDM

Air brake

12093146

o O-ring 3,53x24,99 mm NBR

425492

Fagor

Air break
rubber holder @ 10 mm

12091121

Air-gaps

373964

Fagor

373930

Fagor

429679

Fagor

12024222

12024157

12104339

I)s PROFESSIONAL SPARES

Air break screw

Z203013000

T-connection @int. 8,5 mm / Dext. 5,5
mm

27203012000

Cap for air breck @ 38xh12,5 mm



Hood Type

429723

Fagor

373871

12049669

B — ]
Fagor 12023934
374326
Fagor 12025255
374305
Fagor 12025210
429528

Fagor

12098018

Thermometers

Thermometer 0+120°C
coated capillary L=1700 mm; bulb @ 6x24 mm

Thermometer 0+120°C

capillary L=3500 mm; bulb @ 6x30 mm; dima
62x11 mm

7203072000 Z263001

Bearings

Plastic bearing @ 10x22x7 mm

Z710515000

Bearing @ 37x12x12 mm

2710546000

Roller @ 14/22,5xLtot. 40 mm

I)s PROFESSIONAL SPARES




Hood Type

412573

e

Fagor

374004

Fagor

373912

Fagor

426277

Fagor

373753

12018735

12024303

12024094

12115972

Fagor

12023586

Shaft sealing

Shaft sealing @ 24x11x15,5 mm /
counter-seal @ 26x13x8 mm

shaft sealing in graphite; for pumps FIR
0254-0257-2254/S

27201081000
Lockings
Magnet 17x14x12 mm
2200506000
Magnet protection
dim. 20x17x17 mm
27200507000
Knobs
373758
Knob @ 39 mm
Fagor
373754

Control button b

Z713099000 Fagor

Knob @ 60 mm

Knob @ 60 mm

I)s PROFESSIONAL SPARES




Hood Type

425959
Boiler @ 150x500 mm

Fagor 12097081

373652
Dishwhaser boiler 30-72

Fagor 1200005017 12022943 7201701000

374235

Friction damper 140N @ 28/185-295 mm
RD10 - hole @ 10,2 mm

Fagor 12024980 P630111000

374229
Tension spring @ 35x250xLtot. 426 mm
wire @ 5 mm

Fagor 12024948 Z710528000

428248

Tension spring @ 35x435xLtot. 1000 mm
wire @ 6 mm

Fagor 12048836

Boilers

Springs

374291

Fagor 12025166

373614

Fagor 12021923

430040

<
W

e

Fagor 12048915

I)s PROFESSIONAL SPARES

Spring support L=96,5 mm

2710529000

Spring support140x24 mm

2710543000

Tie rod M10x315 mm



Hood Type I)s PROFESSIONAL SPARES

Structural components

422149
Left side panel 662x662x20 mm INOX

Fagor 12022806 2749312000
421942
Electrical panel box cl
\‘:— v s
_v{ .-‘;" 2 l
Fagor 12022539 Z713037000
Handles

374102 428976

Handle Ivs. Roller @ 14,5/48,5x11,5 mm

&

Fagor 12024557 Z400542000 Fagor 12098068
373881

Door handle L=295 mm
Fagor 12010961 12024005 7200512000 Z200550000

422090
Door handle L=560 mm

Fagor 12023881 2720504000



Hood Type I)s PROFESSIONAL SPARES

Printed Circuit Boards

374328 373709

Spacer L=16 mm H i Membrane keypads

Q thread M3 [

& o L+
Lo i

Fagor 12025260 T133007000 Fagor 12023437 2742916000

426345 373888

Pcb 230V 50/60Hz Temperature display
dim. 130x115 mm; fusible 10A " dim. 35x100 mm

Fagor 12048024 Fagor 12024028 Z713017000
459644 430086
Pcb 230V 50/60Hz Display pcb 12V 32digit
dim. 120x130x55 mm; Advance s dim. 44x122 mm
Fagor 12008750 7213073000 Fagor 12048027
374201 421945
Timer 5 relay "C" 230V 50/60Hz :- Connection cable L=315 mm
dim. 120x128x55 mm i
Fagor 12024809 7213069000 Fagor 12023672 Z713021000

426342

Pcb 230V 50/60Hz
dim. 120x130x55 mm; Concept

Fagor 12110837

585599

Pcb
dim. 100x100 mm

Fagor 12189021



Hood Type
Probes

374250
Temperature probe NTC 64kOhm

- bulb @ 6x14 mm; -40 + +110; cable L=300 mm

- — 20

Fagor 12025036 Z713028000

373895
Gasket @ 23x35x7,5 mm

Fagor 12024049 N503017000
Membranes
426847
Membrane keypads 300x50 mm
&
Fagor 12087170
373710
Membrane keypads
Fagor 12023441 2712935000
Evaporator

429147
Evaporator 440/500x255x75 mm

Fagor 12048309

I)s PROFESSIONAL SPARES




I)sPRUFESSI[lNAL SPARES

Hood Type
O-rings

373031 428961

0O-ring 1,78x5,28 mm EPDM O-ring 3,53x13,87 mm EPDM
Fagor 12009912 Q307036000 Fagor 12049214
429433 337250

0O-ring 2,50x32,00 mm EPDM : O-ring 3,53x47,22 mm - NBR
Fagor 12048748 Fagor 12118822
340097 373114

0-ring 2,62x10,77 mm EPDM O O-ring 3,53x47,53 mm EPDM
Fagor 12009873 12102808 Q307003000 Fagor 12010118 Q307057000
416278 357946

: 0-ring 2,62x13,95 mm NBR O 0O-ring 3,53x53,57 mm - NBR
Fagor 12009837 Q307050000 Fagor 12049052
581967 435067
O O-ring 2,62x36,14 - NBR O 0O-ring 5,34x56,52 mm NBR

Fagor 12010165 Q307051000 Fagor 12010040 12118319 12154789 Q307044000
373192 373086

O-ring 3,53x9,12 mm EPDM O O-ring 5,34x62,87 mm NBR
Fagor 12010256 Q307048000 Fagor 12010051 Q307035000



Hood Type
427867
Fagor 12102062
373165
Fagor 12010206
373162

O

Fagor 12010203
373154
Fagor 12010191
425499

Fagor

O

12091122

O-rings
O-ring 6,00x47,00 EPDM
Flat gaskets
485806
Flat gasket @ 6,3x12,2x1,5 mm - Fibra
Q306050000 Fagor 12163602
373045
Flat gasket @ 21x30x1,6 mm - Fibra
Q306038000 Fagor 12009947
373042
Flat gasket @ 14x24,4x3 mm
Q307031000 Fagor 12009937

Flat gasket @ 24,5x37,5x1,8 mm

I)SPRUFESSI[INAL SPARES

Flat gasket @ 58x72x2 mm EPDM

Flat gasket @ 21x32x3 mm - EPDM

Q307032000

Flat gasket @ 56x72x2 mm - EPDM

Q307059000



Hood Type I)s PROFESSIONAL SPARES

Gaskets for dishwashers

427857
Cover gasket 145x145x5 mm
Fagor 12096947 12103501
422100
Gasket 85x100x2 mm
Fagor 12023517 2710547000
Filters
427270
Hood filter inox 285x442 mm
Fagor 12048626 1227109070 Z710907000
Feet
374287 428321
Foot M6x14 mm Adjustable foot H=16+65 mm
@ 20xh14 mm dim. 59x39x85 mm; foot & 40 mm
Fagor 12025159 7710316000 Fagor 12048723
372905
GG Adjustable INOX foot @ 64 mm -
H=130+200 mm
flange 82x82x2 mm; centre distance 65x65
mm

Fagor 12009104 12033566 6007050017 X260151000



Hood Type I) s PROFESSIONAL SPARES

441931
Container cutlery 110x110xh130 mm

Fagor 12023745 2655314000

374240
Basket 500x500xh110 mm - plastic 16/18
dishes

Fagor 12024990 2655302000

425695
Basket support 505x505x70 mm

7

Fagor 12045909




FAGORPISHYWASHING
HAUK S N

ELECTRICAL

PARTS

WATER MECHANICAL
PARTS PARTS

ELECTRONIC

PARTS GASKETS




Rack Type
374261
Fagor 12025094
428624

T
(=] o

Fagor

428625

12120235

Fagor

428623

12120237

Fagor

584452

12120238

Fagor

12023806

Switches, Push Buttons, Selectors

Momentary push switch double-pole
black 22x30 mm
16(4)A 250V; faston 6,35x0,8 mm

7513022000

Emergency push button @ 40 mm
250V 16A - without contact

Emergency push button contact 1NC
250V 16A

Contact block support

Lamps and Lamp Holders

Orange pilot lamp @ 13 mm 230V -
self-locking

lens @ 15 mm; L=33 mm; faston 6,3x0,8 mm;
Tmax 120°C

12024254 12024669 R693056000

I)s PROFESSIONAL SPARES




Rack Type I)s PROFESSIONAL SPARES

Contactors and Relays

601891 373804
Contactor 230V AC 50/60Hz Relay 2 contacts NO 230V 50/60Hz 16A

3kW 230V; 400V 5.5kW 3 cont. NO + 1 aux T 250V
W with DIN bar adaptor

Fagor 12111795 Fagor 12023706 7203062000 Z683027000

373883

Mini contactor B7-30-10-F
220-240V 40-450Hz; dim. 47x48x42,5 mm

Fagor 12024011 7213007000
373892
; ,;.:.o_;g Contactor 3RT1016-2AP02
’Sf*}“}” 9kW 3P; 230V 50/60Hz 400V - 3 NO + 1
%, !.-" ; z - 3 cont.
ok aux NC
Fagor 12024039  Z743009000

375736

Contactor 3RT2024-1AL20

5,5kW 3P; 230V 50-60Hz 400V cont. 3 NO
dim. 45x91x88 mm

Fagor 12024075 X183011000

426296

Contactor 3RT2024-2AL20

5.5kW 3P; 230V 50/60Hz; 400V 1NO + 1NC;
dim. 97x35x102 mm

Fagor 12041014

373884

Contactor 3TF2001-3AL2
4kW 3P; 230V 50/60Hz; 400V 3 NO + 1NC

Fagor 12024012 7683087000



Rack Type
Microswitches

373938

>

Limit switch microswitch 6A 250V IP66

Fagor 12024176 2273016000

374104

Magnetic microswitch E532 1NO 250V
5 0,4A
—— !
dim. 20x65x9 mm; cable L=300 mm

—

Fagor 12024560 7100522000
423448
Snap action microswitch with lever
4,30x50 mm
3 16A 250V
i
Fagor 12024696 P530558000

Terminal Boards

374276

Terminal 35 mm?
dim. 56,5x16x62,5 mm

Fagor 12025143 R673010000

Pressure Switches

373850 373849

Pressure switch 1 level 205/40 mbar

Fagor 12023855 Z273006000 Fagor

I)SPRUFESSI[INAL SPARES

Pressure switch 1 level 50/35 mbar



Rack Type

Pressure Switches

586430

Pressure switch 1 level 155/40 mbar

Fagor 12025063 7513001000
Fans

531364

Compact fan 120x120x38 mm - 20W 230V

50/60Hz

no cable; faston connection 2,8x0,5 mm; 2550

rpm; ball bearing
Fagor 12023862 12031028 12033472 6021050008

2103066000
Fuses, Capacitors, RFI Filters

332311

Capacitor for power factor correction
10pF 400/450V 50/60Hz
@ 30x71 mm; with screw M8 and lock nut

12024346
V817100000

Fagor 12024376 12032744 EU206002

435812
Fuse @ 5x20 mm 10A 250V fast

Fagor 12024152 R723015000

Motors

373684 374176

Gearmotor 3 phase 180/250W 230/400V
50Hz
reduction ratio 60:1

Fagor 12023304 2315001000 Fagor 12024739

I)s PROFESSIONAL SPARES

Gearmotor 3 phase 250W 230/400V 50Hz
1,4/0,82A

2275073000



Rack Type

Motors

585756

Fagor

Gearmotor 3 phase 250/300W 230-480V
50/60Hz
reduction ratio VF44

12157513/MO
TOREDUCTE
URCED

359645

Fagor

374147

Fagor

373706

Fagor

373987

Fagor

Shaft sealing @ 20x35x7 mm

12025169 2105016000

Lever L=91 mm H=97,5 mm

q ' Jint. 45 mm, Dext. 34/50 mm

12018799 12024681 12163312 7105025000
Pumps

584256

Wash pump 1 phase 280W 230V 50/60Hz
1,4A

inlet @ 38 mm; outlet @ 38 mm; cable L=140
mm

12023429 Z401001000 Fagor

Wash pump 1 phase 590W 230V 60Hz -
FA-21

inlet @ext 38 mm, outlet Jext 38 mm; cable
L=210 mm

12024270 12102834 2203511000

12024265

12043287

I)s PROFESSIONAL SPARES

Wash pump 1 phase 590W 230V 50Hz -
FA-22
inlet Jext 38 mm, outlet Jext 38 mm; cable
L=210 mm; C=10uF/450V

7201011000



Rack Type
Heating Elements

373960
Boiler heating elements 9000W 230V

L=540 mm, triangular flange H=90 mm, with
bulb housing

Fagor 12024214 2121741000

374177

Boiler heating element 6000W 240V

L=540 mm; triangular flange 90x90 dint. 60
mm; with bulb housing; connection M4

Fagor 12024740 Z101740000

374168
Boiler heating element 12000W 230VUL

L=550 mm; triangular flange 92,5x89,7 mm;
3 @int. 60 mm; with bulb housing L=180 mm;
.

connection M4

Fagor 12024721 2129502000

374206

Heating element 1500W 230V

dim. 473x50x25 mm with flaps; connections
M12/M4

Fagor 12024856 7106322000 7276391000
373992

Heating element cover @ 63x67,5x55,3
mm

Fagor 12024282 2101723000

I)s PROFESSIONAL SPARES




Rack Type I)s PROFESSIONAL SPARES

Commutators, Energy Regulators

485785

Commutator 0-3 positions
16A 250V; D-shaft & 6x4,6 mm

Fagor 12159778

374174

Commutator 0-4 positions
16A 250V; D-shaft & 6x4,6 mm

Fagor 12024733 Z273005000

374089

Commutator gasket @ 11x26x3,5 mm

"’9‘,&" 400V; with manual reset

_

2

|

Fagor 12024516 R663046000
Thermostats
373914 373844
_—— Operating thermostat 1P 27+85°C Safety thermostat 1P 125°C
i{ e coated capillary L=750 mm; bulb & 80 mm * coated capillary L=870 mm; bulb & 6,5x68 mm
Lt ?f )
—— "‘ﬂﬁ"—
Fagor 12024096 12046152 12134992 Z393005000 Fagor 12023830 7213014000
374107 374167
Operating thermostat 1P 32+90°C el 3‘3’ Safety thermostat 1P 30+150°C
coated capillary L=700 mm; bulb & 6x130 mm _ﬁ' capillary L=850 mm; bulb @ 6x70 mm; 16A

B\

Fagor 12024573 12040858 27203014000 Fagor 12024720 2276365000



Rack Type I)s PROFESSIONAL SPARES

Thermostats

373637
Bulb housing @int. 8,2 mm - Ltot. 97 mm

\* M12

Fagor 12022418 2263002000
583287
A Thermostat adjustment 70°C
IR dim. 35x35x1,4 mm
ol
Fagor 12001921 Z273073000

422430

Thermostat support
dim. 35,5x17x48,7 mm

Fagor 12023093 50950798 7850111000

Shower units and Water columns

538780

Flexible pipe inox 1/2" FF L=1050 mm

Inox 18/10 chain link; with thermoplastic cover
and fiberglass gasket

Fagor 12125912

538789

Flexible pipe inox 1/2" FF L=1200 mm

Inox 18/10 chain link; with thermoplastic cover
and fiberglass gasket

Fagor 12125911



Rack Type
Solenoid Valves and Reducers

435409

Solenoid valve 180° - 1 way - 220/240V
50/60Hz - @ 10,5 mm

with fastons; inlet @ 3/4" with filter; Tmax
90°C

Fagor 10703 12025161 Z701135000

373831

Solenoid valve 180° - 2 way - 200-240V
50/60Hz - @ 10,5 mm

with fastons; inlet @ 3/4" with filter and
reducer 14 It/min; Tmax 90°C

Fagor 12023794 12147323 P255001000

427335

Outlet pressure reducer 8 It/min [red]

Fagor 12024045 12096626 2601156000
421947
Solenoid brass valve EV220B - NC - G3/4"
- 230V 50/60Hz
L=90,5 mm
Fagor 12003854 12044532 7102322000
Ball valves, Pipe fittings
373878 422337
Rubber holder M24x2,5 - outlet @ 11,5
mm
Ltot.=52 mm

Fagor 12023976 Z271901000 Fagor 12045041

I)s PROFESSIONAL SPARES

Rep. t complete

7311101000



Rack Type I)s PROFESSIONAL SPARES

Ball valves, Pipe fittings

374247
- Drive bushings prewash
-
@y
&z 3
Fagor 12025029 Z330790000
374205
Pressure reducer 3/4"
L=60 mm
Fagor 12024846 Z102307000
Hoses
422106 435233
Formed hose 90° @ 52x63 mm Hose EPDM @ 5x12 mm L=2300 mm
dim. 150x150 mm Tmax 110°C
Fagor 12024997 2310905000 Fagor 11000066 3702400000
373817 373920
Formed hose 90° @ 37x47 mm EPDM Drain pipe PPE @ 27 mm F 90°+ @ 24 mm

libero L=2100 mm

- muffs 90° @ int/ext 31/39 mm, connection Jint.

dim. 220x105 mm

24 mm, @ext hose 30 mm

Fagor 12023741 Z710905000 Fagor 12024114 12067267 6007170373  Z400908000
373774 374075
Formed hose 90° @ 38x54 mm _}”‘\ Drain pipe PPE @ 47 mm F 90°+ @ 25 mm
dim. 200x70 mm - . L=1500 mm

muff 90° Jint/ext 47/60 mm, connection Jint.

||ﬂ 25 mm; pipe Dext. 30 mm

Fagor 12023625 Z710904000 Fagor 12024473 Z200910000



Rack Type

373010
Ring nut Gext 80 mm

, /A‘ H=14 mm
Fagor 12009844 Q220001000
373770
- Drain plate @ 2" 1/4 H=131 mm
Fagor 12023618 Z310901000
374329

Drain plate @ 1" 1/2 H=42 mm
overflow pipe hole & 35/32 mm

Fagor 12025261 Z710903000
373737
o Ring nut 1" 1/2
373050

O Flat gasket @ 44x60x2 mm

Drain components

373972

Fagor

373010

0

373785

/

374064

/

373042

O

581967

O

373737

O

Fagor

421998

12024234

12023537

I)s PROFESSIONAL SPARES

Drain plate @ 1" 3/4 H=39 mm
overflow pipe hole @ 44 mm

Z710902000

Ring nut Gext 80 mm

Overflow pipe @ 40x395 mm

Overflow pipe @ 40x445 mm

Flat gasket @ 56x72x2 mm - EPDM

0O-ring 2,62x36,14 - NBR

Ring nut 1" 1/2
H=15 mm; CH50

Z710708000

Overflow pipe @ 38x315 mm

Fagor

12005138

7510911000



Rack Type
374064
Overflow pipe @ 40x445 mm
Fagor 12024449 2270901000
422092

Overflow handle M8 - L=215 mm

Fagor 12024030 7510924000

421660
Overflow handle M8 - L=330 mm

Fagor 12025028 7510916000
373002
Gasket @ 46x72x15 mm
Fagor 12009817 Q307026000
373043
Flat gasket @ 48x70,5x1,9 mm
Fagor 12009939 Q307009000
373077
Flat gasket @ 35x45x2 mm
Fagor 12010028 Q307027000

Drain components
374012
— :

Fagor 12024315

374021

Fagor 12016981

373043

I)s PROFESSIONAL SPARES

Ring nut for drain plate1” 1/2 - H=14 mm

Z702101000

Drain plate 1" 1/2 H=43 mm
overflow pipe hole @ 41-37 mm

12024339 9722111000 2102104000

o Flat gasket @ 48x70,5x1,9 mm

374012

— :

T

374334

Fagor 12025276

Ring nut for drain plate1” 1/2 - H=14 mm

Nut 1" 1/2 H=16,5 mm

7602102000



P

SPRDFESSIONAL SPARES

Rack Type

441269
Water filter 3/4" - L=68 mm
Bronzekdrper und

Fagor 12024093

374316

n Extractor filter @ 76x75 mm
Fagor 12025229 2310906000
373993
. Filter @ 82,5x64 mm
Fagor 12024284 2600906000

372718 422171
Double curtain 620xh280/400 mm Shaft @ 8x489 mm
- o
Fagor 12006760 1272764290 Fagor 12023843 7510714000
372719 373648
Double curtain 620xh460/400 mm Support for curtain
- with lock flange
Fagor 12006850 1222764190 Z276419000 Fagor 12022737 27270326000




Rack Type

373240

Complete rinsing branch

‘j_ dim. 540/570x650 mm
%

Fagor 12003794 12038366 7271902000
422592
Y Support for upper jets
Fagor 12025153 7330789000
422509
Plug H=14 mm
CH30
Fagor 12023739 7311809000
422159
Plug 3/4"

Fagor 12024288 7311103000

373981

Rinsing nozzle
2N
|

Fagor 12024252 7211903000

373745

Prewashing nozzle

Fagor 12023568 7311831000

I)s PROFESSIONAL SPARES

Wash units

374003
Closing plug @ 27,40 mm H=32,70 mm

Fagor 12024302 2270721000
373995
% Closure plug @ 32,20 mm H=32,70 mm
Fagor 12024287 2310721000
373050
Union burners @ 44x60xh2 mm
Fagor 12009960 Q307058000
422368
. Rinse actuator buffer @ 32x17 mm
Fagor 12025269 7510342000
373807
Wash nozzle support L=30 mm
Fagor 12023710 7400711000
421588

Economiser

W 515x500 mm

Fagor 12038937 2511202000



Rack Type
Wash units
422156
Lever @ 14,5x58/41x13 mm
Fagor 12024894 2511209000
422595
Shaft @ 8x595 mm
\ thread M4
Fagor 12025057 2510708000
Air-gaps
374026 373964
' Air brake
Fagor 12024350 7203011000 Fagor
373964
373930
l Air-break screw
373930
T-connection @int. 8,5 mm / @ext. 5,5 mm
‘ Fagor
310306
Double wire hose clamp @ 7,8+8,3 mm
Q-
340097

O-ring 2,62x10,77 mm EPDM

O

12024222

12024157

I)s PROFESSIONAL SPARES

Air break screw

Z203013000

T-connection @int. 8,5 mm / Gext. 5,5
mm

2203012000



Rack Type I) s PROFESSIONAL SPARES

373054

Rivet nut M5 L=12 mm - INOX
Fagor 12009970 Q222011000
421648

/ Thermometer 0+120°C 58x25 mm
e 4 coated capillary L=3470 mm; bulb & 6x34 mm

s

Fagor 12023939 7513023000

374278

Manometer 0+10 bar @ 53 mm; bottom
connection @ 1/4" BSP

Fagor 12025146 7102316000

359459 373659
Bearing @ 17x35x10 mm Bearing support @ 35x44/120x80 mm

Fagor 12025150 Z105017000 Fagor 12023167 27105021000

373660

Bearing support
@ 35x120x80 mm

Fagor 12023176 7275021000




Rack Type I) s PROFESSIONAL SPARES

374083

Magnet @ 5x30x15 mm
Fagor 12024499 2271207000
373973

Door catch L=26 mm M5
Fagor 12024235 7200601000
372694

Door locking catch
Fagor 12003212 1222006070 20206077000 Z200607000
426277

Knob @ 39 mm
Fagor 12115972

374440
Boiler @ 220x580 mm

Fagor 1200003017 12038306




Rack Type
Springs

373787

S

Shaft @ 8x74,5 mm

Fagor 12023661 2270514000

374151
Roll spring W=40 mm @ 42 mm

Fagor 12024689 Z270513000
373791
. Support for spring @ 46x27,5 mm
373791

Support for spring @ 46x27,5 mm
dint. 8,5/ext. 36/46 mm H=27,5 mm

Fagor 12023671 2270512000

Slide Ways - Shelf Supports

421895

Door guide
\, dim. 877x37x13 mm

Fagor 12023646 7510331000

374148

Door guide
\ dim. 620x37x13 mm

Fagor 12024682 Z270336000

I)s PROFESSIONAL SPARES




Rack Type I)s PROFESSIONAL SPARES

Transmission components

374110
Shaft
Fagor 12024595 2275011000
374057
Limiter
Fagor 12024421 Z105008000
373454
Corona dentata 222 @ext 94 mm
Fagor 12018753 Z105009000
374228
Gear wheel @ 152 mm H=40 mm
(& J
B0
Fagor 12024945 2515033000
421671

Busch for auxiliary wheel @ 25,30x35,85
mm L=76 mm

Fagor 12023905 7515036000



Rack Type
373744
Fagor 12023565
374007

»

Fagor

583401

\

Fagor

583605

Fagor

485814

12024307

12031651

12032894

Fagor

12165870

Finger Links

Pin plate

7515041000

Guide slide
dim. 49,5x27x16 mm

2275075000

Roller @ 40x500 mm
shaft @ 10x15 mm

12048195 INXC401001

Roller @ 40x500 mm PVC
shaft @ 10x540 mm

6020000446

Thermoregulators

Thermoregulator EV3X21N + software
input: 1 sonde NTC; 1 relay output 230V

I)s PROFESSIONAL SPARES




Rack Type I)sPRl]FESSI[lNAL SPARES

Inverter and motor controls

485828

Inverter 1 phase 370W 200-240V 47-63Hz -
configurated

output 3 phase 0-230V 2,3A 0-550Hz; dim.
150x90x115 mm

Fagor 12167527
O-rings
582099 373182
: 0O-ring 2,62x7,59 mm EPDM O O-ring 3,53x12.29 mm EPDM
Fagor 12010259 Q307070000 Fagor 12010234 Q307063000
340097 438483
0O-ring 2,62x10,77 mm EPDM : O-ring 3,53x44,45 mm NBR

Fagor 12009873 12102808 Q307003000 Fagor 12009633 Q307071000
581967 373114

O 0-ring 2,62x36,14 - NBR O 0-ring 3,53x47,53 mm EPDM
Fagor 12010165 Q307051000 Fagor 12010118 Q307057000
373192 435067

0O-ring 3,53x9,12 mm EPDM O 0O-ring 5,34x56,52 mm NBR

Fagor 12010256 Q307048000 Fagor 12010040 12118319 12154789 Q307044000



Rack Type

373162

O

Fagor

373746

12010203

o

Fagor

373045

12023571

O

Fagor

373042

12009947

O

Fagor

427270

12009937

Fagor

12048626

Flat gaskets

Flat gasket @ 21x30x1,6 mm - Fibra

Q306038000

Joint washer 92x66x2

7310902000

Flat gasket @ 21x32x3 mm - EPDM

Q307032000

Flat gasket @ 56x72x2 mm - EPDM

Q307059000

Filters

Hood filter inox 285x442 mm

12727109070 Z710907000

I)SPRUFESSI[INAL SPARES




Rack Type I) s PROFESSIONAL SPARES

372905
Adjustable INOX foot @ 64 mm -
H=130+200 mm
flange 82x82x2 mm; centre distance 65x65
mm
Fagor 12009104 12033566 6007050017 X260151000
374240

Basket 500x500xh110 mm - plastic 16/18
dishes

Fagor 12024990 27655302000




r\C
RAUNDR ¥

ELECTRICAL

PARTS

WATER MECHANICAL
PARTS PARTS

ELECTRONIC

PARTS GASKETS

CONSUMABLES ACCESSORIES



Laundry PSPRUFESSIONAL SPARES

Switches, Push Buttons, Selectors

374469
Momentary push switch orange 22x30
mm
16A 250V; faston 6,3x0,8 mm

Fagor 12039115 27213033000

428624

Emergency push button @ 40 mm
250V 16A - without contact

-
e
o =

Fagor 12120235

428625

Emergency push button contact 1NC
250V 16A

Fagor 12120237

428623
Contact block support

Fagor 12120238

Contactors and Relays

601891 373883

Contactor 230V AC 50/60Hz
3kW 230V; 400V 5.5kW 3 cont. NO + 1 aux

Mini contactor B7-30-10-F
220-240V 40-450Hz; dim. 47x48x42,5 mm

Fagor 12111795 Fagor 12024011 Z213007000



Laundry

373892

Fagor

375736

12024039

Fagor

426296

12024075

Fagor

373884

Fagor

373804

Fagor

12041014

12024012

12023706

Contactors and Relays

Contactor 3RT1016-2AP02

9kW 3P; 230V 50/60Hz 400V - 3 cont. NO + 1
aux NC

Z743009000

Contactor 3RT2024-1AL20

5,5kW 3P; 230V 50-60Hz 400V cont. 3 NO
dim. 45x91x88 mm

X183011000

Contactor 3RT2024-2AL20

5.5kW 3P; 230V 50/60Hz; 400V 1NO + 1NC;
dim. 97x35x102 mm

Contactor 3TF2001-3AL2
4kW 3P; 230V 50/60Hz; 400V 3 NO + 1NC

27683087000

Relay 2 contacts NO 230V 50/60Hz 16A
250V
with DIN bar adaptor

7203062000 Z683027000

I)s PROFESSIONAL SPARES




Laundry
374310
Fagor 12025218
423448

Fagor

305837

12024696

e

Fagor

373938

s

12025193

Fagor 12024176
374077

!;'\‘.E;
Fagor 12024477
584470
—
ArE————e O
Fagor 12032827

Microswitches

Snap action microswitch with lever
4,3x27 mm
operating force 200 gr

P620526000

Snap action microswitch with lever
4,30x50 mm
16A 250V

P530558000

Snap action microswitch with roller 16A
250V

leverage L=25 mm; 1 contact NO, 1 contact
NC

R010534000

Limit switch microswitch 6A 250V IP66

7273016000

Magnetic microswitch A061 1V NO
250Vac 0,04A
bulb @ 6x29 mm - cable L=240 mm

6021130029 SAVW250030 Z203009000

Magnetic microswitch M12x1 L=45 mm
1NO; 50W 1A; cable L=500 mm

DO1FB02230

429119

ﬁ

¥

Fagor 12114100
433855

e
—aa_

Fagor 12090513
373666

Fagor 12023211
583446

Fagor

427273

12033578

Fagor

373899

12145377

Fagor

12024066

I)s PROFESSIONAL SPARES

Magnetic switch M12x1 10+30Vdc
cable L=5100 mm

12132802 12235966 12235968

Magnetic microswitch 230V
dim. 10x32x5,5 mm; cable L=500 mm

DO1DG11734

Door electromagnet 36Vdc
cable L=100 mm

P613002000

Floating ball for level regulator @ 69 mm
INOX

4GH49G001

Magnetic microswitch support

Magnet switch support
dim. 34,5x19,5x8,5 mm

7203010000



Laundry PSPRUFESSIONAL SPARES

Microswitches

373058

Plate for microswitch
dim. 45x30x2 mm

Fagor 12009985 R010535000

Terminal Boards

374260

Terminal board 12 poles 16 mmq 700V
dim. 174x30 mm

Fagor 12025086 Z743006000

584469
Terminal board 4 mmq 600V 20A

Fagor 12037165 12168683 DO1DL14150

374276

Terminal 35 mm?
dim. 56,5x16x62,5 mm

Fagor 12025143 R673010000
Pressure Switches
425994 582525
Pressure switch 1 level 0+50 mbar Pressure switch 20...300 Pa
0,5+3,5VDC

IN 5Vdc; Pmax 200mbar; easy touch

Fagor 12128262 Fagor 12030005 12038183 12147265 12149895



Laundry

Pressure Switches

584466

Pressure switch 0,2mbar
1NC, 1NO; Pmax 150mbar

Fagor 12028348 12029280 DO1AB01460 DO4PRS0041

374376

Differential pressure switch 0,4-6 mbar

Fagor 12032026 12049069 DO1AB01439 DO1AB01475
374320
Pressure reducer @ 5 - 3 mm L=19 mm
m'
Fagor 12025248 P613021000
Fans
531364
Compact fan 120x120x38 mm - 20W 230V
50/60Hz
no cable; faston connection 2,8x0,5 mm; 2550
rpm; ball bearing
Fagor 12023862 12031028 12033472 6021050008
2103066000
373917

Compact fan 170x150x50 mm - 230V
50/60Hz 0,28/0,24A
cable L=290 mm

Fagor 12024106 T453005000

I)s PROFESSIONAL SPARES




I)s PROFESSIONAL SPARES

Laundry
Motors

585209 373664
Motor 3 phase 550W 220/380V 50Hz Motor 3 phase 1100W 230V 60Hz
shaft @ 14x30 mm; 2730rpm ] 3555 rpm; cable L=220 mm

Fagor 12149160 1DCO07288 Fagor 12023195 P625905000

373677

583604
Gear FRC050 @ 14/25 mm V-ribbed belt L=1600x18,8x3,5mm
reduction ratio 30:1

Fagor 12087148 DO1DCO07056

583155

Motor 3 phase 370W 230/400/460V 50/60Hz
shaft @ 14x30 mm

Fagor 12027573 12049034 12087150 DO1DC07052
DO1DCO07057
423450
Motor 3 phase 750W 230V 60Hz
3555rpm
Fagor 12023197 P615906000
485751

V-ribbed belt L=1200x14 mm

373662

Motor 3 phase 3000W 230V 60Hz
3548rpm; cable L=260 mm

Fagor 12023189 P645902000

373673

@ V-ribbed belt L=1854x3,5x28,4 mm
373663

Motor 3 phase 2200W 230V 50/60Hz
2800rpm

Fagor 12023194 P635906000

374217
Shaft sealing @ 125x150x12 mm RG

Fagor 12024916 P666014000



Laundry I)sPRl]FESSI[lNAL SPARES

Motors
422819
Shaft sealing @ 125x150x12 mm VITON
Fagor 12023457 P666021000
583857

Electromagnetically released spring
breake 85W 205Vdc 235NM
cable L=660 mm

Fagor 12147306
Heating Elements

373960 428918

Boiler heating elements 9000W 230V Heating element 3000W 230V UL

L=550 mm; triangular flange 92,5x89,7 mm; dim. 275x65 mm; flange 81x28 mm; faston 6,3

bulb housing L=180 mm mm
Fagor 12024214 2121741000 Fagor 12023247 12096023 4XFP6230050 P623005000

00
SAVW130014

374381

Heating element 2000W 230V 427610

dim. 540x45 mm; connection M12x1; faston Heating element 4000W 230V

6,3 L=345 mm; flange 80x28 mm; faston 6,3 mm
Fagor 12032899 DO1AC02259

Fagor 12096051

428913

Heating element 2000W 230V UL 373670

M4

dim. 265x65 mm; flange 81x28 mm; faston 6,3 Heating element 4000W 230V UL
e mm % dim. 355x65 mm; flange 81x28 mm; connection
“ g

Fagor 12024816 12096226 P613008000

Fagor 12023242 4XFP1830020 P633002000
00



Laundry
Heating Elements

374108
Heating element 6000W 230V UL

dim. 510x65 mm; flange 81,3x28 mm; faston
6,3 mm
ol

Fagor 12024577 12041359 P533001000 P6330111000

428928

Heating element 7000W 230V

dim. 560x65 mm; flange 81,3x28 mm; faston
6,3x0,8 mm

e

Fagor 12092855

374168
Boiler heating element 12000W 230VUL

L=550 mm; triangular flange 92,5x89,7 mm;
@ @int. 60 mm; with bulb housing L=180 mm;

) connection M4

Fagor 12024721 2129502000
374133
Tank heating element 2800W 230V
\ dim. 365x102 mm; flange 70x18 mm
Fagor 12024645 2203601000
373992

Heating element cover @ 63x67,5x55,3
mm

Fagor 12024282 2101723000

I)SPRUFESSI[INAL SPARES




Laundry PSPRUFESSIONAL SPARES

Transformers

429827

Transformer 50W 230V 50/60Hz
;fi;;’*" input 100-240V 2.1A; output 12V 4.2A

Fagor 12116823

422665

Transformer 20VA
PRI.:0-230V, SEC.: 0-20V 10VA

Fagor 12024920 P623028000
Cables
374253 583708
R Wiring harness Power supply cable L=4000 mm
A -—-@ eyelet @ 4,2 mm
0y i

Fagor 12025061 P643005000 Fagor 12140712 12148198 GHZz23C01
422878 427712

Wiring harness PTC Wiring harness 10, 13, 18, 25 UL

-

Y

Fagor 12095232 P643005 Fagor 12120261

428567

Wiring harness PTC with heating

\ element

A s

Fagor 12120274



Laundry

373842

Fagor

429016

Fagor

374377

12023814

12095018

Fagor 12032432
582585

Y AERER S
Fagor 12097611
373738
Fagor 12023546

Thermostats

Bi-metal thermostat NTC 50kohm

12276141 P503025000

Bi-metal thermostat 110° 250V 10A
faston 6,3 mm

12096597

Operating thermostat 1P 0+90°C

coated capillary L=3000 mm; bulb & 6x93 mm;
D-shaft @ 6x4,6 mm

12032731 DO1AG11130 DO1DG11130

Safety thermostat 1P 220°C

capillary L=1900 mm, bulb & 6x58 mm, 16A
240V

12126296 DO1DG11135

Gasket @ 11x27x8,5 mm

27953003000

I)s PROFESSIONAL SPARES




Laundry

373802

Fagor

423023

12023701

Fagor

432387

Fagor

374325

Fagor

435409

12000746

12003408

12025254

Fagor

10703

I)s PROFESSIONAL SPARES

Dispensers and Peristaltic pump

Siphon hose @ 12 mm

P440702000

Detergent tray 310x235 mm

12007752 P620712000

Dispenser intake

12038445 13P6207070

Plug 1/2" H=13,60 mm

12121485 P620710000

Solenoid Valves and Reducers

Solenoid valve 180° - 1 way - 220/240V

50/60Hz - @ 10,5 mm

with fastons; inlet @ 3/4" with filter; Tmax

90°C

12025161 Z701135000

P620715000

P620707000

373831

Fagor

12023794

Solenoid valve 180° - 2 way - 200-240V
50/60Hz - @ 10,5 mm

with fastons; inlet @ 3/4" with filter and
reducer 14 It/min; Tmax 90°C

12147323 P255001000



Laundry PSPRUFESSIONAL SPARES

Solenoid Valves and Reducers

200121 583864
Solenoid valve 180° - 3 ways - 200-240V Electro-pneumatic valve 4/2
50/60Hz - @ 10,5 mm dim. 3,5x1,8x51,5 mm
with fastons; inlet @ 3/4" with filter; Tmax
90°C
Fagor 12023921 12115418 12147322 P443018000 Fagor 12157686
76111223000 Z611123000
583865
200118
Solenoid valve, air 230V 50/60Hz 3/2 NC
Outlet pressure reducer 2,5 It/min
[brown-Inv]
Fagor 12028386 QUINCA0161
Fagor 12024083 12097038 P443042000
423164
427335
Solenoid valve, air 7W 230V 50Hz NC
Outlet pressure reducer 8 It/min [red] iavalve, ai z
F 12023376 P683048000
Fagor 12024045 12096626  Z601156000 agor
374124
430011
Coil 14/16W 220/230V50/60Hz
Solenoid brass valve G1" - 4W 230V -
50/60Hz j
o o
Fagor 12024622 2102323000
Fagor 12041072
373740
421947

Solenoid body EV220B 3/4"
Solenoid brass valve EV220B - NC - G3/4"

- 230V 50/60Hz L=90,5 mm
L=90,5 mm
F 12023551 2102
Fagor 12003854 12044532 2102322000 ager 02355 02305000

423727

Solenoid brass valve G3/4" 220V 50Hz -
240V 60Hz

L=72,8 mm; coil 10,1W; P steam 0.3-9bar, P
hot water 0.3-10bar

Fagor 12024331 P535023000



Laundry

I)s PROFESSIONAL SPARES

Ball valves, Pipe fittings

519249
Nipple 1/2"+1/2" - L=27 mm - brass

Fagor 12008907 $§205023000

582314
Pipe fitting 90° 1/2"M

Fagor 12009102
327946
T-connection @ 4-4-4 mm
L=46mm, H=27mm
Fagor 12045240
423480
Formed hose @ 34,5x44 mm EPDM
dim. 825x150x120 mm
Fagor 12024866 P630702000
423144
Formed hose @ 60x68 mm L=480 mm
Fagor 12007763 P634022000

Hoses

459747

Fagor

374246

Fagor

Formed hose 90° @int.72 mm
dim. 400x130 mm

12025026 12152912 P630704000
Formed hose 90° @ 72x80 mm
dim. 390x150 mm

12025017 P630701000



Laundry
Hoses

423115 370723

Formed hose @ 50x59 mm EPDM .

dim. 500x150x235 mm m

[T

Fagor 12023244 P630703000 Fagor 12023666
427755 423723

Formed hose @int. 75 mm

i e )

Fagor 12044165 Fagor 12007821
435233
Hose EPDM @ 5x12 mm L=2300 mm
\ Tmax 110°C
Fagor 11000066 3702400000
612360
Hose EPDM @ 10x17 mm (sold by meter)
Pmax 10 bar; working temp. -35°C+110°C;
non-toxic
Fagor 11000083 367690000 3676900000 S102121000
7631121000
524324
= Rubber feeder hose 3/4" L=1500 mm
i@ straight connection + 90° plastic connection;
ring nut in nickel-plated brass @ 3/4"F; pipe &
_- == 13x19 mm; Pmax 10 bar; Tmax 90°C;
‘f WRC/WRAS/VDE approved
Fagor 12024115 7602121000

423117

Drain pipe @ 50x60 mm
dim. 620x220x140 mm

Fagor 12007747 P634021000

I)s PROFESSIONAL SPARES

Drain pipe PPE @ 19 mm 180°+ @ 22 mm
90° L=2000 mm

muffs 180° & int/ext 19/24 mm, muffs 90°
Jint/ext 22/27 mm, Jext hose 24 mm

2220903000

Drain pipe PPE @ 32 mm F 180°+ @ 32 mm
90° L=480 mm

muffs 180° & int/ext 32/42 mm, muffs 90°
Jint/ext 32/42 mm, Dext hose 29 mm

P610715000



Laundry

585231

Fagor

12022957

427891

Fagor

12129972

422950

Fagor 12009717
373737
Fagor 12023537
374433

’f"_.__\_! \?' ?
>

Fagor

12038179

Drain components

Drain box

Complete manifold box

Complete manifold box

P620723000

Ring nut 1" 1/2
H=15 mm; CH50

Z710708000

Filters

Air filter @ 260x430 mm

DO1SK00016

I)s PROFESSIONAL SPARES




Laundry

374189

v

e

Fagor

426709

Fagor

374052

Fagor

484510

Fagor

429922

12024781

12137690

12024404

12026648

&

n\“’,ru

Fagor
410444

12093146

Drain valves

Electric drain valve N.O. 220/240V 50/60Hz

inlet @ 50 mm; outlet @ 50 mm; overflow pipe
@ 35 mm; mod. MDB-0O-2

P302120000

Electric drain valve N.O. 230V 50/60Hz
g 755mm-J 79,5 mm

Electric drain valve N.O. 230V 50/60Hz
0,20-0,17A

inlet @ 76 mm; outlet @ 80 mm; overflow pipe
@ 35 mm

P532103000

Electric drain valve N.C. 230V 50/60Hz
23rpm; MDB-C-3 SO

ELEVANO0015
Air-gaps

422908
Air-break

Fagor

0O-ring 3,53x24,99 mm NBR

I)s PROFESSIONAL SPARES

Air-break @ 27x31/6xLtot. 125 mm

P445002000



Laundry
374303
Fagor 12025202
373691

Fagor

584952

12023347

Fagor

422832

12030807

Fagor

422829

12023428

Fagor

12024842

Hinges

Shaft @ 6x55 mm

P620514000

Hinge
shaft @ 6x15 mm

P620505000

Manometers, Safety Valves

Manometer @ 62 mm 0 + -1bar
1/4"

K005B50072
Bearings
422823
Bearing @ 60x130x31 mm
P644904000 Fagor 12023360
422831

Bearing @ 55x100x21 mm

P616009000 Fagor 12023411

I)s PROFESSIONAL SPARES

Bearing @ 70x125x31 mm

P666102000

Bearing @ 80x140x26 mm

P644903000



Laundry

422827

Fagor 12023334

432241

o

Fagor 12038332

374443

—

a0

Fagor 12038336

433323

Fagor 12037997

423650

F¥

Fagor 12023205

422896

Fagor 12023238

Bearings

Bearing @ 105x190x36 mm

P666101000

Kit bearing

flange @ 87/103,52x19,70 mm; bearing @
60x110x22 mm; bearing @ 50x90x20 mm

1300000084

Kit bearing

flange @ 96/113,60x29 mmmm; bearing &
60x110x22 mm; bearing @ 70x120x24 mm

1300000085

Bearing with flange @ 35x135x43 mm

1ED40207

Bearing support @ 106x124x29 mm

P646003000

Flange for bearing @ 66/82/98x128,4x21,5
mm

P616005000

I)s PROFESSIONAL SPARES




Laundry I)SPRUFESSIUNAL SPARES

Lockings
582480 423433
‘__\ 4 Door locking mechanism 205V Door handle
/ﬁ dim. 180/220x100x53 mm dim. 99,5x58x24 mm
Fagor 12003922 12038364 12038446 12127838 Fagor 12010370 P620533000
13P6205160 13P6205310 P620516000
423520
429426
Handle 137,5x80 mm
Door locking mechanism 205V
j ~ \. _ dim. 170x78x40 mm
-f.' i
iJ - 373290
Pin for handle
Fagor 12154845 \
428096 438245

Door locking mechanism 205V

J L WEE cable L=780 mm n Radial snap-ring INOX @est 9x0,8 mm

373701
Fagor 12140743 h_j Spring closing
423520
Handle 137,5x80 mm
m Fagor 2010
Fagor 12000752 P640502000
423433
‘ Door handle
373694

Shaft & 10x18 mm - M6

“*

Fagor 12023355 P660537000



Laundry PSPRDFESSIONAL SPARES

582481
Cover 120x50x2 mm
Fagor 12021912 P627816000
373290
Pin for handle
@ 6x29 mm AISI 303
Fagor 12016778 P620511000
582005
Unlocking pin @ 7xLtot. 22,5 mm
Fagor 12025182 P620529000
415256
Knob @ 72 mm
. D-hole @ 6x4,6 mm
Fagor 12024361 12122779 N103033000

374184 373980

. Door glass @ 385x55 mm Door glass @ 305x40,5 mm

Fagor 12024758 P530503000 Fagor 12024250 P440503000




Laundry

423467

Spring @ 85,5x206 mm
wire @ 6,5 mm

Fagor 12023286 P610105000

583855

\

Shock absorber 120N @ 28/187-280 mm

583863

Gas spring @ 20/200-380 mm
Fagor 12156331
374235

Gas spring 140N @ 28/185-295 mm

9\.\? RD10 - hole & 10,2 mm

Shock absorber 90N @& 28/185-280 mm

Fagor 12024980  P630111000
374258
Fagor 12025078  P620126000
583855

Shock absorber 120N @ 28/187-280 mm

\ hole @ 10 mm

Fagor 12025077 12147246 P620115000 SAV W08

I)s PROFESSIONAL SPARES

Springs

374256
Shock absorber 250N @ 28/170-300 mm

%‘ hole @ 10,2 mm

Fagor 12025076 P540201000 P630110000

583856

Shock absorber 250N @ 28/190-280 mm
hole @ 10,2 mm

Fagor 12147247 SAV W25 SAVW250006
0006

485755
Shock absorber @ 28x225 mm

&
‘( . M8

Fagor 12152215

427665
Gas spring @ 45,5xLtot. 330 mm

\ hole @ 10 mm
—

9

Fagor 12023492 12049230 P540207000 P680220000

425551
Shock absorber @ 70xLtot. 345 mm

Fagor 12157708 QUI NCA 0359 QUINCAO0359

583858
Shock absorber @ 40x190/275 mm

\ hole @ 12 mm

Fagor 12147399 QUI NCA 0360 QUINCA0360



Laundry

583859

Fagor 12147406

373701

Fagor 12023383

374389

Fagor 12033583

423106

Fagor 12023226
374233

L]

Fagor 12024968

Tension spring @ 42x116xLtot200 mm

Spring closing

P620510000

Shock absorber [Kit]

SPQ800622P

I)s PROFESSIONAL SPARES

Springs

Transmission components

Shaft @ 32/38xLtot. 162 mm

P660528000

Shaft Ltot.=110 mm M6/M16

P660521000

485751
V-ribbed belt L=1200x14 mm
5 ribs
Fagor 12151682
426366
V-ribbed belt L=1992x3,5x28 mm
12 ribs
Fagor 12046375



Laundry

373679

&

Fagor 12023273

373677

¥

Fagor 12023269

583032

O

Fagor 12007744

426368

0

Fagor 12049376

373458

y

Fagor 12018841

373673

y

Fagor 12023252

Transmission components

V-ribbed belt L=1300x3,7x18,9 mm
8 ribs

P615902000

V-ribbed belt L=1600x18,8x3,5mm
8 ribs

P625903000

V-ribbed belt L=1663x3,5x28,4 mm
12 ribs

P635908000

V-ribbed belt L=1752x3,5x19mm
8 ribs

V-ribbed belt L=1854x3,3x19 mm
8 ribs

P645901000

V-ribbed belt L=1854x3,5x28,4 mm
12 ribs

P645905000

426369

°

Fagor 12041190

426367

9

Fagor 12153177

426365

i

Fagor 12047172

426361

A

Fagor 12098498

319657

3

Fagor 12023249

585757

I)s PROFESSIONAL SPARES

V-ribbed belt L=1895x3,5x19 mm
8 ribs

V-ribbed belt L=2120x30 mm
11 ribs

V-ribbed belt L=1956x3,5x28,3 mm
12 ribs

V-ribbed L=17,5x2710 mm
14 ribs

Drum pulley

P646013000

Pinion @ 40 mm - 12 teeth
dint. 18xh25 mm

Fagor 12147350/MEC

TOUO0016



Laundry I)sPRl]FESSI[lNAL SPARES

Structural components

485767

Air flap cover
dim. 162x312x26 mm

Fagor 12154929 GOR414673

423392

Ice container
dim. 190x470x305 mm

Fagor 12023222 P540702000

459512
Shaft cross @ 600 mm [Kit]

Fagor 12038095 SPQ800428P

428706

4

= ) B Locking In-35
| n dim. 800x765 mm

b - = '/ -
/’g g’-
Fagor 12128087
Doors

373668
Door 515x500x45 mm

Fagor 12023239 P620527000



Laundry
Handles
373687
. Door handle 100x90 mm
Fagor 12023338 P620504000
373290
. Pin for handle
373701
m Spring closing
583861
Door handle
. ASEP 100
#
Fagor 12147485
485841
Fagor adhesive logo for handle 58x18
mm
Fagor 12170953
Printed Circuit Boards
425892 425935

Cable USB L=600 mm 80°C 30V

Fagor 12119961 12133373 Fagor

I)s PROFESSIONAL SPARES

Plug for USB easy touch



Laundry I)SPRUFESSIUNAL SPARES

Printed Circuit Boards

374058 583852
Screw M3x8 mm ; PLC TWD LCAA
> & .
@ e dim. 70x95x90 mm
Fagor 12024424 T133008000 Fagor 12025606
374328 374188

Pcb
dim. 115x140 mm

Spacer L=16 mm

; thread M3
\\

Fagor 12025260 T133007000 Fagor 12024780 P613018000
373693 373383
Pcb Pcb with main switch
dim. 235x140 mm w dim. 50x30 mm; cable L=330 mm
lllllﬂgﬂll
Fagor 12023354 P613019000 Fagor 12017891 P623017000
581857 585234
Pcb =N Pcb

dim. 235x140 mm < dim. 135x135 mm

Fagor 12024197 P613025000 Fagor 12026496 12147280 ELEELE0089

428181 433363

Microprocessor pcbh _ Display pcb
dim. 37x68 mm; easy touch . dim. 100x150 mm

Fagor 12131303 Fagor 12038147 12147287 ELEELE0109

374066 426781

Pcb Display TP 4,3" (PowerTip)
dim. 234x140 mm

Fagor 12024457 P613005000 Fagor 12119488 12155387



Laundry

485771

Fagor

428756

12157588

™

Fagor

432404

Fagor

374128

12043487

12002437

o

Fagor

581858

&

Fagor

453392

Fagor

12024634

12023112

12023293

Printed Circuit Boards

Display TP 7" (PowerTip)

PLC programmed 3kW (Ir-25)

Programmed 2200W PLC
LA-18

13P633015000

Relay pcb
dim. 75x35 mm

SAVW080104 Z218030000

Pcb support
dim. 120x44x14 mm

P640325000

Cable L=675 mm

P623026000

429681
Fagor 12120815
485836

Fagor 12119403
374218
Fagor 12024921

I)s PROFESSIONAL SPARES

Pcb
dim. 155x324 mm

12168823

Pcb TP2 (full)
dim. 325x155 mm

12168824

Pcb LED

P623023000



Laundry
424781
@
>~
Fagor 12031344
374250

——_-—-_-'-
e m—— e ® ]

Fagor 12025036
374357

[ —
H
Fagor 12029487
429116

Fagor

582004

Fagor

373895

Fagor

12132001

12120341

12024049

Probes

Temperature probe L=175 mm
bulb @ 4x10 mm; flange 17x10 mm

DO1DH12314

Temperature probe NTC 64kOhm
bulb @ 6x14 mm; -40 + +110; cable L=300 mm

Z713028000

Temperature probe
bulb @ 6x64 mm; cable L=2000 mm

12147283 ELEELE0098

Vibration sensor
faston 4,8x0,5 mm

Cable PTC with rectifier bridge

Gasket @ 23x35x7,5 mm

N503017000

I)s PROFESSIONAL SPARES




Laundry I)SPRUFESSIUNAL SPARES

Inverter and motor controls

584011 428833

Inverter ABB 3P 370W 200/240V 6.1A Inverter VFDO15E21A

input: 1ph 200/240V 50/60Hz 15.7A - output:
3ph 0/240V 7.5A 2.9kVA 1.5kW

R
L
Fagor 12026726 12127829 DO1DC00001 Fagor 12134031
584467 428831
= Inverter ABB 3P 1100W 200/240V Inverter VFDO15E21A
b input: 1ph 200/240V 50/60Hz 15.7A - output:
= ] 3ph 0/240V 7.5A 2.9kVA 1.5kW
Fagor 12026130 12026131 DO1DC00003 DO1DC00063 Fagor 12134029
373689 428835
Inverter G110 1 phase 200/240V 47/63Hz Inverter VFD022E21A
19,7A input: 1ph 200/240V 50/60Hz 24A - output:

output 3 phases 0-230V 0-550Hz 7,8A; 1,5kW
200/240; dim. 120x160x140 mm

3ph 0/240V 11A 4.2kVA 2.2kW

Fagor 12023343 12040601 P623002000 Fagor 12134047
317834
Inverter G110 1 phase 200/240V 47/63Hz
27,2A
output 3 phases 0-230V 0-650Hz 11A; 2,2kW
200/240V
Fagor 12038442 13P6330050
426567
Inverter 200-240V
dim. 180x182x140 mm
Fagor 12004179 12045945 13P633005000
0
428889

Inverter DELTA 3P 2200 240V 11A [KIT]

Fagor 12103846 12126784



Laundry
Membranes

373464

Membrane keypads 640x160 mm
Fagor 12018961 P610319000
425356

Membrane keypads 175x160 mm
Fagor 12041953
425353

Membrane keypads 160x175 mm
Fagor 12041954

Photocells

583853

Speed sensor M12x50 mm
"“————m cable L=2000 mm
e
Fagor 12028090 12147195

O-rings

373031 373037

0O-ring 1,78x5,28 mm EPDM
Fagor 12009912 Q307036000 Fagor

12009926

I)SPRUFESSI[INAL SPARES

O-ring 3,00x128 mm

Q307077000



Laundry I)sPRl]FESSI[lNAL SPARES

O-rings

484372

0O-ring 3,00x152 mm
Fagor 12010168 Q307083000
435067

0O-ring 5,34x56,52 mm NBR
Fagor 12010040 12118319 12154789 Q307044000
423629

V-ring VA75 @ 67x79x11 mm NBR
Fagor 12025220 P666110000

Flat gaskets
423624
: Flat gasket @ 102x160x4,3 mm

Fagor 12025098 P616013000
374280

O Flat gasket @ 114x160x4,3 mm

Fagor 12025148 P636005000



Laundry

373675

O

Fagor

374065

12023260

O

Fagor

373680

12007767

O

Fagor

427853

12023284

O

Fagor

373717

12048069

O

Fagor

423102

12023475

O

Fagor

12023436

I)s PROFESSIONAL SPARES

Gasket for laundry

373678
Gasket Tank gasket
P636108000 Fagor 12023272 P616104000
583862
Door glass gasket @ 247x305 mm Gasket
12024455 P440502000 P610508000 Fagor 12147521
484664
Door glass gasket @ 395 mm Gasket
P620528000 Fagor 12033545 SPQ510207P

Door glass gasket @ 590 mm

Door glass gasket @ext. 590x33,5 mm

P660535000

Door gasket @ 760 mm
LA-120

12216855 P680554000



Laundry I)SPRUFESSIUNAL SPARES

Laundry parts
374396
Ironing band 105x410 mm Self-adhesive elastomere strip 50mm
(sold by meter)
Fagor 12034908 12147375 QUINCAO0086 Fagor 12034623 12147377 12147908 12156202
QUI NCA 0088 QUINCA0088
374356

317321

Ironing band 200x1660 mm )
Steel wool band width=100 mm [8 Kg]

Fagor 1022201026 12029446 12147376 QUINCAO0087
Fagor 12027757 12149876 GR10003000

374363 374426

Covering in Nomex 490x1650 mm
veringt X X Lifting teflon blade

dim. 82x30x0,3 mm

~&
\\‘x.‘
F 1202 INCA047
agor 029996 QUINCA0475 Fagor 12032120 12038098 12116280 12147439
TOLDEL1425
374362

Cotton clothing 495x2020x3 mm

Fagor 12029956 12147414 12150171 QUINCAO0476

601713

Fastening tape (sold by meter)

Fagor 12156329 QUI NCA 0536
331471
Polyester/Meta-Aramid guide tape
o 13mmx10mt
S Tmax 230°C

S

Fagor 12037177 12037305 DO1KA00422 QUINCAO0091



Laundry PSPRDFESSIONAL SPARES

373932
Foot M10x40 mm
@ 30xh10 mm
Fagor 12024163 12111542 DO1BC03036 Z200107000

430131
Smooth plate 965x885x30 mm

Fagor 12131525




PAWOH;
HRERHIGERAYIONY,

ELECTRICAL

PARTS

WATER MECHANICAL
PARTS PARTS

ELECTRONIC

PARTS GASKETS




Refrigeration
Switches, Push Buttons, Selectors
484848
Orange double-pole backlit switch 11x30
mm; 0-1
16(8)A 250V - Tmax 125°C - faston 6,3x0,8
mm
Fagor 12037353 6021130002

415728

Orange double-pole backlit switch 22x30
mm

16(4)A 250V Tmax 120°C - faston 6,35x0,8
mm - with splash cover

Fagor 12037293 6021130001
Lamps and Lamp Holders
433831
Fluorescent lamp 8W 220-240W 50/60Hz
S— T5/T4
=
My~ dim. 344x23x42.5 mm; cable L = 1800 mm;

with supports

Fagor 12033320 12058986 2040600024 6021290052

Microswitches

432108 373899

1NO - 1NC; 5A; 250V; Grey

Fagor 12036888 6021130041 Fagor 12024066 27203010000

374077

Magnetic microswitch A061 1V NO
250Vac 0,04A
bulb @ 6x29 mm - cable L=240 mm

Fagor 12024477 6021130029 SAVW250030 Z203009000

I)s PROFESSIONAL SPARES

Microswitch Magnet switch support
dim. 34,5x19,5x8,5 mm



Refrigeration

582178

Axial fan @ 180 mm 5/29W 220/240V
50/60Hz
1300/1550rpm; cable L=1500 mm

Fagor 12033165 6021050001
319904
Axial fan @ 300 mm 75/90W 230V 50/60Hz
; 1350/1550 rpm; C=2,5uF/425V
O . RO9R-30SPB-4M-3509
Fagor 12026785 12037991 6021050019
584034

Axial fan 5/29W 220-240V 50/60Hz with
support

dim. 450x512 mm; 1300/1550rpm; cable
L=1500 mm

Fagor 12031979 M171010070

430559

Pentavalent motor 10/36W 220-240V
50/60Hz

1300/1500 rpm; cable L=600 mm; fan & 254
mm, 22°

A

Fagor 12033477 6021050002

531364

Compact fan 120x120x38 mm - 20W 230V
50/60Hz

no cable; faston connection 2,8x0,5 mm; 2550
rpm; ball bearing

12023862
Z103066000

Fagor 12031028 12033472 6021050008

I)s PROFESSIONAL SPARES

Fans

430953

Pentavalent motor 5/29W 220-240V
50/60Hz 0,2A
fan @ 200 mm; cable L=2500 mm

Fagor 12034545 6021050066

424777

=

Evaporator complete with fan 412x405x125
mm



Refrigeration
Heating Elements
584032 484783
Heating cable 16W 230V L=3800 mm
faston F6,3 mm
Fagor 12036190 6021250071 Fagor 12036191
431642
Heating cable 16,5W 220V L=3420 mm
faston F6,3 mm
Fagor 12036313 6021250005
583233
Heating cable 80W 230V 50Hz L=3000 mm
- faston F6,3 mm
Fagor 12038150 6021250073
433133
Heating element 650W 230V
dim. 660x115 mm; cables L=1500 mm
Fagor 12037967 6021250022
433792

Heating element evaporation 350W 220V
dim. 140x350x50 mm; cable L=150 mm

Fagor 12045816 6021250091

485049

Height element R41 1050W 220V
dim. 510x420 mm; cable L=1500 mm

12047326

Fagor 6021250081

I)sPRUFESSI[lNAL SPARES

Heating cable 14W 220V L=3800 mm
faston F6,3 mm

6021250010



Refrigeration I)SPRUFESSIUNAL SPARES

Hoses
584025
Drain pipe PPE @ 24 mm 180° L=1000 mm
— muffs Jint/ext 20x26,5 mm, pipe Jext 24 mm
T
Fagor 12037263 6003010417
373920

Drain pipe PPE @ 27 mm F 90°+ @ 24 mm
libero L=2100 mm

muffs 90° @ int/ext 31/39 mm, connection Jint.
24 mm, Jext hose 30 mm

L

Fagor 12024114 12067267 6007170373 2400908000

Drain components

485014 433832
Drops tray 440x303x45 mm ‘ Drain plate 1/2" H=72 mm [Kit]
| overflow pipe hole @ 16 mm
Fagor 12046294 6003050039 Fagor 12037617 12061086 2061700017 6003010033
485220 433320
. Drain plate 1/2" H=29,60 mm Plug @ 20,5xh 23,5 mm
= “ﬁ‘ P g
: —
Fagor 12061084 2061700015 Fagor 12037989 6003010262
583350
‘ Drain plate 3/4" H=93 mm [Kit]

overflow pipe hole @ 20,5 mm

1<
o

Fagor 12037489 6003010326



Refrigeration I) s PROFESSIONAL SPARES

459836

Curtain 23x80 mm
@8 mm

Fagor 12037805

342383
Spray nozzle M10
Fagor 12037253 BR00D20002
582027 318759

<>

Hinge with spring 22x22xh100 mm Hinge [KIT]
with shaft dim. 7,6x7,6xh4,5 mm; screw “
M6x10 mm \“ '-

Fagor 12038130 6033010100 Fagor 12038100 V169090001

582025 484850

Shaft @ 10x30 mm M6 l

Fagor 12038076 6033090064 Fagor 12037372 6033090090

Hinge 47x22 mm

582026 433565
Bushing @int. 10/ext. 16 mm L=54,5 mm Upper left support hinge

5 dim. 100x48x17 mm

Fagor 12037723 6003010136 Fagor 12036828 12041474 2030800147 6033010141




Refrigeration

433542

Fagor

433859

12041472

Fagor

431922

Fagor

459489

Fagor

432601

P
_;_' w g Q.(’.-' "
= .

12036829

T

12036776

12036986

Fagor

374406

Fagor

12037017

12037423

Hinges
582024
Upper right support hinge
dim. 100x48x17 mm
6033010140 Fagor 12036692
433035

Right upper hinge support
dim. 100x48x17 mm

12101046 2030800148 6033010111

Left upper hinge support
dim. 100x48x17 mm; shaft @ 6x2,5 mm

12038085 6033010098 A133010000

Lower hinge support
dim. 100x48x6 mm

6033010129

Soporte bisagra infer. dcha.
dim. 100x48x17 mm

6033010130

Hinge 30x36xh51

6003010028

Fagor 12037138

I)s PROFESSIONAL SPARES

Upper support left hinge M6

12102926 6033010112  A133010002

Threaded pin M6x10 mm Ltot.=31 mm
pin @ 10x21 mm

12037312 6033090068 6033090104



Refrigeration
Springs

375269
Torsion spring @ 15x80xLtot. 128 mm

\ wire @ 2,6 mm

Fagor 12036264
Slide Ways - Shelf Supports

433047

Guide
\ dim. 562xx26x15,5 mm
Fagor 12037936 6033050015
374400

Guide GN 1/1

dim: 550x24.5x15,5 mm

/

Fagor 12036758 6033050011

324292
Guide left/right

\ dim. 662x25,5x15,5mm

Fagor 12037948 6033050016

433836
Steel guide. 550 (set)

Fagor 12031241 12068304 6033050006 6033050031

I)SPRUFESSI[INAL SPARES




I) s PROFESSIONAL SPARES

Structural components

Refrigeration
433044
Support for snack grid
Fagor 12037728 6003010377
320432

Sump for evaporator
525x450x98 mm

Fagor 12033558 6003050037

582179

Cover
dim. 410x510 mm

Fagor 12033760 6003050001

433429

Fan cover 413x407x80 mm

Fagor 12040457 M109250148

433833
Cover 270x475x380 mm

Fagor 12067447 6013050141

484808
S Evaporator tray 250x125x70 mm

Fagor 12036623 6003010023

485317

Cover 724x37x11 mm
Fagor 12068680 A107170049
485316

Cover 740x37x11 mm
Fagor 12068677 A107170046
485478

Drawer mfp-b 2/3l/g fagor ver.02

Fagor 12085266 M169120195

485477

Drawer 2/3 mfp fagor vers.02

Fagor 12085265 M169120194

429615

Evaporator cover
dim. 420x420x42 mm

Fagor 12132532



Refrigeration I) s PROFESSIONAL SPARES

532441
Door 445x215x20 mm
Fagor 12038019 BR00C10297

374102
Handle lvs.
Fagor 12024557 2400542000

485301

Door handle L=168 mm
PX770

\

Fagor 12068289 6033010135

428372

Pcb EVCO
dim. 165x110 mm

Fagor 12096287

435228 585448
Probe NTC, L=3000 mm, black, bulb @ Core probe 90°

6x15 mm
TPE coated cable - IP67; working range -40 +

e ————— bulb @ 4,3xLtot. 202 mm; cable L=5770
B = +110°C

Fagor 12045530 12061673 2090500010 6021350113 Fagor 12029718




Refrigeration

I)s PROFESSIONAL SPARES

Probes

322388

Curved core probe 90° PT1000

probe L=165 mm - bulb @ 4x100 mm; cable
L=6000 mm

Fagor 12025982

584024

Probe protection L=175 mm
dim. 175x32 mm

Fagor 12073795 M109050033

Thermoregulators

485103

Thermoregulator PYC01LO51G 230V
50/60Hz

3 output relé 8A; 2 inputs probe NTC (probe
not included); 1 input DI; mounting hole 71x29
mm

Fagor 12049777 12067648 6021350117

433810

Thermoregulator PYCO1SN50P 230V
50/60Hz

1 output relé 12A; 2 inputs probe NTC (probe
not included); 1 input DI; mounting hole 71x29
mm

Fagor 12047691 6021350018 6021350115

582683
Thermoregulator PMFE120033

3 output relé 12A/8A/8A; 2 inputs probe; 2
m input DI; mounting hole 29x138,5 mm

Fagor 12043611 6021350109

433468
Thermoregulator PMFE120055 115-230V

4 outputs relé 12A/10A/8A/8A; 2 inputs probe;
m 2 input DI; mounting hole 29x138,5 mm

Fagor 12040693 6021350110

433788
Thermoregulator PMFE1Z0037

4 output relé 12A/10A/8A/8A; 2 input probe
m NTC; 2 inputs DI; mounting hole 29x138,5 mm

Fagor 12045173 6021350120
433787

Thermoregulator PMFE120058

3 uscite relé 12A/10A/8A; 2 input probe; 2
inputs DI; mounting hole 29x138,5 mm

Fagor 12045172 6021350119



Refrigeration
Thermoregulators

438116

Thermoregulator ID961 Plus -50/+99°C

input: 2 NTC or PTC probe; 1 changeover relay
output 2Hp/12(8)A 250V; dim. 74x32x67 mm;
mounting hole 71x29 mm

Fagor 12031127 6001507002 6021350006 6021350015

Membranes

584248
Membrane keypads 670x160 mm

Fagor 12040070 6023010491
424763

Membrane keypads 130x140 mm
cable L=110 mm

4

Fagor 12029943 6023010490

Dehydrator filters

519790

Dehydrator filter GR.40 2 ways @ 24x160

mm
@ IN 6,2 mm - OUT 6,2 mm

Fagor 12036970 12048655 2061600001 6047010003
Evaporator
432801 431223
Fan guard grid @ 192 mm

A\

e

Fagor 12037026 6003010035 Fagor 12034663

I)s PROFESSIONAL SPARES

Grille fan @ 223 mm

6027130004



Refrigeration

321879

|

|

Fagor

582176

Fagor

433604

12043533

12031771

Fagor

433840

Fagor

485034

12041888

12068586

Fagor

485009

12047041

Fagor

12045174

Evaporator 65x330x150 mm [KIT]

M171010069

Evaporator 130x385x90 mm

6029010015

Evaporator 90x305x130 mm

6029010151

Evaporator cover gasket 430x335 mm

6045010172

Evaporator 300x110x145 mm

6029010145

Evaporatore 330x180x95 mm

6029010165

I)s PROFESSIONAL SPARES

Evaporator

429147
Evaporator 440/500x255x75 mm

Fagor 12048309

484615
Evaporator 337/485x130x90 mm

Fagor 12031900 6029010140
433844
Ud.ev.refrig. adv. 2c + sonda
ADV. 2C
Fagor 12083695 A171010137
423505
s, Ud.ev.refrig. adv. 1c + sonda
‘“’ ADV. 1C
| E ﬂ
Fagor 12029581 A171010122
424777

Evaporator complete with fan
412x405x125 mm

Fagor 12028343 12030989 6029010143 M171010108

433786

Evaporator complete with fan
410x405x120 mm

Fagor 12045079 A171010106



Refrigeration I)sPRl]FESSI[lNAL SPARES

Evaporator
433785
Evaporator 410x565x120 mm
Fagor 12042017 12044960 6029010148 6029010149
Condensators

484598

Condenser. 10x4 roof

Fagor 12031310 6029020005

424773

Condenser with fan 10/38W 230V 50/60Hz
dim. 255xh240 mm

Fagor 12030739 6029020052
Compressors
700932
Compressor NEK6210Z - R134A
Q 220/240V, 50Hz
'@-"o‘:
T,
Fagor 12046686 12046754 6021010154
Magnetic gaskets
322252 485308
Magnetic gasket 636x1457 mm Magnetic gasket 692x785 mm

Fagor 12038148 6045010131 Fagor 12068573 6045010156



Refrigeration I)sPRl]FESSI[lNAL SPARES

Magnetic gaskets

459406 431596

Magnetic gasket 444x700 mm Magnetic gasket 380x582 mm

grey snap-in gasket grey snap-in gasket

¢

il

Fagor 12031951 Fagor 12035974 6045010006

459407 459783

Magnetic gasket 690x1140 mm Magnetic gasket 445x566 mm
grey snap-in gasket - BF161

v

il

Fagor 12131625 Fagor 12035412 6045010115

484784 433358
Magnetic gasket 140x373 mm Magnetic gasket 620x678 mm

v
v

Fagor 12036227 6045010151 Fagor 12038144 6045010132

431607 430858
Magnetic gasket 250x375 mm Magnetic gasket 622x1505 mm

t
¢

Fagor 12036161 6045010122 Fagor 12034419 6045010030

431877 430907
Magnetic gasket 262x378 mm Magnetic gasket 565x1422 mm

)

v
1

Fagor 12036435 6045010012 Fagor 12034433 6045010161

582821 459782
Magnetic gasket 370x565 mm Magnetic gasket 453x584 mm

¢

Fagor 12038156 6045010119 Fagor 12035834 6045010009



Refrigeration I) s PROFESSIONAL SPARES

584749

Magnetic gasket 355x371 mm
Fagor 12036158 6045010152
484885

Drain plate flat gasket 3/4"

@ 25,7x38,6 mm
Fagor 12037891 6003010327
485318

Magnet for gasket 800x12,6x3 mm
Fagor 12068718 A107170094

441284 431336

Grilled shelf in grey rilsan GN 1/1 Central grid 405x525 mm
dim. 325x530 mm

Fagor 12035781 6027010003 Fagor 12034847 6027010078

431440 584531

Grilled shelf in grey rilsan 460x405 mm Grilled shelf in grey rilsan GN 2/1
dim. 650x530 mm

Fagor 12034975 6027010079 Fagor 12037958 6027010009




Refrigeration PSPRDFESSIONAL SPARES
430565

Grid cabinet snack 542x560 mm

Fagor 12034317 6027010087

585082
Grilled shelf in grey rilsan dim. 400x600
mm

Fagor 12034886 6027010005

372905
Adjustable INOX foot @ 64 mm -
H=130+200 mm
flange 82x82x2 mm; centre distance 65x65
mm

Fagor 12009104 12033566 6007050017 X260151000

All mentioned trademarks and pictures are used for
identification purposes only and are property of their respective owners.



	Home
	Fagor Cooking
	Gas Parts
	Igniters
	Plugs
	Ignition Cables
	Pilot Burners
	Nozzles
	Thermocouples
	Gas Taps
	Gas Valves and Accessories
	Gas Pipes
	Gas Burners

	Electrical Parts
	Switches, Push Buttons, Selectors
	Lamps and Lamp Holders
	Contactors and Relays
	Microswitches
	Terminal Boards
	Pressure Switches
	Timers
	Fans
	Electric Hot Plates
	Motors
	Heating Elements
	Commutators, Energy Regulators
	Transformers
	Cables
	Thermostats

	Water Parts
	Mixers and Accessories
	Solenoid Valves and Reducers
	Drain Taps
	Ball valves, Pipe fittings
	Hoses
	Drain components
	Filters
	Level Gauges

	Mechanical Parts
	Hinges
	Manometers, Safety Valves
	Bearings
	Handwheels
	Lockings
	Knobs
	Boilers
	Safety groups
	Springs
	Transmission components
	Structural components
	Doors
	Handles

	Electronic Parts
	Printed Circuit Boards
	Probes
	Inverter and motor controls

	Gaskets
	Gaskets for heated units
	O-rings
	Flat gaskets
	Miscellaneous

	Consumables
	Miscellaneous

	Accessories
	Grids and Shelves
	Feet
	Cooking plates
	Cooking Baskets


	Fagor Ovens
	Gas Parts
	Plugs
	Ignition Cables
	Pilot Burners
	Nozzles
	Thermocouples
	Gas Valves and Accessories
	Gas Pipes
	Gas Burners
	Flame Control Devices
	Heat exchangers

	Electrical Parts
	Switches, Push Buttons, Selectors
	Lamps and Lamp Holders
	Contactors and Relays
	Microswitches
	Terminal Boards
	Pressure Switches
	Timers
	Fans
	Fuses, Capacitors, RFI Filters
	Motors
	Pumps
	Heating Elements
	Commutators, Energy Regulators
	Transformers
	Cables
	Thermostats
	Magnetron & Induction

	Water Parts
	Shower units and Water columns
	Solenoid Valves and Reducers
	Ball valves, Pipe fittings
	Hoses
	Drain components
	Filters
	Wash units
	Drain valves

	Mechanical Parts
	Hinges
	Lockings
	Knobs
	Glasses
	Boilers
	Springs
	Structural components
	Doors
	Handles

	Electronic Parts
	Printed Circuit Boards
	Probes
	Thermoregulators
	Inverter and motor controls
	Potentiometers
	Membranes

	Gaskets
	Gaskets for heated units
	O-rings
	Adhesive Gasket
	Flat gaskets
	Miscellaneous

	Accessories
	Feet


	Fagor Dishwashing Undercounter
	Electrical Parts
	Switches, Push Buttons, Selectors
	Lamps and Lamp Holders
	Contactors and Relays
	Microswitches
	Terminal Boards
	Pressure Switches
	Timers
	Fuses, Capacitors, RFI Filters
	Pumps
	Heating Elements
	Commutators, Energy Regulators
	Cables
	Thermostats

	Water Parts
	Shower units and Water columns
	Dispensers and Peristaltic pump
	Solenoid Valves and Reducers
	Ball valves, Pipe fittings
	Hoses
	Water conditioning
	Drain components
	Filters
	Wash units
	Air-gaps

	Mechanical Parts
	Hinges
	Thermometers
	Shaft sealing
	Lockings
	Knobs
	Boilers
	Springs
	Doors
	Handles

	Electronic Parts
	Printed Circuit Boards
	Probes
	Membranes

	Gaskets
	O-rings
	Adhesive Gasket
	Flat gaskets
	Gaskets for dishwashers

	Accessories
	Feet
	Dishwashing Baskets


	Fagor Dishwashing Hood Type
	Electrical Parts
	Switches, Push Buttons, Selectors
	Lamps and Lamp Holders
	Contactors and Relays
	Microswitches
	Terminal Boards
	Pressure Switches
	Timers
	Fans
	Fuses, Capacitors, RFI Filters
	Pumps
	Heating Elements
	Commutators, Energy Regulators
	Thermostats

	Water Parts
	Shower units and Water columns
	Dispensers and Peristaltic pump
	Solenoid Valves and Reducers
	Ball valves, Pipe fittings
	Hoses
	Drain components
	Filters
	Wash units
	Air-gaps

	Mechanical Parts
	Thermometers
	Bearings
	Shaft sealing
	Lockings
	Knobs
	Boilers
	Springs
	Structural components
	Handles

	Electronic Parts
	Printed Circuit Boards
	Probes
	Membranes

	Refrigeration Parts
	Evaporator

	Gaskets
	O-rings
	Flat gaskets
	Gaskets for dishwashers

	Accessories
	Filters
	Feet
	Dishwashing Baskets
	Baskets Holder


	Fagor Dishwashing Rack Type
	Electrical Parts
	Switches, Push Buttons, Selectors
	Lamps and Lamp Holders
	Contactors and Relays
	Microswitches
	Terminal Boards
	Pressure Switches
	Fans
	Fuses, Capacitors, RFI Filters
	Motors
	Pumps
	Heating Elements
	Commutators, Energy Regulators
	Thermostats

	Water Parts
	Shower units and Water columns
	Solenoid Valves and Reducers
	Ball valves, Pipe fittings
	Hoses
	Drain components
	Filters
	Curtains
	Wash units
	Air-gaps

	Mechanical Parts
	Hinges
	Thermometers
	Manometers, Safety Valves
	Bearings
	Lockings
	Knobs
	Boilers
	Springs
	Slide Ways - Shelf Supports
	Transmission components
	Finger Links

	Electronic Parts
	Thermoregulators
	Inverter and motor controls

	Gaskets
	O-rings
	Flat gaskets

	Accessories
	Filters
	Feet
	Dishwashing Baskets


	Fagor Laundry
	Electrical Parts
	Switches, Push Buttons, Selectors
	Contactors and Relays
	Microswitches
	Terminal Boards
	Pressure Switches
	Fans
	Motors
	Heating Elements
	Transformers
	Cables
	Thermostats

	Water Parts
	Dispensers and Peristaltic pump
	Solenoid Valves and Reducers
	Ball valves, Pipe fittings
	Hoses
	Drain components
	Filters
	Drain valves
	Air-gaps

	Mechanical Parts
	Hinges
	Manometers, Safety Valves
	Bearings
	Lockings
	Knobs
	Glasses
	Springs
	Transmission components
	Structural components
	Doors
	Handles

	Electronic Parts
	Printed Circuit Boards
	Probes
	Inverter and motor controls
	Membranes
	Photocells

	Gaskets
	O-rings
	Flat gaskets
	Gasket for laundry

	Consumables
	Laundry parts

	Accessories
	Feet
	Cooking plates


	Fagor Refrigeration
	Electrical Parts
	Switches, Push Buttons, Selectors
	Lamps and Lamp Holders
	Microswitches
	Fans
	Heating Elements

	Water Parts
	Hoses
	Drain components
	Curtains
	Wash units

	Mechanical Parts
	Hinges
	Springs
	Slide Ways - Shelf Supports
	Structural components
	Doors
	Handles

	Electronic Parts
	Printed Circuit Boards
	Probes
	Thermoregulators
	Membranes

	Refrigeration Parts
	Dehydrator filters
	Evaporator
	Condensators
	Compressors

	Gaskets
	Magnetic gaskets
	Flat gaskets
	Miscellaneous

	Accessories
	Grids and Shelves
	Feet






